
'!!?::r ,...,. .., , 

1997 ROARl • OAD NATIONALS 
-2Wd Modlflec:J.-Natfonal ehampton, 
4Wd ModlfleG.rNational Champion, TQ 
Modified Truck National Champion, T0~.7 

1997 NORRCA OFF-ROAD NATIONALS 
2wd Modified National Champion. TO 

'--:..-J:J~a Mod pion, T·oo;:.:;_ 
~liUTl pion, ... '~'~.-;...or,: 

...,-+"-"""!''"' 

97-98 __,. __ ,_ 

.... .. 



-
,... ,.,.. 

.. # 

-
,., .,. 

- .... 

c..611g IJIIIQ fat 
"-'Betli\ Ait Real 
AuaiC4 CeiiiiiC .W 
'Bw~tu .w &aiA 

CeiiiiiC lllbPtftiu. 

.... .. , _,. ..., '# 

TWdllj Celb 
Au~Aaeb '"TbUWl/W 

Au n. n. un... 01 n. ac c. Aeliel ...... 

Oel:·=== 

--, , . ....- ..... ;"" 

Cf&!et.T~~A• fat_ 
lllau Twt; -

.,..., ,. 

' 



ARMATURES 
02 Epoxy Balanced Armatures ................................ ................ 08 
Custom Wound Armatures ..................................... .. .............. 08 
Speed Gems Replacement Armatures ...................... .. ............. 08 
03 Epoxy Balanced Armatures ................................................ 09 

BATIERIES 
RC·1700 Battery Packs, VIS EX-TRA, Matched, Assembled ...... 12 
RC-2000 Battery Packs, VIS EX-TRA, Matched, Assembled ...... 13 
1400-1500 Sport Packs, Spec, Thunder Sport Amp Max ......... 14 
Receiver/Transmitter Packs .. .... ............................... ................ 14 
Battery Assembly Items, Bars, Plugs, Shrink ............................ 15 
Battery Hook Up Wire ............................................••............... 16 

CAR ACCESSORIES 
Antennas ................................................................................ 16 
Ball Bearing Sets ..................................................................... 16 
Body Accessories, Clips, Wing Mounts, Body Mounts ............. 16 
Bumpers ................................................................................. 1 7 
Differential Parts ................................................. .................... 1 7 

CAR KITS 
Switch Blade 1 0 On-Road ...... .. .................................. ............. 26 
Switch Blade 1 Oss Super Speedway .................... .. .................. 29 
Switch Blade 12sj ................................................... ................ 32 
Street Spec 10 ........................................................................ 35 

CAR PARTS 
Switch Blade 10 Replacement Parts ........................................ 27 
Switch Blade 1 0 Exploded View ...................... ..... ................... 28 
Switch Blade 1 Oss Replacement Parts ............. ...... .................. 30 
Switch Blade 1 Oss Exploded View .................. ...... ................... 31 
Switch Blade 12sj Replacement Parts ....................... ............... 3 3 
Switch Blade 12sj Exploded View ...................... ...... ................ 34 
Street Spec 1 0 Replacement Parts ....................... .. .................. 36 
Street Spec 10 Exploded View ................................................ 37 
Complete Numerical Car Parts Listing .................................... 38 
Switch Blade Hop Up Parts ..................................................... 41 

GEARS 
Zero Gravity Pinions ................................. .............................. 1 7 
Kinwald Hard One Pinions ........................... ........................... 18 
Zero Friction Spur Gears .... .............................. ....................... 18 

HAULER BAGS 
Transmitter Bags ..................................................................... 25 
Hauler Bags ..................................................... ....................... 25 
Cargo Bags ............................................................................. 25 

LATHES 
Tru·lathe Stock .... ................................................ .................. 18 
Tru-Lathe Modified ....................... .... ...................................... 18 
Replacement Diamond Tool Bits ............................ ................. 18 

LUBRICANTS 
Formula 96 ..................................................................... ........ 19 
Buggy Blast Motor Spray ........................................................ 19 
Royal Oil ................................................................................ 19 

MOTORS 
ROAR Legal Stock Motors ....................................................... 04 
Street Spec NORRCA Pro Stock Motors ................................... 04 
Speed Gems2 Machine Wound Modifieds ............................. 05 
02 Epoxy Balanced Modifieds ................................................ 06 
03 Epoxy Balanced Modifieds ................................................ 07 
Samarium Cobalt High Performance Motors ....... ................... 06 

MOTOR ACCESSORIES 
Motor Brush Springs ...... ............................ ............. ............... 09 
Motor Brush Chart ........... ......................... ... ......... ................. 1 0 
Replacement Motor Parts, D2, 0 3 ............. ............................. 11 
Motor Capacitors ................................................................... 11 

OFF· ROAD ACCESSORIES 
Off-road Tire Balancer ............................................................ 20 
Team Kinwald XX-4 Aluminum Parts ...................................... 20 
Team Kinwald XX-CR-XXT-CR Aluminum Parts ....................... 21 
Team Kinwald GTX Aluminum Parts .......... .... ......... ....... ......... 21 
Team Kinwald B3-T3 Aluminum Parts ....... ... ........... ................ 21 

POINT BLANK 
Stock Motors .................. .................................................. ...... 41 
Modified Motors ........................................... ......................... 41 
Battery Packs .......................................................................... 41 

SCREWS 
Purple Hard Anodized Aluminum Screw Kits ........................... 22 
Purple Hard Anodized Screws And Nuts ....... .......................... 22 
Blue Hard Anodized Aluminum Screw Ki ts .... ................... ...... . 23 
Blue Hard Anod ized Screws And Nuts ..................................... 23 
Set Screws ......................... ........................... ................. ......... 23 

SERVO TAPE 
Super Stick Servo Tape ..... ...................................................... 23 

SHIRTS 
Official Team Trinity Shirts ...................................................... 25 
Official Team Trinity/Losi Off-Road Shirts .... ............................ 25 

SILICONE SHOCK OIL 
10 to 100 Weight Shock Oil Plus Half Weights ...... .................. 22 

TIRE TRACTION 
Buggy Grip2 ....................... .................................................... 23 
Z.ip Grip ................................................................................. 23 
Tire Tweak .......... ............ ................................ ........................ 23 

TOOLS 
Comm Pen .......... ........... ........................................................ 24 
Reamers ................................................................................. 24 
Ball End Wrenches ............ ............................ ... ........... ........ .... 24 
Pro Brush Slotter .............. .... .................................................. 24 
Pro Allen Wrenches ................................................................ 24 

TOURING CAR ACCESSORIES 
HPI RS4/RS4 Pro Aluminum Parts ....................... ..................... 19 
Team Losi Street Weapon Aluminum Parts .............................. 19 
Tamiya TA-03 Aluminum Parts ................................................ 20 

• Denotes Item Not In Last Years Catalog 
+ Denotes Price Increase 
. Denotes Price Decrease 

3 



4 

D 

The Midnight 2 was designed from the ground up using the 
direct response from you the racer, (especially from our 
web page, thanks 9uysl). The result, a stock with more 
torque than the onginal Midnight, but with rpm's 
closer to the X-Star. 

The Midnight 2 is completely new using only the 
1 1 

,.. r • 1 1 r , commutator, motor shaft and endbell screws from 
t!r:.t~ I'!M-:/' l~tr/? u~d previous models. The new 1 .. 4mm LCG Flat Motor 

;r · Can"" moves the magnetiC f1eld produced by the 6.0v 
wet pressed magnets c:loser to the armature for more torque. The "Z" Speed '" armature blank has been engineered to 
make the motor react like it has more then 24 degree's of timing. All new endbell tooling provides inspection and 
cooling vents to circulate more air through the endbell and around the commutator. The solder tabs have 
been made bigger for easier soldering, but still will allow the use of "no solder leads". A new brush 
stabilizing system is built into the brush hood itself. This keeps the brushes from bouncing but unlike 
other systems this one pushes the brush down onto the heatsink for beller heat transfer away from the 
brushes and commutator. 

The Midnight 2 is available 2 ways. The standard veO'lion and the Midnight 2 Pro. The Pro features our 
new Silver "E" brushes and comes dyno tuned and tweaked in a motor tube with dyno readings. 

Paru N~Jmt Price Tun\) \\1nd Timing Magneu 

ROAR/ NORRCA LEGAL STOCK MOTORS 
RC2295 Midnight 2r"' • $39.99 27 s 24 6.0V 
RC2296 Midnight 2 Pror" • $39.99 27 s 24 6.0V 
RC2098 X-Star"" $39.99 27 s 24 5.4v 
RC2100 X-Star Reverser"' S39.99 27 s 24 s :4v 
RC2096 Midnight Reverse $39.99 27 s 24 5.2v 

STREET SPEC/ NORRCA PRO STOCK MOTORS 
RC2097 
SS2228 

Monster Stock )r3 
Street Spec Stock 

S39.99 
$29.95 

27 
21 

s 
s 

30 
12 

5.3v 
5.0v 

When choosing a stock motor you need to 
determine if you need one with high torque, 
(small tight tracks, sticky buggy tracks, racing 
trucks) or one with high rpm, (super speedway, 
big high speed tracks, dirt oval). 

Putting some thought behind your choice will 
make your car/ buggy faster and will make your 
motor last longer. The wrong motor choice can 
result in overheating and lack of overall 
performance. 

For the most torque and brute power always go 
with the Midnight 2. For more rpm and top 
speed the choice is the X-Star. Both motors are 
high performance state of the art models they 
just are designed with different characteristics 
for different types of RIC car racing. If you 
wanted the highest rpm stock motor and do 
not need a ROAR legal one than go with the 
Monster Stock )r 3. 

For Street Spec class racing the only legal stock 
motor is the Street Spec Stock. Street Spec rules 
require the use of Street Spec motor brushes, 
(SS2229) only and these can not be cut or 
modified in any way. The supplied springs must 
be used but they may be bent to your liking. Of 
course commutators may not be cut! The 
Street Spec stock makes for a great club motor 
as its low 12' timing keeps it cool running and 
running for a long time. 

C.n Bruoh Spr•ng Use Fr.., RPM 06 Volts 

1.4 4475 4387 
1.4 4499 4387 
1 .3 4080 4387 
1.3 4080 4387 
1.3 4080 4387 

1.3 4475 4387 
1.2 4495 4531 

Buggies/Trucks/Touring 
Buggies/Trucks/Touring 

Oval/On-Road 
LSD Oval/ USA 1 /Clod 
LSD Oval/USA 1 / Clod 

All Stock Racing/Oval 
Street Spec Racing 

Q.OE> CUT~AN6 NOTb.E>OOI( 
breaking in stock motors 

24,800 
24,800 
25,000 
25,000 
24,300 

27,900 
20,800 

The fi rst step to b reaking in a stock motor is the 
bushings. Remove the springs & brushes from the 
motor and place a few drops of Trinity RC4049 Bushing 
Buster on the shalt and bushings a t each end of the 
motor. Run the motor with a drill, Dremel tool or 
coupled to another motor, at low speed for approxi­
mately 5 minutes. This will wear the bushings in and 
allow the shaft to align itself between the bushings. 
Now spray the motor out thoroughly with Trinity 
RC44443 Buggy Blast to remove the Bushing Buster 
and the bushing residue. Next apply 2 drops of Trinity 
RC4026 Bushing o il to each end of the shaft on the 
bushings. 

Now insta ll Trinity RC4499 Mid night "E" brush (for 
laydown) o r RC4383 (lor standup) and apply severa l 
drops o f Team Kinwald TK2001 Formula 96 drops 
directly to the brushes and the commutator. Now re­
install your springs, RC4387 Black Tech laydowns are 
recommended. 

Now all that is needed is to run the motor at 2-3 volts, 
preferably with a cooling fan, for about 3-5 minutes. 
Next install the capacitors and you're ready to go!! 



r.:2 Modifieds 

RIC's most popular line of machine wound low 
cost modified motors has been updated for 
the 1998 racing season. To improve the 
overall performance a new 1. 3mm motor can 
and endbell have been used incorporating the 
latest 5.4v wet pressed magnets. This 
combination makes for a higher torque more 
efficient motor that will produce more power 
and be easier on your battery pack. 

Motor winds will stay the same as your old 
favorites, but wire gauges have been 
increased whereever it was possible. The 
Speed Gems 2 motors have also received new 

cosmetics with updated sticker and packaging art. The Speed Gems 2 motors are an excellent choice for the casual racer, 
the racer on a budget or for just tearing up the neighborhood street track. 

p.,,l. Name Prlc• Tums 'Mnd iming Magnets Can B<u>h Spring Use Free RPM ~ Yoii.S 

9210 Topaz'"' • $49.99 1 1 T Adj 5.4v 1 . 3 4495 
9211 RubyTM • $49.99 16 T Adj 5.4v 1.3 4495 
9212 Sapphirer"' • $49.99 1 7 s Adj 5.4v 1 . 3 4495 
9213 Diamond '"' • $49.99 12 D Adj 5.4v 1 . 3 4495 
9214 Onyxr"' • S49.99 14 D Adj 5.4v 1 .3 4495 
9216 Jade"' • S49.99 15 Qd Adj 5.4v 1 . 3 4495 
9217 Quartz"" • S49.99 19 D Adj 5.4v 1.3 4495 
9218 OpaiTM • S49.99 10 T Adj 5.4v 1.3 4495 
9219 Platinum"" • S49.99 13 T Adj 5.4v 1.3 4495 

Designed for touring car racing the GT-1 and GT-2 motors delivery high end perfor­
mance and quality at a low cost that makes them affordable for all racers no mauer what 
their racing budget. Using the latest EPIC magnet, can and magnet technology the GT-1 
and GT-2 modifieds perform betler than a lot of the other brands of high dollar hand 
wound custom built modifieds which employ technology 1 to 2 generations behind. 

With our new GT and Speed Gems 2 series Trinity has produced machine wound motors that 
exceed the performance levels of all other brands of modified motors and performance 
exceeded only by our own D2 and D3 modifieds. 

4387 
4387 
4387 
4387 
4387 
4387 
4387 
4387 
4387 

N•me Ptice Tums 'Mnd liming M>gnt!ts Con Bru>h Spring 

CT-1 BALL BEARINC MODIFIEDS 
GTl-409 
GT1-410 
GT1-312 
GT1-214 

9 Turn Quad 
10 Turn Quad 
12 Turn Triple 
14 Turn Double 

• S49.99 
• $49.99 
• S49.99 
• S49.99 

CT-2 BUSHINC MODIFIEDS 
GT2-411 
GT2-413 
GT2-41 5 
GT2-317 

11 Tu rn Quad 
13 Turn Quad 
15 Turn Quad 
17 Turn Triple 

• $32.00 
• $32.00 
• $32.00 
• $32.00 

9 
10 
12 
14 

11 
13 
15 
1 7 

Q 
Q 
T 
D 

Q 
Q 
Q 
T 

Adj 
Adj 
Adj 
Adj 

15 
15 
15 
15 

5.4v 
5.4v 
5.4v 
5.4v 

5.4v 
5.4v 
5.4v 
5.4v 

1.3 
1.3 
1.3 
1.3 

1.3 
1.3 
1.3 
1.3 

4495 
4495 
4495 
4495 

4495 
4495 
4495 
4495 

4387 
4387 
4387 
4387 

4387 
4387 
4387 
4387 

4wd/Touring Oval 36,700 
2wd Off-Road 25,600 

Trucks 24,100 
1/1 Oth Oval 33,700 

2wd Off-Road 29,100 
2wd Off-Road/Trucks 27,000 

F1 / Enduros/Siippery Tracks 21,500 
4wd/Touring/Oval 39,700 

2wd Off-Road/Touring 31,400 

Free RPM 06 VoiU 

4wd Sticky Tight Tracks 
4wd Sticky Tight Tracks 

4wd Big Tracks 
4wd Slippery Tracks/2wd 

4wd Sticky Tight Tracks 
4wd Big Tracks 

4wd/2wd w/Sport Packs 
4wd/2wd w/Sport Packs 

39,900 
36,800 
33,800 
29,100 

36,500 
31,500 
28,000 
24,900 

5 



6 

The Dirtinator 2, (D2'M) series of modified motors are one of the 
Trinity/Epic leading edge designs which have dominated the R/ C 
racing scene for the past 2 years. The D2 modifieds feature 5.4v 
wet pressed magnets which boast a high resistance to magnetic 
field loss due to heat and the discharging effects produced by the 
armature. This means your magnetic field won't disappear after just 
a few runs. 

The armature blank features a thicker web shape for more efficiency and more horsepower. The D2 motor can 
and endbell are designed to maximize the airflow around the armature and commutator without compromising 
the magnetic field of the motor can. All our D2 armature winds have been designed to maximize the perfor­
mance of the D2's 5.4v magnet and can combination. 

D2 modifieds are designed to be used for all types of racing, but we have built all our motors with brush and 
spring combinations that work best for off-road racing. Performance can sometimes be enhanced for certain types 
of racing by using the brush and spring combinations listed below, but this is almost never necessary. 

Part.# Name Ptlce Turn~ Wind Timing Magnets Can Brush Spring Use 

D2106 D2'M Single 6 $95.00 6 s Adj 5.4v 1.3 4380 4492 Drag/Speed Runs 
D2107 D2TM Single 7 $95.00 7 s Adj 5.4v 1.3 4380 4492 Drag/Speed Runs 
D2508 D2'M Quint 8 $95.00 8 Qt Adj 5.4v 1.3 4380 4492 4wd High BiteTrack 
D2409 D2'M Quad 9 $95.00 9 Qd Adj 5.4\t 1.3 4380 4033 2wd High Bite Track 
D2410 D2TM Quad 10 $95.00 10 Qd Adj 5.4v 1.3 4380 4033 4wd Most Tracks 
D2310 D2' M Triple 1 0 $95.00 10 T Adj 5.4v 1.3 4380 4033 1 /1Oth On-Road 
D2511 D2'M Quint 11 $95.00 11 Qt Adj 5.4v 1.3 4380 4033 1 /1Oth On-Road/Oval 
D2311 D2'M Triple 11 $95.00 11 T Adj 5 .4v 1.3 4380 4033 2wd Most Tracks 
D2211 D2'M Double 11 $95.00 11 D Adj 5.4v 1.3 4380 4033 2wd Most Tracks 
D2412 D2'M Quad 12 $95.00 12 Qd Adj 5.4v 1.3 4380 4033 High Speed Tracks 
D2312 D2' M Triple 12 $95.00 12 T Adj 5.4v 1.3 4380 4033 4wd loose Tracks 
D2212 D2' M Double 12 $95.00 12 D Adj 5.4v 1.3 4380 4033 4wd loose Tracks 
D2313 D2' M Triple 1 3 $95.00 13 T Adj 5.4v 1.3 4380 4033 1/ 1 Oth Carpet Oval 
D2213 D2 1M Double 1 3 $95.00 13 D Adj 5.4v 1.3 4380 4033 2wd loose Tracks 
D2414 D2'M Quad 14 $95.00 14 Qd Adj 5.4v 1.3 4380 4033 All Purpose Off-Road 

Free RPM @6 Volts 

55,200 
48,000 
41,700 
37,300 
33,700 
33,500 
30,700 
30,700 
30,700 
28,300 
28,300 
28,300 
26,300 
26,500 
24,400 

D2214 D2' M Double 14 $95.00 14 D Adj 5.4v 1.3 4380 4033 2wd No Traction Track 24,300 
D2315 · D2 1M Triple 15 $95.00 15 T Adj 5.4v 1.3 4380 4033 1 /12th 8 Minutes 22.700 
D2416 D2' M Quad 16 $95.00 16 Qd Adj 5.4v 1.3 4380 4033 Touring Cars 21,300 
D2217 D2 'M Double 17 $95.00 17 D Adj 5.4v 1 .3 4380 4033 1/12th/Touring 20,100 

02 XX-4/ STREET WEAPON 4WD MOTORS 
These motors pictured at the top of the page feature our wide coverage heatsinks for better brush and commutator cooling. The winds are 
those thai we have found work the best in the Street Weapon, XX-4 and most other touring cars. When running either of these or any other 
4wd car we recommend the use of a heatsink like those we make for the XX-4 and other cars (TK11 00 fits all touring cars, or TK3028 Monster 
Heatsink, XX-4 /Street Weapon only). 
D4X21 0 10 Turn Double • $95.00 
D4X211 11 Turn Double • $95.00 
D4X212 12 Turn Double • $95.00 
D4X313 13 Turn Triple • $95.00 

10 
11 
12 
13 

D 
D 
D 
D 

Adj 
Adj 
Adj 
Adj 

5.4v 
5.4v 
5.4v 
5.4v 

1.3 
1.3 
1.3 
1.3 

4380 
4380 
4380 
4380 

SAMARIUM COBALT HICH PERFORMANCE RACINC MOTORS 

4389 
4389 
4389 
4389 

Sticky Tight Tracks 
Sticky Tight Tracks 

Medium Tracks 
Big Tracks 

33,500 
30,200 
28,200 
26,300 

This is the fastest R/C motor you can buy for car, plane o r boat. This micro sized .05 motor although smaller in diameter than a standard 
motor uses the exact same armatures. This is possible due to the use of a thick machine billet steel motor can and super strong Samarium 
Cobalt magnets. These magnets are so strong they can be made much thinner than a standard magnet, while still having more strength. 
These motors are excellent in drag cars and boats especially when running more than 6 cells. 
RC1005 Cobalt 8 $275.00 8 S Adj 2.3 1.6 4383 4492 
RC1006 Cobalt 9 $275.00 9 S Adj 2.3 1.6 4383 4492 
RC1008 Cobalt 10 $275.00 10 S Adj 2.3 1.6 4383 4492 
RC1009 Cobalt 11 $275.00 11 S Adj 2.3 1.6 4383 4492 
RC1010 Cobalt 12 $275.00 12 D Adj 2.3 1.6 4383 4492 
RC1 011 Cobalt 13 $275.00 13 D Adj 2.3 1.6 4383 4492 

Drag Racing 
Drag Racing 
Drag Racing 
Drags/ Boats 
Boats/ Planes 
Boats Planes 

59.500 
53,050 
47,300 
42,200 
37,600 
33,700 



New for all you modified class racers in 1998 will be the all new D3 from 
Trinity. This modified motor features lots of new technology developed 
over the past year as our race and R&D team racked up an impressive 
winning record. Team Trinity used its D2 modified motors to win and 
TQ all 6 ROAR & NORRCA Off-road titles and the 3 ROAR On-road titles, 
a record not soon to be broken. Now with the release or the D3 the 
envelope of modified motor performance will once again be 
re-established by Trinity. 

• All new end bell tooling wilh an inspection hole for che<king commutator. Improved cooling around command brushes. 
• New bigger heat.sinks. New bigger tabs to 10lder your ltad wires to that wm also still accept no solder le1ds. 
' Hoods ha~ a brulh stAbiltzer systl!m that pusn.s the brulh down on top ol the heat.sink lor better cooling whole elominating brulh chattor. 
• Endbetl has been redesign<!d to hold ball bearing on tighter. No more loose bearings when you take your motor aport. 
• Nrw t.•mm can with magnetic r.etd coM«t1ng dfpfessions betYII'tef'l the rNgnets to move the fttkt dos.tf 10 the arJNture. Thts .ccom 

plosn.s the wme thing as our ll.lt can Midnight 2 whole stoP allowing for a round can so timing can be adJusted. 
• New 6.0Y Wft Pressed Magnets feature a new maten.1 with a h'ghtf resistance to demagnetizing from the armature. This means your 

magnets will not become we.ak as you run your motet. 
• Improved airflow due to redesign of the cooling venu on the b.lck of the motor can. 
• New "XXX Sk>Ued .. armature provides same tOt'que a.s 02 but w;th more rpms. 
• Gold plating on motor can 

Pan• Priu Tum} Wh'KI llming Magn~u C.n 8rush Spring Use Frea RPM ~ Volt> 

D3106 
D3107 
D3208 
D3209 
D3S10 
D3310 
D3210 
D3611 
D3311 
D3211 
D3612 
D3312 
D3212 
D31 12 
D3313 
D3213 
D3113 
D3414 
D3214 
D331S 
D3416 
D3317 

D3 '"' Single 6 
D3"' Single 7 
D3'"' Double 8 
D3 rM Double 9 
D3r"' Quint 10 
D3'"' Triple 10 
D3'"' Double 10 
D3"" Hex (6) 11 
D3"' Triple 11 
D31"' Double 11 
D3'"' Hex (6) 12 
D3'"' Triple 12 
D3'"' Double 12 
D31M Single 12 
D3 '"' Triple 13 
D3 1"' Double 13 
D3'" Single 13 
D3'" Quad 14 
D3'" Double 14 
D3T" Triple 1 S 
D3'" Quad 16 
D3'"' Triple 17 

• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• S9S.OO 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
• $95.00 
•S9S.OO 

6 
7 
8 
9 
10 
10 
10 
1 1 
1 1 
12 
12 
12 
12 
12 
13 
13 
13 
14 
14 
IS 
16 
17 

S Adj 
5 Adj 
D Adj 
D Adj 
Qt Adj 
T Adj 
D Adj 
H Adj 
T Adj 
D Adj 
H Adj 
T Adj 
D Adj 
S Adj 
T Adj 
D Adj 
S Adj 

Qd Adj 
D Adj 
T Adj 

Qd Adj 
T Adj 

6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 
6.0v 

1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1 .4 4 380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4380 4033 
1.4 4 380 4033 
1.4 4380 4033 

NbAL tv1CCUQDY 6 NOTb.e,ooK:. choosing a modified motor 

Drag/Speed Runs 
Drag/Speed Runs 

4wd High Bite Track 
2wd High Bite Track 

4wd Most Tracks 
1/1 Oth On-Road 

1/1 Oth On-Road/Oval 
2wd Most Tracks 
2wd Most Tracks 

High Speed Tracks 
4wd Loose Tracks 
4wd Loose Tracks 

1 /1Oth Carpet Oval 
2wd Loose Tracks 

All Purpose Off-Road 
2wd No Traction Track 

1 /12th 8 Minutes 
Touring Cars 

1 /12th/Touring 
Drag/ Speed Runs 
Drag/ Speed Runs 

4wd High Bite Track 

58,600 
54,200 
49,800 
46,200 
43,000 
42,800 
42,600 
39,700 
39,600 
39,400 
36,800 
36,700 
36,500 
36,300 
34,100 
33,900 
33,800 
31,800 
31,600 
29,300 
27,100 
25,200 

1. Use some C()rM!Ott sense. Don'rrry ro pi<k IM hotttsr mow (ftwtsrrurns) thor )'OU con fltld thinking It wiH bolht fo>tnt. It probably win nor bt ond lr willno<losr vwy 
long. If y<NJ ore moving up from running nock motM tty s<>tmthing ;n our SpeedCems line. These ort mid ltvtl modified molon rhat ore eosy to cote lor ond wiN givt 
relfob!e incrtosed performance~ Many people try to ust roct moton lor everyday spon and ploy use. The-st motor art inteodtd for racing competition and wit/ not lost vt>ty 
loftg without proper moimenance. 

2. Choost o motor thor is appropriate for the oppllcotlon Ft wl/1 Mused for. Dott't tty to use o 6 tum motor Fn on olfrood cor oro momter truck. If you ore uruure about what 
you think )'OU need osk or )'OUr kxol hobby shop()( rrock. 

3. Don't overgeor your motor! If yov ore now using o srock type motor, going too modified will most likely require kYwer gearing. By tower we mean fewer t~th on the pinion 
goor. (tho gear thot Is on the motor). Overgeoring con lead to problems such as poor petformonc;e, overhNJtlng, poor tuntimtt and early motor failure. 

Some moror otlecti<>n suggestions. 
Off.Rood Buggies 6 C£11 

T tuGI:s 6 cell 
On· Rood Ill 0 6 cell 

1/10 4 cell 
1/ 11 6 cell 
1/ 12 4 cd 

Tourong CDn 2wd 6 eel 
2wd 6c<ll 
4wd 6cel 
4wd 6 cell 

"''"mow sei«IJOt!s ort only suggesllons. Aauol trod; setup end dtivlng conditions moy olfecr t~ gutdel.nts. 

4 min. 
., m/(1. 
.f trWn. 
.f mn. 
8 min. 
8 trin. 
.. min. 
s min. 
4 min. 
s min. 

r4 to 12 tum 
IS to I Jtvm 
IJrollrum 
11ro IOtum 
19ro lltum 
16ro IS turn 
1J ro II turn 
IHo 11rum 
1110 9rum 
1J 10 10 tum 

-=-=-~--~-- .__r------- ------- - - ------------1 

7 



8 

These epoxy balanced armatures are based on the Dirtinator D2 armature blank. This armature blank was designed to 
work best and produce more power and efficiency when used in all types of modified motor setups manufactured before 
the all new D3. The shape of the armature web where the wire wraps is thicker. This extra material at this point increases 
the magnetic field the armature produces which causes it to make more power. When looking for a replacement armature 
for your D2 modified motor just order the "DZ" part number that matches your motor part number. For example the 
replacement armature for a D2 11 turn quint motor, D2511, is part number DZ511 . When choosing a replacement 
armature for older series Dirtinator, Kinwald or motors made by other manufacturers like Peak, Reedy, Maxtec, GM and 
LRP etc. choose an armature with one less wind to obtain the same performance. For example when looking to replace an 
older style 10 turn quad choose DZ409 a D2 9 turn quad. 

Remember when replacing your armature you always want to use new brushes and springs. Always be sure to completely 
break in your motor brushes using your motor on the track. 

~rtlf Description 'Mn<f Price 

DZ106 D2"" Single 6 Turn 14.5 $50.00 DZ212 D2"" Double 12 Turn 19.5-19.5 
DZ107 D2TM Single 7 Turn 15 $50.00 DZ513 D2'" Quint 1 3 Tum 24-24-24-24-25 
DZ508 D2'"' Quint 8 Turn 22-22-22-22.5-23 $50.00 DZ313 D2'" Triple 13 Turn 21-22-22.5 
DZ208 D2,... Double 8 Turn 18-18 $50.00 DZ213 D2•" Double 13 Turn 19.5-20.5 
DZ409 D2'"' Quad 9 Turn 21 -22-22-22 $50.00 DZ113 D2 '" Single 13 Turn 17 
DZ309 D2'M Triple 9 Turn 20-20-21 $50.00 DZ414 D2'" Quad 14 Turn 23-23-24-24 
DZ510 D2TM Quint 10 Turn 22-23-23-23-24 $50.00 DZ314 D21" Triple 14 Turn 22-22-22 
DZ410 D2TM Quad 10 Turn 22-22-22-22.5 $50.00 DZ214 D21" Double 14 Turn 20-20.5 
DZ310 D2TM Triple 10 Turn 20-21-21 $50.00 DZ315 D2 '" Triple 15 Turn 22-22-23 
DZ210 D2'"' Double 10 Turn 18.5-19.5 $50.00 DZ215 D21" Double 15 Turn 20-21 
DZ611 D2""' Six Wire 11 Turn 24-24-24-25-25-25 $50.00 DZ416 D21" Quad 16 Turn 24-24-24-25 
DZ511 D2"' Quint 11 Turn 23-23-23.5-24-24 $50.00 DZ316 D2TM Triple 16 Turn 22-23-23 
DZ41 1 D2' .. Quad 1 1 Turn 22-22-23-23 $50.00 DZ317 D2' M Triple 1 7 Turn 22.5-23-23 
DZ311 D2' .. Triple 11 Turn 20.5-21-22 $50.00 DZ217 D2TM Double 1 7 Turn 21-2 1 
DZ211 D2'"' Double 1 1 Turn 19-19.5 $50.00 DZ218 D2'" Double 1 8 Turn 21-22.5 
DZ512 D2"' Quint 12 Turn 23-24-24-24-24.5 $50.00 DZ220 D2 '" Double 20 Turn 21 -22.5 
DZ412 D2TM Quad 12 Turn 23-23-23-23.5 $50.00 DZ222 D2' M Double 22 Turn 22·22 
DZ312 D2"' Triple 12 Turn 21-21 -22.5 $50.00 

$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 
$50.00 

CUSTOM WOUND ARMATURES SPEED CEMS2 REPLACEMENT ARMATURES 
If your favorite motor wind is not listed in our D2 range above or in a 
D3 model on the next page, look no further. We can custom wind 
any armature to your exact specifications. All our custom wound 
armatures will be available on either our D2 "Wide Web Blank" (high 
torque, high efficiency) or our new D3 XXX "Slotted Blank", (same 
torque, more rpm). 

All custom wound armatures take 7 to 1 0 days to process. When 
ordering you must use the part number followed by the number of 
turns, number of wires, wire gauge and armature blank. For example 
a 10 turn double wound with 22 and 24 gauge wire on a D3 blank 
should be ordered as: 
RC5233 1 OT, Double, 22-24, D3 $60.00 

Any of the D2-D3 armatures on these 2 pages including custom 
wound ones are available with a tied commutator for Drag racing or 
high rpm (8 cell plus) operation. Add a "T" to the end of the part 
number and add $7.50 to the retail price. Trinity offers no warranty 
on tied commutator armatures do to their usage. 

9221 
9222 
9223 
9226 
9227 
9228 
9229 
9230 
9231 

Ruby Replacement, (1 6 Triple) 
Sapphire Replacement, (17 Single) 
Diamond Replacement ( 12 Double) 
Jade Replacement, (15 Quad) 
Quartz Replacement, (19 Double) 
Opal Replacement, (1 0 Triple) 
Onyx Replacement, (14 Double) 
Platinum Replacement (1 3 Triple) 
Topaz Replacement (1 1 Triple) 

•$19.99 
•$19.99 
•$19.99 
•$19.99 
• $19.99 
• $19.99 
• $19.99 
• $19.99 
• $19.99 

The Speed Gems2 replacement armatures will fit in any Speed Gems 
or Speed Gems2 motor setups or any other other type of modified 
motor setup. Lower turns will give you more torque when geared 
with a small pinion but at a shorter run time, while more turns will 
make a smoother more efficient motor that will have a lot of top 
speed when geared w ith a big pinion. Higher turn motors are also 
easier on batteries and give longer run times. 



Nmatures/MfJffJt Springs 

The 03 XXX modified armatures fit existing modified motors and can be used for any type of 
racing. Which wind you choose depends on the track, your driving skills, battery packs, and how 
well your car handles. Always remember when choosing an armature that the lower the number 
of turns, the more rpm's the armature will produce, but at a higher drain on the batteries. A 
motor wound with a single (s) strand of wire produces more power but drains the battery pack 
quicker than a triple or quad will. 

The XXX Slotred onnotuf!' wo> 
designed to exploit the 
inoeosed magnetic fil!ld of the 
DJ's ntW 6.0vWf'f tnOgMU 
ond -~con d<>lgn. ThiJ 
combinolion of XXX ormorurr 
ond OJ s~rup mokts lor o mot~ 
elflcieflt motor withcwt 
socrirlcing top end. TM 03 
produces the sornt torq~ os 
tM old<T 0 2 moten /Nr with 
on in<mM of moblt rpm. TM 
powtr bond hos al>o I>Hn 
widt lled to moke rht OJ mofe 
drivable ove( o wide voriery of 
lrock ond cor cortditlons. 

When looking for a replacement armature for your new 03 modified motor, just order the "XXX" part 
number that matches your motor part number. For example the replacement armature for a 03 11 
turn triple motor 03311 is part number XXX311 . 

Remember when replacing your armature you always want to use new brushes and springs. Always 
be sure to completely break in your motor brushes before using your motor on the track 

P•tt• De<criptlon Wind Price. 

XXX/06 D3"' Single 6 Tum 14.5 • SSO.OO XXX312 D3" ' Triple 12 Turn 
XXXI07 D3'"' Single 7 Turn IS • SSO.OO XXX212 D3'"' Double 12 Turn 
XXX508 031 "' Quint 8 Turn 22-22-22-22.5-23 • $50.00 XXX112 03'"' Single 12 Turn 
XXX208 D3'"' Double 8 Tum 18-18 • SSO.OO XXX613 03 "'Hex 1 3 Tum 
XXX108 03"" Single 8 Turn 15 • $50.00 XXX513 031" Quint 13 Turn 
XXX209 D3'"' Double 9 Tum 18- 18.5 • SSO.OO XXX413 03"" Quad 13 Turn 
XXXI09 03'"' Single 9 Turn 15.5 • S50.00 XXX313 D 3 "' Triple I 3 Turn 
XXX409 03'"' Quad 9 Tum 21-22-22-22 • $50.00 XXX213 D 3 "' Double I 3 Turn 
XXX309 031"' Triple 9 Turn 20-20-21 • $50.00 XXXI 13 D3'" Single 13 Turn 
XXXS/0 D3"' QuintS Turn 23-23-23·23-24 •150.00 XXX414 D3"'Quod 14 Turn 
XXX410 03" ' Quad 10 Tum 22-22-22-22.5 • $50.00 XXX314 031" Triple 14 Turn 
XXX3 10 D3' .. Triple 10 Turn 20-21 -21 • SSO.OO XXX214 D3 '"'Double 14 Turn 
XXX210 D3'"' Double 10 Turn 18.5· 19 • !50.00 XXX114 03'"' Single 14 Turn 
XXX611 D3'"' Hex I I Tum 24-24-24-25-25-25 • $50.00 XXX31S D3 rM Triple I 5 Turn 
XXX511 03T" Quint 11 Turn 23-23-23.5-24-24 •S50.00 XXX215 03"' Double 15 Turn 
XXX411 03"" Quad 11 Tum 22-22-23-23 •SSO.OO XXX416 D3 ,.. Quod 16 Tum 
XXX311 D31"' Triple II Tum 20.5-2 1·22 • $50.00 XXX316 03"' Triple 16 Turn 
XXX211 D 3 ,., Double II Turn I 9-19.5 • SSO.OO XXX317 D3 rM Triple 17 Tum 
XXX61Z D3 rM Hex 12 Turn 24-24-25-25-25-25 • $50.00 XXX217 03"' Double 17 Turn 

21 -21 -22.5 •SSO.OO 
19.5-19.5 •SSO.OO 

16.5 • $50.00 
25-25-25-25-24-24 • $50.00 

24-24-24-24-25 • $50.00 
23·23-23-24 • $50.00 
21-22-22.5 •SSO.OO 
19.5-20.5 •SSO.OO 

17 •!50.00 
23-23-24-24 •SSO.OO 
22-22-22.5 •$50.00 

20·20.5 •SSO.OO 
17 • $50.00 

22·22·23 •!50.00 
20·12 • $50.00 

24-24-24-24 •SSO.OO 
22·23·23 • S50.00 

22.5-23-23 • $50.00 
21-21 • S50.00 

XXXS12 03"' Quint 12 Turn 23-24-24-24-24.5 • S50.00 Armatures In /roflc are the same armat.ures used In Ol modified motors wllh the 

XXX412 03"" Quad 12 Tum 23·23-23-23.5 •$50.00 corresponding last l p.1rt numbc!n. XXXl17 is used In the 03 modified motor with 
part numt>tr 03.317. 

MOTOR SPRINGS <LISTED LIGHTEST TO HEAVIEST> 

RC4534 
RC4535 
RC4032S 
RC4032 
RC4028S 
RC4028 
RC4387 
RC4388 
RC4389S 
RC4389 
RC4033S 
RC4033 

Typo 

Teardown Stock Spring, 1 pr 
Teardown Stock Spring, 6pr 
Light Tension, 1 pr 
Light Tension, 6pr 
Medium Tension, 1 pr 
Medium Tension, 6pr 
Black Tech taydown, 1 pr 
Black Tech taydown, 6pr 
Medium Heavy, 1 pr 
Medium Heavy, 6pr 
Heavy Tension, 1 pr 
Heavy Tension, 6pr 

Lite Gold 
Lite Gold 
Chrome 
Chrome 

Gold 
Gold 
Black 
Black 

Copper 
Copper 
Silver 
Silver 

6 
6 
7 
7 
9 
9 
9 
9 
11 
11 
13 
13 

4·6 Cell1 / 12th Scale 
4-6 Cell1 / 12th Scale 

6 Cell ! / 12th, 1/ 10 Oval 
6 Cell ! / 12th, Ill 0 Oval 
All Oval 1/1 0 On-Road 
All Oval1 110 On-Road 
taydown Stock Motors 
taydown Stock Motors 

1/ 1 Oth On/ Off-Road 
1!1 Oth On/ Off-Road 
1 11 Oth On/Off-Road 
1/1 Oth On/ Off-Road 

Price 

$1 .50 
$8.50 
Sl.SO 
$8.50 
Sl.SO 
S8.50 
Sl.SO 
$8.50 
Sl.SO 
$8.50 
Sl.SO 
S8.50 

9 



Part# Name 

Sliver compound Brushes 
RC4070 Serrated Laydown Silver 
RC4075 Timed Silver Serrated 
RC4077 Full Silver Serrated 
RC4383 Serrated Silver 
RC4383NT Serrated Silver 
RC4444 Original 4444 Silver 
RC4499 "E" Midnight 2 Pro Silver 

copper compound Brushes 
RC4080 Serrated Laydown Hard 
RC4080NT Serrated Laydown Hard 
RC4085 Timed Serrated laydown 
RC4087 Full Serrated Laydown 
RC4380 Serrated Hard 
RC4 380NT Serrated Hard 
SS2229 Street Spec 
RC4475 Stock Japan Laydown 
RC4495 Stock Japan 

Price 

$3.50 
$5.00 
$3.50 
$3.50 
$2.99 

• $3.99 
• $3.50 

$3.50 
$2.99 
$3.50 
$3.50 
$3.50 
$2.99 
$2.99 
$0.99 
$0.99 

Serrated face brushes 
have l fn~s molded Into 
the: face: \vhkh allow 
them to break in 
qukker. They come In 
normal <1 nd laydown 
styles. 

•l• Slot brushes haw a 
s.lot runni1'9 rrom top to 
boltom. This slo t helps 
the bcvsh center itself on 
the commutator, and 
deans the commutator 
while running. 

4070, 4077, 4383 
4080, 4087 

COMPOUNDS: 

4070, 4080 

Compound 

Silver/Hard 
Silver Hard 
Silver/ Hard 
Silver/Hard 
Silver/ Hard 
Silver/Hard 

High Silver/Hard 

Copper/Hard 
Copper/Hard 
Copper/Hard 
Copper/Hard 
Copper/Hard 
Copper/Hard 

Copper/Medium 
Copper/Medium 
Copper/Medium 

Type 

Laydown 
Laydown 
Laydown 
Normal 
Normal 

Laydown 
laydown 

Laydown 
Laydown 
Laydown 
laydown 
Normal 
Normal 

Dual 
Laydown 
Laydown 

Most stO<.k motors that 
have not had 1..1\ei, 
brushes changed come 
with a smooth face on the 
brushes. Tilis race t011kes 
longer to fully bre"k in. 
4475, 4495 

Silver offers the highest performance, but requires that the commutator be cut more often. 
Copper gives excellent performance but is easier on the commutator. 

Face 

Serrated 
Serrated 
Serrated 
Serrated 
Serrated 
Smooth 
Serrated 

Serrated 
Serrated 
Serrated 
Serrated 
Serrated 
Serrated 
Smooth 
Smooth 
Smooth 

Cut Terminal Use 

"L" Slot Y JttO.h Stlc o,t 

Timed Y ln 2th5tkOv.al/LowTwn«<MocOI', 

None Y St<X-\: OI~Ro.xUOJ1 Your Own Face 

None Y u to.tlMod,rtH!OvaiJ()n..Road 

None 
None 
None 

N 1/ 1 0.12 Modified Ov.ti/(Jw).Road 

Y High Ptdolnwi\Ct> St~ Ovolt/ 1/ 12111 

Y Stotk 01'1·~ Rbdng 

"L" Slot Y 
"L" Slot N 
Timed N 
None 
None 

y 

Long \Vt¥ I/ lOth Oval 

long\'h¥ 1/ IO!hOv.ll 

IJ12lh Stock 

tong WHit Off.Roa<f 

y 

N 
y Strtd 5p« Stock 

None 
None 
None 
None 

Y Stcxk RcplKeiTI('nt (<()t!Qm)' 8ru~ 
y 

Street Spec brushe$ have 
a face that allow them to 
be used in both st.lndbrd 
and laydown motors.. 
They also have a big ·s" 
molded into the back of 
them so they ate easy to 
tec.h. 
SS2229 

The harder the compound the more metal that is in the brush. This means it carries more current, but wears the commutator quicker. 

TYPE: 

Laydown, This is what is used in all Trinity/Epic stock motors. The brush is wider than it is high for greater brush wrap around the commuta· 
tor. This makes for lor rpm on stock motors. 
Normal, This is what comes on modified motors. The brush is higher than it is wide. 
Dual, The street Spec brush is designed to be used in either a standard or laydown brush motor. 

FACE: 

Serrated, This brush face has small grooves molded into it. Breaks-in instantly, makes lots of power! 
Smooth, This brush has a smooth face, takes longer to break-in. 

CUT: 

Timed, For stock motors only, this brush increase.s motor timing by offsetting the brush contact on the commutator. 
" L" Slot, A thin slot cut into the radius improves brush alignment on the commutator, speeds break-in and allows the brush to clean 
commutator while the motor runs. 

TERMINALS: 

Screw on terminals allow the changing of brushes with just a screw driver. Professional racers prefer to use brushes without terminals and 
solder their shunts right to the brush hood. 

10 



REPLACEMENT MOTOR PARTS 

D3 Motor Series 
D32030 D3 Motor Set-up, can, endbell, hardware 
D32031 D3 Motor Can, 6.0v wet magnets w/ BB's 
D32032 D3 Endbell w / timing ring 

• $55.00 
• $34.99 
• $2S.99 
• $20.00 D32033 D3 XXX High Rpm Slotted Armature Blank 

D2 Motor Series 
TK2023 D2 Purple Motor Set-up, can, endbell, hardware $55.00 

B4.99 
$25.99 
$15.00 
• $4.99 

TK2024 D2 Purple Motor Can, 5.4v wet magnets w/ BB 
TK2025 D2 Purple Endbell w / timing ring 
TK2026 D2 Armature Blank 
TK2004 Purple Wrap Around Motor Heatsink 

Fits D2, Dlrtiootor and most modified and stock motors. 

Dirtinator Motor Series 
TK201 0 Dirtinator Motor Setup, black $55.00 

$25.99 
$34.99 
S15.00 

TK2011 Dirtinator Endbell, standard brushes 
TK2012 Dirtinator Motor Can, 5.2v wet magnets 
TK2027 Dirtinator Armature Blank 

Samarium Cobalt/Rare Earth Motor Parts 
RC1 007 Cobalt Motor Set-up, mini can fits standard arm 
RC1 012 Rare Earth Drag Motor Setup, .05 sized 

$225.00 
$159.00 

$99.99 RCl 013 Rare Earth Magnets, fi ts .05 motor can 

MOTOR ACCESSORIES 
RC4027 
RC4027B 
RC4029 
RC4029B 
RC4031 
RC4095 
RC4470 
RC4530 

RC4533 

RC4102 
RC4012 
RC401 3 
TK3020 

RC4043 

Brass Motor Shims, 10 pieces $1.99 
Brass Motor Shims, 100 pieces $12.00 
Phenolic Motor Shims, 12 pieces $1 .99 
Phenolic Motor Shims, 100 pieces $14.99 
Modified Motor Ball Bearing, can/endbell SB.25 
Midnight Recessed Bushing, 2 pc $1.59 
Laydown Brush Hoods, w/screws & posts $6.99 
Silver Threaded Spring Posts 1 pair $2.49 

These or~ direct replacements os those on stock motors. Their use is 
legal for ROAR and NORRCA racing. 

Motor Rebuild Kit $3.99 
C~s with o steel liming ring, 2 timing rlf)fl screw"S~ 2 brush screws and 
2 oversized screws tor stripped out brosh screw holes. 

Motor Sleeve, slips over can more torque $4.99 
Short Motor Mounting Screws $1.00 
Long Motor Mounting Screws $1.00 
Team Kinwald Cutman Big Boy Motor Screws • $1.99 

Hardened steel meulc motor sc.rews that used a wi'de bose aluminum 
machined washer for a wlder foot prim. Uses standard J /16th wrench 
whkh is lrlduded. Kteps motor from slipping. Fits all off.rood touring and 
most on-rood cars. Also works great for mounting spur gears on HPJ cars. 

Motor Spacer Heatsink $7.99 
Firmed motor spacer firs between motor mount and bock of motor con, 
ketp$ motor cooler running. PtJrple anodized. 

RC4451 Small Motor Can Heatsink, on-road cars $21.99 
Snaps right on motor con for improved cooling ond longer motot life. Firs 
most buggies ond lTVdcs. 

RC4452 Large Motor Can Heatsink, off-road cars $23.99 
Some O$ above but wfder modt»l. Rts most pan cars. 

WARMNO ,t., 

RC4053 Comm Pen $6.99 

RC4054 
RC4528 

RC7913 

The comm {Mn Is a handy tool for cleaning the commutator or1 stock and 
modified motors. )tJSt tum the end to expose the fiberglass !leaning stick. 
Insert in the brush hood and hold lightly against the commt~totOt while 
tumlng over the armowre by hand. Also woOO great/or removing carbon 
build-up on the end of brushes. 

Comm Pen Refill, 1 pc $1 .59 
Spring Post Wrench, unscrews spring posts. $14.99 

EaJy way to unscrew lhe spring posU from your endbel/ so you con 
remove the hardware to cut the commutator on stock ntotON. Creotlor 
taking apon modified er1dbells for a thorough cleaning. New blvt handle, 

Brush Hood Alignment Tool $12.99 
Put this tool through the 2 brtJsh hoods whtn assembling your endbe/1 
and It wlll insure your brush hoods ore perlecrly ollgntd to each other. 
This will make sure that your brushes weor evenly and the timing will stay 
ltue as your motor nms and the brushes wear. 

RC7917 Bearing Setter, Installs bushings & Bearings ~29.99 
l'redskm root/or removing and installing boll beon'r1gs. ar1d bushir>gs 
wirhotJl damaging th~m. Works 0r1 stock and modified mo(Of$. 

MOTOR CAPACITORS 
RC4009 
RC4450 

Disc Capacitors, 6 pieces 
High Frequency Capacitors 

Q.OE> CUTtv1At-.b NOTb.E>OOK::. 
motor cleaning 

$1.00 
$1.49 

Step 1 Remove springs and brushes from motor. Spray motor 
oul thoroughly with RC444 3 Buggy Blast being sure to spray the 
bushings or bearings at each end of the motor. 

~tep 2 Using the RC4053 Comm Pen, insert it into one of the 
brush hoods and hold the face of the pen firmly against the comm. 
Using an old pinion attached to the shaft, spin the motor several 
times in both directions. This will clean the carbon buildups off of 
the comm and give it a fresh shiny surface. Now spray the motor 
out again to remove any left over residue. 

Step 3 Determine whether or not you are going to reinstall 
the same pair of brushes or replace them with new ones. It is 
always best to replace brushes that have worn severely or show 
signs of discoloration from heat. If reusing the same brushes clean 
the face of the brush with the Comm. Pen before reinstalling. 

~leR 4 Re-oil the bushing or bearings at each end of the shaft 
and apply several drops of TK2001 F-96 drops to each brush and 
your motor is now good as new. 

;- ·: ... ...,~-......_-_,... ___ .,.. _____ j 

11 



Why Matched Batteries? 
That's a question asked all the time. The ideal bartery pack is one in 
which all 6 cells run out of current at exactly the same time. This 
gives you a pack that is fast for the whole race showing almost no 
drop off of speed, and then it would go from full power to dead in 
less then a lap. Not one that gets slower every lap as some cells lose 
their charge before others. 

The only way to get this type of battery pack is to go through 
thousands of cells that have been cycled repeatedly until their 
capacity and voltage output stabilizes, and then test each cell by 
charging and discharging, record the data and then match the cell's 
specs unti l you have 6 cells with the same run time, average voltage, 
and internal resistance. 

Trinity takes this whole process one step further as we put all our cells 
through our three tier process which tests each at 20, 25 and 30 
amps. This allows us to take the cells with the best 20 amp perfor­
mance for our Sport-Tech packs, the best performing cells at 25 
amps go into Race-tech packs while the best cells at 30 amps 
become World-Tech and VIS EX-TRA. This also weeds out any weak 
cells along the way, so they do not wind up in your battery pack. 

This three tier methods allows us to give you a cell that will perform 
the best at the amp loads you are most likely to subject it to out on 
the track. A Sport-Tech pack performs great with stock motor loads, 
while a Race-Tech is excellent for machine wound modifieds like the 
Speed Gem 2 or GT-1 / GT-2 series. II you do all out modified class 
racing you need a pack that w ill perform the best at amp loads in the 
30 amp range and that is covered by World-Tech and VIS-EXTRA 
packs. 

All EX-Tech Matched battery packs have a sticker on the outside of 
the box that reflects the specs of the lowest cell in the pack. With 
Trinity battery packs you get no surprises when you open the box. 
We want you to exactly know the numbers on your battery pack 
before you spend your money. Now this sticker w ill show the 
standard capacity and voltage output numbers we normally use, (20 
amp Sport-Tech, 25 amp Race-Tech and 30 amp World-Tech and VIS 
EX-TRA), but will also show the numbers at 20 amps so it is easier to 
compare battery pack numbers i f you are only familiar with 20 amp 
numbers. 

Trinity VIS EX-TRA Battery Packs , 
have once again proven to be the best in the world, in the most 
important race in the world ... the IF MAR World Championships. 
These voltage enhanced cells powered Brian Kinwald to his second 
World Championships at the Ranch Pit Shop against the 150 best 
racers in the world, running the best equipment in the world. 

The VIS-EXTRA processing was developed by Trinity in the USA to 
increase the voltage output of the Sanyo RC-2000 and new RC-1700 
cells. The processing when applied during the cell's cycling and 
matching stages permanently alters the internal make-up of the cell 
resulting in a higher voltage output throughout the cells discharge 
cycle. This voltage increase means more power w ith no loss of run 
time. In fact in many cases increases in run time have also been 
observed. 

12 

Trinity VIS EX-TRA cells come from the same cell pool from which 
we make up our World-Tech battery packs, so only the finest cells 
available in RIC are used. These cells have already been through 20, 
25 and 30 amp cycling stages to insure that their discharge curves 
and output will be suitable to the type of racing they will eventually 
see in your R/C car. 

EX-TECH MATCHED RC-1700 CELLS 
UNASSEMBLED 
330-339 sec., 1 .13-l.l SV @30 amp 
Charge Rate: 6.0A Voltage Cutoff: .90V 
EXS1 774 20 Amp Sport Tech 4 Cell RC-1700 
EXS1 776 20 Amp SportTech 6 Cell RC-1700 

270-276 sec., 1.1 0-1.12V @30 amp 
340-346 sec., 1.13-1.15V @20 amp 
Charge Rate: S.OA Voltage Cutoff: .90V 
EXR1774 25 Amp Race-Tech 4 Cell RC-1700 
EXR1776 25 Amp Race-Tech 6 Cell RC-1700 

230-235 sec., 1.07-1.09V @30 amp 
347-355 sec., 1.15-l.llV @20 amp 
Charge Rate: 4.0A Voltage Cutoff: .85V 
EXW1774 30 Amp World-Tech 4 CeiiRC-1700 
EXW1776 30 Amp World-Tech 6 Cell RC-1700 

SPORT-TECH ASSEMBLED 

•$39.99 
• $59.99 

•$49.99 
•$74.99 

•$59.99 
•$89.99 

These Sport-Tech cells come assembled in 6 cell sticks, with Tamiya 
style battery connectors. 
330-339 sec., 1.13-1.1 SV @30 amp 
Charge Rate: 6.0A Voltage Cutoff: .90V 
EXS1 776A SportTech 6 Cell Sanyo RC-1700 MAH •$69.99 

VIS EX-TRA MATCHED CELLS 
UNASSEMBLED 
230-235 sec., 1.07-1.09V @30 amp 
347-355 sec., 1.15-1.17V @20 amp 
Charge Rate: 4.0A Voltage Cutoff: .85V 
VIS1 774 4 Cell VIS EX-TRA RC-1 700 
VIS1 776 6 Cell VIS EX-TRA RC-1 700 

VIS EX-TRA TEAM ASSEM BLED BATTERY PACKS 

•$69.99 
•$99.99 

Assembled just like our team drivers do. Cells covered with clear 
shrink and assembled with lennon lugs. Cells are not glued together 
so the pack can be taken apart to rematch. 
230-235 sec., 1.07-1 .09V @30 amp 
347-355 sec., 1.15-1.17V@20amp 
Charge Rate: 4.0A Voltage Cutoff: .85V 
VIS1778 6 Cell RC-1700 Side by Side, (Buggies) •$1 14.99 
VIS1 779 6 Cell RC-1700 Saddle, (On-road cars, XX-4) • S1 14.99 

1 

' 



ASSEMBLED RC-1700 PRO RACING PACKS 
All Trinity battery packs are assembled by Epic Energy labs on the 
latest computeriled robotics welding equipment. This insures a 
perfect weld every time for the least possible resistance. All stick and 
hump packs use heavy duty battery tubes and endcaps to protect 
the cells from damage in the worst of off-road racing condit ions. 
Super flexible heavy duty pure 14 Awg. copper leads and Tamiya 
style connectors guarantee getting all the possible power to your 
speed control and motor. 
6 CELL FLAT 
RC1778 RC-1700 Racing Pack • $49.99 
7 CEll FLAT 
RC1779 RC-1700 Racing Pack • S59.99 
7 CELL HUM P 
RC1780 RC-1700 Racing Pack • $59.99 
6 CELL LTO FOR SUPER SPEEDWAY CARS/ BUGGIES 
RC1781 RC-1700 Racing Pack • SS1.99 
7 CELL LTO FOR DIRT OVAl./BUGGIES 
RC1782 RC-1700 Racing Pack • $59.99 
6 CELL SADDLE FOR ON-ROAD CARS 
RC1783 RC-1700 Racing Pack •151.99 

~R..IAN IUt,J\V ALD6 NOTb.BOOl(; 
assemblying battery packs 

I have found that the way you assemble your battery pack actually 
can make a difference in the power you get from iL 

First it is important to use good battery bars like the Trinity 
RC5097 "Lennon Lugs". These pure copper bars will carry all the 
current your pack can dish out, plus they are contoured to fit on 
Sanyo RC-2000 and RC-1700 cells better. Always use a good 
solder and a real hot iron. I like the Ungar irons. A hot iron will 
allow you to make the solder joint faster and beuer without over 
heating the cell. 

When you assemble your pack you want to try and make as good 
a connection between the battery bar and the cell as possible. A 
mechanical connection conducts electricity better then solder 
does. I do this by not tinning the cell or the bar. I make sure the 
bar sits perfectly flat on the cell and I press It down with a 
screwdriver really hard while soldering it on the outside edge. 
Some solder will sneak under the bar but it mostly will be a 
mechanical connection. 

Always try to do the same thing when you solder on your leads, or 
jumper wires. Try to get as much contact between the wire and 
the cell. Do not blob up a lot of solder and just have the wire 
holding on by a bridge of solder. 

Careful assembly and soldering can lead to lower resistance and 
more power. And remember always hardwire your car and forget 
about plugs, they have too much resistance! 

;-=,~,.,._;J- "'---...., ....... ---....-----

EX-TECH MATCHED RC- 2000 CELLS 
UNASSEMBLED 
375-383 sec., 1.12-1.13V@20amp 
Charge Rate: 6.0A Voltage Cutoff: .90V 
EXS204 20 Amp Sport-Tech 4 Cell RC2000 
EXS206 20 Amp Sport-Tech 6 Cell RC2000 

305-315 sec., 1.1 0-1.12V@ 25 amp 
384-394 sec., 1.13-1.14V@ 20 amp 
Charge Rate: 5.0A Voltage Cutoff: .90V 
EXR204 25 Amp Race-Tech 4 Cell RC2000 
EXR206 25 Amp Race-Tech 6 Cell RC2000 

260-267 sec., 1.08-1.09V@ 30 amp 
395-405 sec., 1.13-1.14V@ 20 amp 
Charge Rate: 4.0A Voltage Cutoff: .85V 
EXW204 30 Amp World-Tech 4 Cell RC2000 
EXW206 30 Amp World-Tech 6 Cell RC2000 

SPORT-TECH A SSEMBLED 

• -$49.99 
• -$73.99 

• -$56.99 
• -$89.99 

• -$65.99 
• -$98.99 

These Sport-Tech cells come assembled in 6 cell sticks, with Tamiya 
style battery connectors. 
375-383 sec., 1.1 3-1.14V@ 20 amp 
Charge Rate: 6.0A Voltage Cutoff: .90V 
EXS200A Sport-Tech 6 Cell Sanyo RC-2000 MAH • -$85.00 

VIS EX·TRA MATCHED CELLS 
UNA5SEMBLEO 
260-267 sec., 1. 1 0-1.12V @30 amp 
395-405 sec., 1.15-1.17V @20 amp 
Charge Rate: 4.0A Voltage Cutoff: .8SV 
VIS2004 4 Cell VIS EX-TRA RC-2000 
VIS2006 6 Cell VIS EX-TRA RC-2000 

VIS EX-TRA TEAM ASSEMBLED BATTERY PACKS 

• -$81.99 
• -S 124.00 

Assembled just like our team drivers do. Cells covered with clear 
shrink and assembled with lennon lugs. Cells are not glued together 
so the pack can be taken apart to rematch. 
260-267 sec., 1. 1 0-1.12V @30 amp 
395-405 sec., 1.15-1.17V @20 amp 
Charge Rate: 4.0A Voltage Cutoff: .85V 
VIS2008 6 Cell RC-2000 Side by Side, (Buggies) • $139.99 
VIS2009 6 Cell RC-2000 Saddle, (On-road cars, XX-4) • $139.99 

All nm tome and OWf09t YOit119" fig•m lnttd ore """"9"' bow on 1M post 
ptriom>once ol t~ Sonyo product. TnMy con- a/lwlys g110rontN t~ IIUmbro due 
lo vo,ohons In the datt cocks of Sonyo ctlls. 

13 



ASSEMBLED RC-2000 PRO RACINC PACKS 
6 CELL FLAT 
RC5908 EX-Tech Sanyo 2000 MAH 
7 CELL FLAT 
RC5912 EX-Tech Sanyo 2000 MAH 
7 CELL HUMP 
RC5915 EX-Tech Sanyo 2000 MAH 
6 CELL LTO FOR SUPER SPEEDWAY CARS/BUGGIES 
RC5918 EX-Tech San yo 2000 MAH 
7 CELL LTO FOR DIRT OVAL/ BUGGIES 
RC5921 EX-Tech Sanyo 2000 MAH 
6 CELL SADDLE FOR ON-ROAD CARS 
RC5923 EX-Tech Sanyo 2000 MAH 

•-S75.00 

• -S89.99 

• -$89.99 

• -$78.00 

• -$91.99 

• -$78.00 

The Thunder Sport features cells that have been put through the 
Trinity VIS EX-TRA processing to increase their voltage output. More 
voltage means higher speeds while sti ll being affordable to the 
weekend street and casual sport class racer. Thunder Sport like all 
Trinity assembled battery packs are produced by our in house fully 
automated battery assembly division EPIC Energy. All packs are 
precision welded on our computerized robotic welders for a perfect 
weld every time. 

Only the highest grade nickel tabbing and silicone wire is used for 
the lowest possible resistance. Battery tubes and heavy duty shrink 
wrap keeps your pack together even in the worst crash. Tamiya style 
connectors are installed so your pack can plug right into all the most 
popular speed controls. 

1400/ 1500/ SPEC SPORT PACKS 

6 CELL SPORT PACKS 
RC5904 Amp Max 1400 Plus 1400 MAH 
RC$909 EX-Tech Sanyo 1500 Plus 
RC5925 Thunder Sport VIS EX-TRA 
ESP1500 Epic 1500 MAH Plus Sport Pack 

14 

$22.99 
S31 .00 

• $29.99 
• $29.99 

-··· .. , 

STREET SPEC 
SS2224 
SS2227 

Street Spec 6 Cell EX-Spec Pack 
Street Spec 4 Cell EX-Spec Pack 

7 CELL FLAT PACKS 
RC591 0 Amp Max 1400 Plus, 1400 MAH 
RC5926 Thunder Sport VIS EX-TRA 

7 CELL HUMP PACKS 
RC5913 Amp Max 1400 Plus, 1400 MAH 
RC5927 Thunder Sport VIS EX-TRA 

$23.99 
s 17.99 

$28.99 
• $35.99 

$29.45 
• S35.99 

6 CELLLTO PACKS FOR SUPER SPEEDWAY CARS/ BUGGIES 
RC5916 Amp Max 1400 Plus, 1400 MAH $22.99 
RC5928 Thunder Sport VIS EX-TRA • S30.99 

7 CELL LTO PACKS FOR DIRT OVAL/ BUGGIES 
RC5919 Amp Max 1400 Plus, 1400 MAH 
RC5929 Thunder Sport VIS EX-TRA 

6 CELL SADDLE PACKS FOR ON-ROAD CARS 
RC5930 Thunder Sport VIS EX-TRA 

RECEIVER PACKS 

$28.99 
• S35.99 

•S30.99 

High quality transmitter and receiver battery packs for all your R/C 
needs. Whether you race gas cars or fly 1/ 4 scale airplanes we have a 
battery pack for your needs. 
RECEIVER PACKS FOR 1/ 10 & 1/1 2 SCALE CARS 
RC5093 5 Cell, Novak Plug, 50 MAH S35.00 

RECEIVER PACKS WITH LEADS, (NO PLUGS) 
AP112 5 Cell 600AE 6V 600mAh 
AP113 S Cell 1 OOOSCR 6V 1 OOOmAh 

RECEIVER PACKS WITH FUTABA J PLUGS 
4 Cell 
AP300 4 Cell 270AA 
AP301 4 Cell 600AE 
AP302 4 Cell 600AE 
AP303 4 Cell llOOAEL 
AP304 4 Cell 1400SC 
AP 305 4 Cell 1500SC 
S cell 
AP114 5 Cell 600AE 
AP115 5 Cell 600AE 
AP116 5 Cell llOOAEL 
AP117 5 Cell 1100AEL 

TRANSMITTER PACKS 
8 CELL W ITH LEADS 
AP008 8 Cell 600AA 
AP009 8 Cell 600AA 
AP306 8 Cell 800AAE 

4.8V 270mAh 
4.8V600mAh 
4.8V 600mAh 

4.8V 11 OOmAh 
4.8V 1400mAh 
4.8V 1S00mAh 

6V600mAh 
6V600mAh 

6V 1000mAh 
6V 1000mAh 

9.6V 600mAh 
9.6V 600mAh 
9.6V 800mAh 

Sq 
Flat 

Sq 
Flat 
Sq 
Sq 
Sq 
Sq 

Hmp 
Flat 
Flat 

Hmp 

Flat 
Sq 
Flat 

$22.99 
S33.2S 

$19.99 
$21 .99 
$21 .99 
$37.50 
$37.50 
S37.50 

$34.65 
$34.65 
$49.99 
$49.99 

$31.99 
S31.99 

•$41.99 



HIGH VOLTAGE TRANSMITTER PACKS 
Both the Futaba and Airtronics 
radios were designed to 
operate on B dry cell batteries 
which produce 1.5 volts per 
cell for a total operating 
voltage of 12 volts. When you 
replace these dry cells with a 
"M rechargeable cells which 
put out only 1 .2 volts per cell 
you are now operating your radio on 9.6 volts. This low voltage can 
sometimes contribute to power, range and frequency problems. To 
help eliminate this problem we have developed a 9 cell rechargeable 
pack for both of these popular radios. These packs increase the 
voltage to 1 O.B volts which is a lot closer to the 12 volts the radio 
was designed to operate on. 
RC5559 Airtronics 9 Cell TX Pack w/plug, 1 O.B v S55.99 

$55.99 RC5560 Futaba Magnum 9 Cell Transmitter Pack 

ASSORTED BATTERY PACKS 
RC5760 
RC5619 

8 Cell Turbo Pack, Tyco cars 
Clod Buster Battery, 6 cell 4400 Mah 

$39.99 
$11 5.00 

BATTERY ACCESSORIES 

RC5002 

RC5004 

RC5012 

RC5018 
RC5101 
RC5102 

RC5104 

Battery Building Jig $9.99 
This is the only bouery jig dtsigntd for the ntw "bigger· Sanyo RC-2000 
and RC· I 700 <ells. Does not spread aport and allow ctlls to move while 
soldering your boltery pock. Easy to ust. Brtoks dowt~ln stconds for easy 
storogt in your pit box. 
Rosin Soldering Flux $4.99 
EAcellenl flux for soldering bouery pocks and alltii!Cirical components. 
30 Ohm Discharge Resistors $2.99 
Put ocro.u bolltry ltods after dischorgmg pock 10 slowly ftnol discharge 
and equoEu crils. -*s killer on Street Sp« bolltry pocks. ~.eave on 
Strw Sp« pocks- races. 
Solder, This is the best solderfor packs S1.99 
Battery Washers, go over the ends of cells S2.00 
Stick Pack Building Kit S4.99 
Cvorything you need to bw'ld your own stiCk pocks: shnnJ<, bollery tub<, 
trtdcop~ lobbing, wire and toon«IM. 
Saddle Pack Building Kit $6.99 
Comes with tvt'f)'lhing to build scddle or side x IJdt pocks: single cell 
$hrml<, Lennon Lugs, wire jum!Wf, bouery wo$hen and soldtr. 

RC5009 Memory Buster Battery Discharge Board S29.99 
New bolltry d•schorgtr fcx 6 cell side by sidt or saddle poc!a. LED sl-. 
stott of dischorgt. Ellmfnotts any memory in battery po<k. N~ tnistOt 
volutl for quicktr discharge. The only botlery discharger dt$/gntd fcx the 
Sonyo RC-2000 and RC-1700 cells. 

RC5097 lennon lugs, Copper Battery Bars $4.99 
Now upgrodtd to fit""" lilt shrink on lilt ends o/1"" So,.. f1C.20(1() 
crils. I 00.. purt coppu. low rtsittonct,light wtighL 

RC5098 Same as above but 25 pieces S 11.50 

RC7027 Pack Pillows $3.29 
Thtst st/1 st.cl loom cu$h;oru attach to your buggy ond tnKk chos"' 
undtr I"" bolt try pock IO help hold h in ploct. ICetp:!l"" botlery ond 
chcus.s from gewng ai/S<fOP'd up from the bollery pock mov•ng around. 
fiu oil Los/, Tro.uos ond A$sodottd Zwd buggios and trods. 

PLUGS & CONNECTORS 
RC6020 
RC7011 
RC5074 

Tamiya Connector W/Wires $3.99 
Tamiya Plugs W/out Wire S2.69 
No Solder l eads W/Connectors, for motors $3.99 
TMst leads prtss right on ro the lobs on oil stOCk Otld modlfltd moton. 
No nHd to soldtr on motor wir~ Bullet connectors fit Novok and Ttkin 
Speed control bullet conn«tor>. 

RC5080 

RC5041 

No Solder leads W/ Bare End, no connectors $3.99 
Somt' os above but without the bCJikl conn«totS. 
Futaba J Plug W/Wire ·S4.99 

SHRINK WRAP 
FOR SINGLE CELLS 
RC5075 Clear Precut 1.5" (20 pes) 
RC5166 Clear Precut 1 .5" (1 00 pes) 

FOR 6 CELL STICK PACKS 
RC5167 Clear Precut 2.5" (6 pes) 
RC5168 Clear Precut 2.5" (25 pes) 

FOR SADDLE OR 7 CELL FLAT PACKS 
RC5173 Clear Precut 3" (6 pes) 
RC5174 Clear Precut 3"(25 pes) 

FOR 7 CELL HUMP PACKS 
RC5169 Clear Precut 3.5" (6 pes) 
RC5170 Cl~ar Precut 3.5" (25 pes) 

$1.25 
$4.99 

$1.50 
$4.99 

S1.75 
$5.75 

$1.99 
$5.99 

15 



HOOK UP WIRE 
RC5140 Pro Cable Red and Black (14awg 2') S3.99 
RC5141 Pro Cable Red and Black (1 4awg 1 0') $15.16 
RC5160 Pro Cable, Red and Black (16awg, 2') S2.29 
RC5161 Pro Cable, Red and Black (16awg, 1 0') $7.99 

RC5006 13 Awg Silicone Wire 3' Blue • $4.99 
RC5007 13 Awg Silicone Wire 3' Black • $4.99 
RC5008 13 Awg Silicone Wire 3' Red • $4.99 
RC5013 13 Awg Silicone Wire 1 0 ' Blue • $14.99 
RC5014 1 3 Awg Silicone Wire 1 0 ' Black • $14.99 
RC5015 1 3 Awg Silicone Wire 1 0' Red •S 14.99 

RC5005 Speedo Wiring Kit • $4.99 

16 

OM loot toeh of I J A"9 blw, block ond r«J 11/f(QM fOC)<trtd purt copper 
Wlrt lot ttwmng your !peed controls 0t borrtry po<lt.s. 

CUR16 E>INc;-6 NOT6.E>OO~: 
1/2 weight shock oil 

Team Kinwald Half Weight Shock Oil is a must for me and every 
other Trinity Team driver at the track. I never go to a race, no 
matter what size, without a bottle of each Half Weight oil in my 
tool box, (27.5, 32.5, 37.5, 42.5). 

Finally there is no more guessing how much o f each oil to mix 
together, its already done, and its the same each and every time 
you use it! 

Now at club races I can adjust my car in small increments with 
just a change of oil to help tune my car in less time to go faster. 
You can make a small change on one end of the car without it 
affecting the other end. 

At World and National level races it gives me the opportunity to 
make finer tuning adjustments to the dampening of my shocks 
and that result In faster lap times. 

Trinity Half Weight Shock Oils are a must for any racer at any 
level of competition! 

See you guys at the track! .... Chris 

ANTENNAS 
RC6010 Fiberglass Roll Over Antenna, l / 12th scale $6.99 
RC6030 Fluorescent Antenna Tubes, 4 pieces S1.99 

BALL BEARING SETS 
BUGGIES 
RC7871 Associated B2 Buggy Bearing Set $73.99 
RC7872 Associated B2 Sport Buggy Bearing Set • $73.99 
RC7874 Associated B3 Buggy Bearing Set • $73.99 
RC7878 losi XX-CR Buggy Ball Bearing Set • $73.99 
RC7879 losi XX-CR Transmission Ball Bearing Set • $42.99 
RC7884 Team l osi XX-4/ Street Weapon Ball Bearing Set • $99.99 

TRUCKS 
RC7870 RCl 0 T2 Ball Bearing Set $73.99 
RC7873 RC1 0 T2 Sport Ball Bearing Set • S73.99 
RC7883 RC1 OT3 Ball Bearing Set •$73.99 
RC7882 Team losi XXT-CR Bearing Set •$73.99 

ON-ROAD CARS 
RC7886 Assoc. 1 Ol2 1/ 1 Oth On-Road Bearing Set • $58.99 

•$58.99 
$47.99 
$58.99 
$58.99 

RC7887 Assoc. 1 Ol20 1/ 1 Oth Speedway Bearing Set 
SS2021 Street Spec Bearing Set 
SB51 00 Switch Blade 1 0 On-Road Bearing Set 
SB51 01 Switch Blade 1 0 Speedway Bearing Set 
SB5 102 Switch Blade 12 Ball Bearing Set • $58.99 

BODY ACCESSORIES 
RC6002 

RC6002B 
RC6003 

RC6008 

RC6062 

.RC6011 

TK3034 
RC6012 

RC6013 

RC8027 

Bent Up Body Clips $2.49 
Extra thd tht,. sroy"' btrttt. Bmt up tnds mollt rhtm tmy to,.,... 
5pitcts. 
Bent Up Gold Body Clips Bulk, 25 pieces S8.99 
Nylon Body Hole Washers $1 .25 
Ust thtu on your body posu when the holes m rhe body srort ro gtl 
worn. Kttps body mount from coming through body. 
Purple Aluminum Wing Buttons $3.99 
Eosy way 10 mocml wing wire to your wing. Adjustable from the lop. 
Body Blast, in pump sprayer, non aerosol $4.99 
Sproy <ltontr lOt oil ttxon bodies. Cleans, polishes, removts woll ond tilt 
scvl/s olong with pomt avenpray, old sticker glue, and derailing lines. 
GWri your bod~s thot concou~ winning look. 

Purple Aluminum Pro Wing Buttons $4.49 
Thest """9 buuons o11ow you ta use Z toSY to b<nd Wing Wlfl'S ond o 
srf0191>r potet o1 poono wtrt lot your w;ng moon~ng wvt lfllttod ol tf)flng 
ro btnd tM tne*y ·u· f"<C~ o1 Wlrt Eosy to odJUS~ tW')f/long 1oc1t.s"' 
ploct ..,th set S<rtwS. Makos o wonger str·uP tMn uung tM old ·u· 
,.... ol ""'9 wtrt. 

Team Klnwald Blue Pro Wing Buttons $4.49 
Pro Buttons W/ Bent Wire for chassis mount S5.49 
Somt os above bul with all the wire cut and bent ro moum your wing to 
a pan cor chauls. 

Pro Buttons W/ Bent Wire for body mount $5.49 
Same as obovt but with wirt bem to mount to a super spetdwoy body. 

Team Kinwald low Profile Wing Mounting Kit • $5.49 
Movnt your W'1!"9 bw m ~ 
bodr l•k• Bnon ond Grtg do lot 
l><rrtr hondllJ19 rr.r <onltS With 
blw "''"9 burrons. pnbtnt ....,. 
ond o ttmplott lot tnmnong 
your T tom (OS. ""'9 

v 



RC6040 Body Cushions, 6 pieces $2.29 
Self sticking foam body washers. Stick these to lhe imide of your body 
over lhe mounting holes to proU!cl body and w t down vibrorlort Keeps 
speedway bodieJ from rouling around. 

RC61 00 Econo Body Clips, 6 pieces $1.25 
Flat wire body clips. 

RC6111 joel Johnson Transponder Mount • S3.75 
Lexon moum fiu off on-road, touring and mos-t off-road cars. Easiest Ot)d 
safest way to moum the trat1Sponder. Check the plctCJfe of the Switch 
Blade 1 Z in the cor section lo see how easy and convenient this mount is 
10 ustr. Attaches with servo tope. 

SCREW-ON BODY MOUNTS 
These are the body mounts all the profes· 
sional racers use on their on-road and super 
speedway cars. Easily adjustable and they 
hold the body on with a small button head 
screw instead of a clip. Better aerodynamics 
and no chance of losing that body clip in a 
wreck. Available in sizes for on-road, touring 
and super speedway style bodies. 

RC6041 Speedway Adjustable Body Mounts 
TINO rand Two r l.hreoded posts 

-
RC6042 Replacement 2" Threaded Posts, 4 pes 
RC6043 Replacement 3" Threaded Posts, 4 pes 
RC6044 Replacement 4" Threaded Posts, 4 pes 
RC6046 GTP Body Mounts 

FO<Jr I .5 • threaded posts 
RC6047 Touring Car Body Mounts 

Two 3•, Two 4 ~ 

RC6048 Replacement 1 .5" Threaded Posts, 4 pes 
RC6049 Replacement Aluminum Post Top 2 pc 
RC6054 4-40 X 1/ 4 Screws For Body Mount Tops, 6 pes 

RC6051 EX-Pen 

$13.99 

$5.99· 
$6.59 
$6.59 

$14.99 

$12.99 

$5.99 
+$4.99 

$0.99 

$17.99 
Z sided thick and lhin body detailing pen. Great lor doing body lines and 
letrering bodies. Black. o pie<es. 

RC6060 EX-Pen, 1 piece $2.99 

RC7023 Curved Lexan Body Scissors $9.99 
Curved sa's.sors for trimming Lexan RIC cor bodies. 

RC7079 Shock Tower Wing Mounts, SB1 0, RC1 0 $5.50 
Allows mounring of wings to twggy graphite shock towers and to upper 
pod plates on on·road pan cars .. 

RC8020 1/ 1 Oth Speedway Tri-Vent Wing $4.99 
New super speedway wing gives more ltoclion without increosM drag. 
Adjustable rear Gurney flop. 

RC8021 Tri-Vent Wing Kit $10.99 
Includes wing~ wittg butrons~ and pre·bem wittg wires 

RC8023 Speed Control Mount, for 'T' bar chassis $5.99 
This mount fil5 over T bar oo Switchblade 1 Oss Ot)d other T bor cars and 
allows you to mount rhe speed conrroJ in the center ol the cor moving 
more weight to the left side. Al.so moves speedo closer to motor and 
batteries so shorter wire.s con be used. 

BUMPERS 
SB5307 
RC7024 
RC7025 
RC7026 
RC7028 
TA11 2 
TK3033 

SB1 OSS Carbon Fiber Front Bumper • $17.99 
1 /12th or 1/ 1 Oth Super Speedway Foam Bumper $4.49 
1/1 Oth On-Road or Wide Oval Foam Bumper $4.99 
Black Kydex Bumper Blank, 31 /2 x 11 " $7.99 
Wide RC1 0 Front Bumper $8.99 
Foam Bumper for Tamiya TA-03 Touring Car $4.99 
Street Weapon Foam Bumper • $5.99 

DIFFERENTIAL & REAR AXLE PARTS 
RC01 10 
RC0110B 
RC011 4 
RC0118 
MM600 
MM2000 
MM2001 
SB5085 
SB5086 
SB5087 

Super Differential Balls, Grade 10, 16 pes 
Super Differential Balls Bulk, 100 pes 
Differential Rings, 6 pes 
Diff Pinning Kit, drill bit, post etc., 
Notched Differential Rings, 1 pr 
1/4 ' Thin Axle Shims, On-Road rear axles 10 pc 
1 /8" Thin Axle Shims, 1 /12th front axles 10 pc 
.050" Aluminum Rear Axle Shims W/ Shoulder, pr 
.1 00" Aluminum Rear Axle Shims W/ Shoulder, pr 
.150" Aluminum Rear Axle Shims W/ Shoulder, pr 

CiEARS, PINIONS 
MAGIC MOTORS PORTS, ZERO GRAVITYTM 

$2.79 
$1 2.99 

$3.50 
$5.99 
$3.99 
$1 .99 
$1.99 

• $1.59 
• $1 .59 
• $1.59 

The most popular pinion gears in R/ C car racing. These pinions are 
top hobbed from 6061 T6 aircraft aluminum and meet A. G. M.A. 48 
standards. We use a proprietary aerospace coating which is ex­
tremely wear resistant, and it contains teflon for a very low coeffi­
cient of friction. This super hard coating makes these pinions wear 
almost as long as a steel pinion but with just a fraction of the weight. 
All pinions will have the tooth size on the side of the shaft and come 
with a set screw. Zero Gravity pinions w ill give you the most efficient 
lowest drag gear mesh possible regardless of what spur gear you use! 

Now all 48 pitch pinions come with 5/ 40 set screws for better 
bite on the motor shaft. Uses standard 1/16th wrench! 

48 PITCH ZERO GRAVITY PINIONS 
M4812 12 Tooth Pinion Gear $5.99 
M4813 13 Tooth Pinion Gear $5.99 
M4814 14 Tooth Pinion Gear $5.99 
M 4815 15 Tooth Pinion Gear $5.99 
M4816 16 Tooth Pinion Gear $5.99 
M4817 17 Tooth Pinion Gear $5.99 
M4818 18 Tooth Pinion Gear $5.99 
M 4819 19 Tooth Pinion Gear $5.99 
M4820 20 Tooth Pinion Gear $5.99 
M4821 21 Tooth Pinion Gear $5.99 
M4822 22 Tooth Pinion Gear $5.99 
M4823 23 Tooth Pinion Gear $5.99 
M4824 24 Tooth Pinion Gear $5.99 
M4825 25 Tooth Pinion Gear $5.99 
M 4826 26 Tooth Pinion Gear $5.99 
M4827 27 Tooth Pinion Gear $5.99 
M4828 28 Tooth Pinion Gear $5.99 
M4829 29 Tooth Pinion Gear $5.99 
M4830 30 Tooth Pinion Gear $5.99 

17 



64 PITCH ZERO GRAVITY PINIONS 
M6415 
M6416 
M6417 
M641B 
M6419 
M6420 
M6421 
M6422 
M6423 
M6424 
M6425 
M6426 
M6427 
M642B 
M6429 
M6430 
M6431 
M6432 
M6433 
M6434 
M6435 
M6436 
M6437 
M643B 
M6439 
M6440 
M6441 
M6442 
M6443 
M6444 
M644B 
M6450 

15 Tooth Pinion Gear 
16 Tooth Pinion Gear 
17 Tooth Pinion Gear 
1B Tooth Pinion Gear 
19 Tooth Pinion Gear 
20 Tooth Pinion Gear 
21 Tooth Pinion Gear 
22 Tooth Pinion Gear 
23 Tooth Pinion Gear 
24 Tooth Pinion Gear 
25 Tooth Pinion Gear 
26 Tooth Pinion Gear 
27 Tooth Pinion Gear 
2B Tooth Pinion Gear 
29 Tooth Pinion Gear 
30 Tooth Pinion Gear 
31 Tooth Pinion Gear 
32 Tooth Pinion Gear 
33 Tooth Pinion Gear 
34 Tooth Pinion Gear 
35 Tooth Pinion Gear 
36 Tooth Pinion Gear 
37 Tooth Pinion Gear 
3B Tooth Pinion Gear 
39 Tooth Pinion Gear 
40 Tooth Pinion Gear 
41 Tooth Pinion Gear 
42 Tooth Pinion Gear 
43 Tooth Pinion Gear 
44 Tooth Pinion Gear 
4B Tooth Pinion Gear 
50 Tooth Pinion Gear 

S5.99 
$5.99 
S5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
S5.99 
$5.99 
S5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 
$5.99 

KINWALD "HARD ONES" 48 PITCH PINIONS 
New from Brian Kinwald's Team Kinwald is the 
new " Hard Ones" steel off-road pinions. Made 
to the Zero Gravity design, each pinion is case 
hardened to a guaranteed 5B62 Rockwell C 
hardness. The hardening process of the 
material is consistent up to .0010 into the 
depth of the gear surface. This means the gear 
would have to be completely destroyed before 
it would loose its tooth form. 

Now all 48 pitch pinions come w ith 5/ 40 set screws. Uses 
standard 1/16th wrench! 

TK4B12 
TK4B13 
TK4B14 
TK4B1 5 
TK4B16 
TK4B17 
TK4B1B 
TK4B19 
TK4B20 
TK4B21 
TK4B22 
TK4823 
TK4824 
TK4825 
TK4826 
TK4827 

18 

12 Tooth Hard One 48 Pitch Pinion 
13 Tooth Hard One 48 Pitch Pinion 
14 Tooth Hard One 48 Pitch Pinion 
15 Tooth Hard One 48 Pitch Pinion 
16 Tooth Hard One 48 Pitch Pinion 
17 Tooth Hard One 48 Pitch Pinion 
18 Tooth Hard One 48 Pitch Pinion 
19 Tooth Hard One 48 Pitch Pinion 
20 Tooth Hard One 4B Pitch Pinion 
21 Tooth Hard One 4B Pitch Pinion 
22 Tooth Hard One 4B Pitch Pinion 
23 Tooth Hard One 48 Pitch Pinion 
24 Tooth Hard One 48 Pitch Pinion 
25 Tooth Hard One 4B Pitch Pinion 
26 Tooth Hard One 4B Pitch Pinion 
27 Tooth Hard One 4B Pitch Pinion 

$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 
$4.99 

TRINITY ZERO FRICTION SUPER SPURS™ 
New 4B Pitch super light, super 
strong Graphite filled spur gears 
designed to fit the Team Losi XX, XXT, 
XX-CR & XXT-CR. New composite 
material makes for a stronger tooth 
design which is more resistant to 
chipping and tooth failure under the 
rigors of off-road racing. The 
strongest off-road gear you can buy. 
All new tooth design, runs quieter, 
and makes more horsepower. These 
gears come in the sizes currently used 
by Brian Kinwald, Chris Bing and Matt & Mark Francis! 
OFF-ROAD 
SGOB4 B4 Tooth, 4B Pitch Zero Friction Losi Spur Gear S3.99 
SGOB7 B7 Tooth, 4B Pitch Zero Friction Losi Spur Gear $3.99 

New 64 pitch Graphite spur gears. Designed with lightening holes 
and new tooth pattern for less drag and longer gear life. Fits both 
" Stealth" and standard diffs for on-road and oval cars like the EV1 0, 
1 OL, 12L, Switch Blade 10/12, Revolver 12 and Hyperdrive. 
ON-ROAD 
SG095 95 Tooth, 64 Pitch Zero Friction Spur Gear $3.99 

S3.99 
$3.99 
$3.99 

SG 1 00 1 00 Tooth, 64 Pitch Zero Friction Spur Gear 
SG1 20 120 Tooth, 64 Pitch Zero Friction Spur Gear 
SG12B 1 2B Tooth, 64 Pitch Zero Friction Spur Gear 

COMMUTATOR LATHES 
Precision machined lathes for cutting stock and modified motor 
commutators. Stock lathe cuts the commutator thruough the brush 
hole in the endbell by removing the endbell hardware. Modified 
lathe is designed to cut your modified armature out of the motor 
setup. Both style lathes come with carbide bits. Diamond bits are 
available and cut the commutator cleaner and smoother but must be 
used with care as they are easily damaged if run into the commuta­
tor tabs or dropped. 

RC4104 
RC4105 
RC4109 

RC4107 
RC4106 
RC4110 

RC4108 

Tru-Lathe Modified $225.00 
Tru-Lathe Modified Diamond Bit SBS.99 
Modified Carbide Lathe Bit • S1 5.00 
Bolh Oiomond ond CDII>de mod•lled birs fir Tw•ller ond Trinity lorhos 

Tru-Lathe Stock $249.99 
Stock Lathe Diamond Tool Bit $99.99 
Stock Carbide Lathe Bit • $26.50 
Both Diamond ond Carbide sroek blrs fir Trinity ond Cobra lathes 

Replacement "0" Rings For All Lathes, 2 pes • S 1.49 



I 

LUBRICANTS, OIL, MOTOR SPRAY 
TK2001 

TK2002 
RC4024 

Formula '96 
Sp<oolly fotmvlortd 
- dtops lex olf.IOQd 
srod< ond mo61itd 
moton. lncri'Ou-J 
hotJq>owtr. ..,.~ 

'""'""""!~an~~ thor 
rrp<ls din from rho 
commutator. K«ps 
commuroror dtone 
NM•~ kHpJ the mofOf 
folie< longer. AllD rxctl~nt 
o:s o lt.tbriconr wh;t~ 
brtokmg in bruJhe-J. 
Formula '96 refill, 2 ounces 
Turbo Drops"', increases rpm's 

S5.99 

S6.99 
S4.99 

Trinity motor oil has been upgraded with new formulas and all new 
smaller easy to hang up packaging. Both our bushing and ball 
bearing oils have the formula changed incorporating some of the 
latest technology that has been developed in the field of lubricants. 
Longer lasting and less friction are the results. Now with PFTE added 
for less friction. 

fftTRINITY J 
RC4025 M odified Motor M icro Oiler, bearings +S4.99 

Srandotd wroghr boll btonng 011 lor roang ond gmm>tlubricarion of al 
boll btonng• In RIC con. Long "'''"'!I- wiR nor gum up or bum off. 

RC4026 

RC4051 

RC4040 

RC4047 
RC4049 

RC4443 

RC4469 

RC6062 

Stock M otor Micro Oiler, for bushing.s +S4.99 
Sp«IOIIy ltxmulartd oo~rr bushong oil. Losrs 1ong<t; makt> malors nm 
smaorhrr and With hi!Jhor ~pml Don nor gum up"' bum off. 

Royal Oil, High Performance +S4.99 
Super II!Jhl wroghr, low dtag 100ng 011 lex all morat, whHI and ax~ 
btonngs. Dtslgntd lor lowrll pasSiblt drag 
Revtech Drops, increases motor rpm's $4.25 
S6Vttol dtOps on comrrwtotor ~fort running incrtos.es performance of 
stOC'k ottd mO<Jifitd motors. lncrtostl rpm's and keeps commutator from 
bCJrning 
Revtech Drop Refill, 2 oz S5.50 
Bushing Buster S5.99 
Several drops of Bushing Buster on your Jtock moton bushing while 
breaking/< In will spetd up lht bre<Jk in proem. 
Brian Kinwald's Buggy Blast' "' Cleaning Spray $5.99 
ThTs Is tht btst moror spray on tht morlctl and lhe only one we 
tteOtttrMnd fOt cteo111~ Trinity motors. Blended lo be safe on ploJlics, yet 
srrong tnovgh ro rtmovt rhe <aught>! off·rood dirt. Use ir to elton shocks 
ond wspemiolu.. Ustd by TtOrn Trinity & Ttom Losi ~xdusivety! 
Motor Break In Drops S3.99 
A coup~ ol drops on your motor brusht.s will sJ)ffd up lht break in 
process and kttps tht commutator lr~ of bruJh grimt. 
Body Blast, in pump spray bottle $4.99 
Uit body blost ro dto,, polish. remove old sricker glue and detailing lines 
fttJm Ltxo, RIC cor bodies. 

RC6686 Hand Wash • $2.99 
EC>sy ro OM warttlm hond cltonrr lex "" or rh# ttock.Jusr a ltw dtops 
on ,....,. honds r~ ,.,. trocr-. btush gunk and othot ar.sonld RIC 
din. u .. il once and rou will _., ract DgDII1 Wllhour rr 

TOURING CAR ACCESSORIES 
HPI RS4/ RS4 PRO 

HP004 RS4-Pro Aluminum Motor Mount Brace •S6.99 

HP108 

Purple onodiltd aluminum front motor mount bract for HPI RS4 ·RS4 Pro. 
Replaces plostlc brace. Stlffem motor moun~ makes cat ru.n smoother. 

RS4·Pro Aluminum Wheel Adapters • S13.99 
Purple anodized aluminum super light we;ght wheel adoplttS. Four pieces. 

TEAM LOS I STREET WEAPON 
TK3001 XX-4/Weapon Steering Ball Bearings, 4 pes • $17.99 

TK3009 XX-4/Weapon Rear Suspension Brace 
8/ve anodized olvmultlm. 

•$8.99 

TK3014 

TK3015 

XX-4/ Street Weapon Front Bulkhead • S36.99 
Slut anodiztd Iron< bulkhtC>d Super suong, suptr lronr btonng 
olignmem. 
Kinwald Purple Shock Shaft Seals • S2.49 
Replocemenr shock sholr s10ls lor all T10m Losi Auoclortd, HPI and 
Troxxqs cotS. Leu Mctlon ortd swtlllng. Shod.s stay filltd and smoother 
longer. 8 p~w. 

TK11 00 XX-4/Street Weapon light Weight Motor Heatslnk•S14.99 
Blve anodized alcJminum nu XX·4, StrH f W10pon and moil otiJt.r rouring 
cars ond buggies. 

\ ' . 

'~i'\<: 
' ' ' ' 

TK3027 XX-4/ Street Weapon Motor Spacer • S14.99 
Rep/Den srod< moi<K moun~ 1'11/ls hoar awoy from moror. KNpi moror 
coo/tor running. 

• 

19 



TK301 2 XX-4/Weapon Motor Mount Clamp • $1 9.99 
Blue anodized aluminum, keeps motor from moving, and absorbs mor~ 
motor Mar. Provision included for optional locking set screw. 

TK3025 XX-4/ Streel Weapon Servo Mount 
Blue anodized aluminum servo mount. 

•$1 2.99 

TK3028 XX-4 Weapon Monster Motor Heatsink •$23.99 
Special big heotslnk for cooling the motor M th~ XX-4 or Street Weapon. 
Extra cooling capo<lry. 

TK3033 
TK3035 

Street Weapon Foam Bumper w/Body Post Holes • $5.99 
Street Weapon Front&: Rear Sway Bar Kit •$ 10.99 
Designed by £/lis Stafford and David Sposherr far the Teom £osi Srreer 
Weapon. Controls chassis leon in corners. Comes with everything you 
neW for front and rear .sway bars. Comes with 2 size wires for each end to 
dial in )'O(Jf Street Weopon lor any lrock. Reor swoy bor comes with .O.SS 
& .062 bars and front comes with .030 & .047 bars. 

TAMIYA TA-03 
Fi ts TA-03 4WD Touring Car. All purple aluminum parts are precision 
milled from super strong aluminum. Super light and super strong! 

TA-1 00 Front Pivot Arm Plate-Under Cover Set, 2 pes $39.99 

TA-101 Rear Pivot Arm Plate, 1 pc $29.99 

20 

TA-102 

TA-108 

TA· 109 
TA· 110 
TA· 111 
TA· 112 
TA· 113 

Steering Assembly w/Ball Bearings, 9 pes 

Aluminum Wheel Adapters, 4 pes 

Servo Mounts, fits TA-02/TA-03, 4 pes 
4 Pin Motor Heatsink 
Hard Coated Pulley Set 
Foam Touring Car Bumper 
Metric To American Pin Conversion 

$41.99 

$13.99 

$7.50 
$14.99 
$19.99 
$4.99 

•1 1.99 

OFF-ROAD ACCESSORIES 

RC6063 

RC6068 
RC7027 

Off-Road Tire Balancer $24.99 
Bolonc.e yout off-rood lifr!'S at Ihe (rode In second$. Makes your bvggy rvn 
smoother ond foster. 
Extra Balancing lead Tape, 6 inches 
Pack Pillows 

$0.99 
$3.29 

Put on chassis under boltel)' padc to keep pock from sliding around. 
Protects pock and chassis. 

RC7382 Precision 1/8" Hinge Pin Reamer • $16.99 
Reamer for hfnge pins and sus~nrion Ofms of off-rood cors. Work$ great 
fat on-rood steering blocks ond dill ball holes. 

TEAM KINWALD DESICNED OFF-ROAD PARTS 
1997 World Champion Brian Kinwald has designed a complete line 
of super high quality aftermarket accessories for the most popular 
off-road vehicles. Many of these parts are items that could only be 
found on the team cars of losi and Associated. Now they are 
available to all drivers. 

TEAM lOSI XX-4 
For photos of XX·4 parts turn to pc1ge J 9 and look at Street Weopon touring car ports. 
Most ports ore interchcmgoble. The ones that ore are so marked. 
TK1 100 XX-4/ Street Weapon Motor Heatsink • $14.99 

Blue anodized aluminum filS XX·4 .. Street Weopo, at)d most touring cars. 
TK3000 XX-4/ Rear Sway Bar • $11 .99 

Bo/u on in seconds, no hole$ to drill .. 093 and .078 wires. 

i 

\ 



TK3016 

TK3017 
TK3001 
TK3009 

TK3012 

TK3014 

TK3025 

TK3027 
TK3028 

TK3029 

TK3032 

XX-4/ .063 Sway Bar Wire. 
Comt< with pr•bMI wi,. and lop mount. Work< with TKJOOO 

.055 Sway Bar Wire 
XX-4/Weapon Steering Ball Bearings, 4 
XX-4/Weapon Rear Suspension Brace 
81ve anodized alvminvm. 

• S2.39 

• $2.39 
• $1 7.99 

• $8.99 

XX-4/Weapon Motor Mount Clamp • $19.99 
Blue anodized aluminum kteps motor from moving, ond absorbs more 
motor Mol. Prcwision indudtd lor oplionollo<J<Ing set >erow. 
XX-4/Street Weapon Front Bulkhead • $36.99 
8/u. anod11td front bulkh<od. wfHt strong, SU!Hf front l>«>ring 
o/ignrrwu. 

XX-4/ Street Weapon Servo Mount 
~ onodized olummum KtvO mount. 

• S 12.99 

XX-4/ Street Weapon Motor Spacer •S14.99 
XX-4/ Street Weapon Monster Motor Heatsink • $23.99 
SI)«<IO btg M<>ISink for cooling 1M mot« on 1M XX-4 "'Sltfft w"''""'. 
EAuo cooling capocir:y. 

XX-4/Weapon Aluminum Shock Bushing • S6.99 
Rtplow plastic ihock bu$hing. ftts all Ttom Losl off-rood wh~. Blue 
onodtltd. 4 pieces. 

XX-4 Transponder Mount • $2.99 
Lexon transponder mounr screws to lh«k lOWtf with tASisling screws. 

TEAM LOSI XX-CR XXT-CR 

TK3002 Team Kinwald XX Front Suspension Brace. S8.29 
Srm>glhtm frott1 bulkMod in cos. of o aosh. Firs oil xx ond x x-<R 
buggies and rtueks. 

TK3003 Team Kinwald Double XX Rear Transmission Brace $7.99 

TK3004 
TK3080 

Fits truck and buggies. 
Team Kinwald Suspension Shim Set 
XX-CR Wide Front Axles 

$4.99 
• $5.99 

Thou wtdtr front axles wld<n 1M ftotllltO<k of rour Ttom Losi XX·CR 
buggy fo< greor..- 11obi6ry. Reploc.s 11ock axlts. 

TK3029 Aluminum Shock Bushing XX-CR/XXT-CR • $6.99 
Rtplocts plastic shock bushing. Fiu oil Teom Losi off-rood v~hidts. Blue 
onod•red. 4 pieces. 

TK3030 XX-CR/XXT-CR Transmission Brace • S15.99 
N- dnign Stobilizts moun ling oflronsn"u.on. Srtff"'' shock law«. Blue 
ortt:Jdized ofuminum. 

TEAM LOS I CTX 
TK3008 Team Kinwald CTX Front Bulkhead Brace 
TK301 0 CTX 2' Rear Toe In Suspension Mounts 

TK3011 
Bltlt! onodited aluminum. 

CTX 4' Rear Toe In Suspension Mounts 
Replaces pfostk mounts on Team Lo.sj CTX. 

S9.99 
S29.99 

$29.99 

TK3066 CTX Long Front Hinge Pins For Brace • S2.99 
tong front hingt plrri for us. with lht Ttom Kinwold f K3008 GTX Iron! 
"'"""'ion broct. 

TK3026 CTX Aluminum Servo Mounts •S26.99 

ASSOCIATED B3/T3 

TK3005 Team Kinwald B3/T3 Transmission Brace • S12.99 
Strtngthtns lht mounting of the tronsmission ond tM shock tower. KtepS 
tronsmlulon case stiffer foro smoolher running gear box. 

TRAXXAS 

TK3021 Traxxas Front Suspension Brace •S 10.99 
ktp> IM front bulkMod from bnoking in cose olo btg wreci. F;u 
~u>tltr, Sl""""*, Bondi~ S~T ond <my «KW>Ih ZSJO hotlt bulthtod 

All OFF ROAD CARS 
TK3006 Team Kinwald Countersunk Buggy Washers • S4.99 

Th~s.r countmvnlc woshers let you usr o flot heod suew ~tt o pon or 
bullon htod wew Is normolly u>ed. U>ed by Brion to 9<1 o b/ggtf 
prtmure area from the screws to hold things together tighttr. Grtc:tr to 
use under /lot heed screws rhot have started to pull through chouls. 

TK3031 Team Kinwald Blue Buggy Washers •S7.39 
s.m. o•-bur onodiztd ""'-· 

TK301 5 Kinwald Purple Shock Shaft Seals • S2.49 
Rep/oc.,.,l shock shaft Stoll f« oR Ttom losi, AljO(ioltd, HPI ond 
TroiUio• cors. tts•lricrion ond swelling. 

TK3020 Team Kinwald Cutman Big Boy Motor Screws • S 1. 99 
Hordmtd stttl metric motor screws thor u.se o wjde bose otummum 
mochin~ WOllw!r foro wider foot print. Uses standard , /J 6lh Wftr)('h 
which Is lnc.lvded. Keeps motor from slipping. Fits all olf·rood tOtJring and 
most on··rood cars. Also works great for mounting spur gtafl on HPI cars. 

ON-ROAD ACCESSORIES 
RE1 014L Johnson Lightweight T Bar Pivot Balls •$2.99 

Aluminum p;v.ot bolls tor Trinity and A.s$0(joted T bof3. Savts wtight. 
Ont polr. 

SB5230 S81 0 Wide Spring Steel T Bar • $21 .99 
Spnng slffi has o much btlltt memory lhon fibvgloss ond dots nor 
fotigUf os quid. KHpj cor much mott consi.sttiU runn;ng. For l'»gh 
l>onktdsuper~ Fill SBIOUondAljO(iottd IOLu 

SB5231 SB10 Narrow Spring Steel T Bar •S21 .99 
s.m. o• abo.-. bur mo" flajb/t. fo< Bot CG!ptf lrOCkJ "'l>u<rf>Y stippofy 
«J<<(ftft/otpho/1 rtOCkl. liu SBIO and AsKIC>ottd IOU• 

21 



RE1080 
RE1 081 
RE1082 
RE1 083 

.18 SB12/Assoc. 12L Short Front Spring Set • 11.99 
.20 SB12/Assoc. 12L Short Front Spring Set • 11.99 
.22 SB12/Assoc. 12L Short Front Spring Set • 11.99 
.24 SB12/Assoc. 12L Short Front Spring Set • 11.99 
Thtse shorr front springs fix lht problem em 1/' 2th cars of too mvch 
spring ln roo Jiule an area. Eliminates having way too much preload on 
Auoc.ioted and Trinity from suspensions. Jmprovts suspenslon ~ration. 

SILICONE SHOCK OIL 
100% pure silicone shock oil will not change weight regardless of 
conditions you have to race under. Special formula is resistant to 
temperature change and will not break down under use. No longer 
will you have to change your shock oil when the temperature drops 
right before the main. Used by legendary off-road stars Brian 
Kinwald, Chris Bing and Matt and Mark Francis in their Team Losi 
cars, along with Joel Magic Johnson, and David Spashett in their 
Switch Blade cars. 
RC7610 10 Weight Silicone Shock Oil 
RC7615 15 Weight Silicone Shock Oil 
RC7620 20 Weight Silicone Shock Oil 
RC7625 25 Weight Silicone Shock Oil 
RC7630 30 Weight Silicone Shock Oil 
RC7635 35 Weight Silicone Shock Oil 
RC7640 40 Weight Silicone Shock Oil 
RC7645 45 Weight Silicone Shock Oil 
RC7650 50 Weight Silicone Shock Oil 
RC7655 55 Weight Silicone Shock Oil 
RC7660 60 Weight Silicone Shock Oil 
RC7670 70 Weight Silicone Shock Oil 
RC7680 80 Weight Silicone Shock Oil 
RC7690 90 Weight Silicone Shock Oil 
RC71 00 100 Weight Silicone Shock Oil 

HALF WEIGHT SILICONE SHOCK OIL 

S3.50 
S3.50 
S3.50 
$3.50 
S3.50 
B .SO 
B.SO 
B.SO 
B. SO 
B .SO 
B.50 
S3.50 
S3.50 
S3.50 
S3.50 

Brian Kinwald used these half weight shock oils in his Team Losi XX­
CR buggy to win the IFMAR Off-Road World Championships. They 
allow for minor changes in your cars suspension dampening. Allows 
for changes on one end of the car without effecting the other end. 

RC7627 
RC7632 
RC7637 
RC7642 

2 7.5 Weight Pure Silicone Shock Oil 
32.5 Weight Pure Silicone Shock Oil 
3 7.5 Weight Pure Silicone Shock Oil 
42.5 Weight Pure Silicone Shock Oil 

SILICONE LUBES 
RC6009 
RC0292 
RC4442 
RC6050 

22 

Silicone In Squeeze Bottle, medium 
Silicone Differential Lube, fight 
Pure Silicone Dill Lube, heavy 
Purple Stuff Dampener Lube, extra heavy 

• S3.50 
• S3.50 
•S3.50 
• $3.50 

$4.99 
$5.99 
$2.99 
S1.99 

RC6070 
RC6071 
RC6072 

Red Stuff Dampener Lube, heavy S 1.99 
White Stuff Dampener Lube, medium S 1.99 
Joel's Slippage On-Road Dilf Lube •S5.99 

TK3070 

!oel/ohnson always uses this dill luM oo oil his natiotlols wirmlng cars. 
Losu longer. will not break down with us.t. Works great in damper tut>ts. 

Assembly Lube •$2.49 
Use on aluminum and stHI screws whtrt assembling. Leu screws go in 
eosjer. Htlps prttvtnt olumlnum scrtW.s ftom stripping. 

SCREWS 
PURPU HARD ANODIZED ALUMINUM SCREW KITS 
These purple aluminum screw kits lighten and dress up you off-road 
car. Kits include all •non stress• area screws and do not include all 
the screws lor the car. Just the ones that our race team feel can safely 
be changed. When using aluminum screws always use assembly lube 
on screws to prevent stripping or breaking off screws in chassis 
components. 

TRINITY 
RC6065 
RC6067 
RC6066 
SB5075 
SB5076 
SB5078 

On-Road Racers Screw Box 
Off-Road Racers Screw Box 
Screw Box Alone 
Switch Blade 10 On-Road 
Switch Blade 1 OSS Speedway 
Switch Blade 12 

ASSOCIATED 
RC6080 RC12LC On-Road 
RC6081 RC1 OL2 On-Road 
RC6082 RC 1 OL20 Super Speedway 
RC6083 RC1 0 B2/83 Buggy 
RC6084 RC1 OT3 Truck 
EV0159 RC1 OT2 Truck 

TEAM LOSt 
EV0161 Losi XX-CR Buggy 
EV0162 Losi XXT-CR Truck 
EV0163 Losi GTX Gas Truck 

R/ C TRANSMITTERS 
RC6045 Transmitter Screw Kit 

Fils Fvtol>o/KOI}R/Aintoooa 

S26.99 
$26.99 

S5.99 
$19.99 
s 19.99 

• S 19.99 

• S19.99 
• S19.99 
•S19.99 
• S18.99 
• S18.99 
$18.99 

• S19.99 
• S 19.99 
• S19.99 

$7.99 

HARD ANODIZED PURPLE SCREWS AND NUTS 
D1052 4-40x3/8 Cap Head Screws, 12 pc $4.99 
D1053 4-40x3/8 Flat Head Screws, 12 pc S4.99 
D1054 8-32x7/8 Flat Head Screws, 6 pc S2.99 
D1055 4-40x1/4 Cap Head Screws, 12 pc S4.99 
D1056 4-40x1' Cap Head Screws, 6 pc S2.99 
EV0150 2-56x1/4 Button Head Screws, 12 pc SS.99 
EV0151 8-32xS/ 8 Flat Head Screws, 12 pc S4.99 
EV0152 4-40x1 /2 Socket Head Screws, 12 pc S5.99 
EV0153 4-40x1 /2 Flat Head Screws, 12 pc S4.99 
EV0154 4-40x3/4 Socket Head Screws, 12 pc S4.99 
EV0143 4-40 Mini Lock Nuts, 8 pc S3.50 
EV0143-25 4-40 Mini Lock Nuts, 25 pc S8.99 
EV4054 8-32 Nuts, 8 pc S3.99 
RE1044 4-40x1 /4 Flat S4.99 

. 
' 

• 



TOOLS 

RC4053 

RC4054 
RC4528 

RC6018 
RC5002 
RC6063 

RC6064 

RC6068 
RC6069 

RC6686 

RC7020 

RC7021 

RC7022 

RC7023 

Comm Pen $6.99 
Tht comm pen i!l o ho11dy Ioolfor cleaning th~ commutator on slodc ond 
modified motON. jusr turn the hondle to expose 1~ fibtrgtou cltoning 
stltk. lnJ<On Into th•INvsh hood ond hold llghrly ogomst th< commvtotor 
whilt tuming tYvtf IN armature by hand. Also worlc.s grtot for rtmoving 
corbon bwld-vp "" lh• <nd oll>rvshn. u .. rh< Comm P.n olre< each 
n.m to kttp )'OUr motor runmng ble MW. 

Comm Pen Refill, 1 pc S 1.59 
Motor Spring Post Wrench S 14.99 
A must tw rtbuting ond cleomng motors. A n«<suty tw rurtmg 
commutotors on stock'""'""' Unsu...s rh< spnng po<l from th< •ndbdl 
.so hordwore con be removed 

Wire Cleaning Brush S4.75 
Battery Building Jig S9.99 
Off-Road nre Balancer S24.99 
Easy to use hand held tire balancer dMs the JOb In S«onds. Bolonces off­
rood rear tire$. tess vibration, mote top Spttd and bitter handling. Boll 
b<orlngs included. 

On-Road nre Balancer S24.99 
Sofi'Wt os obove but lor on·rood rear tires. RequlftS tht ust of a rear oxk 
ond wlrttl hub. 
Balancing Lead Tape Refill, 6 inches 
Touring Car nre Balancer 
BaiO()(t$ ott twring cor litt:i. 

S0.99 
• S25.99 

Hand Wash • $2.99 
£ojy IO "" '''"Mru hand dton<r /w"" Of th< IIOd. /l«pJ your hands 
lrtt ollwt' ltOCtiott. 

Quad Wrench, 4 way nut driver $5.29 
1ht Quod w,.tKh 11m o/1 th< popv/oT nur dttvm bu•~ lnro.,.,. tooL 11 
16, 1/ 4, I 1n1 ond 1/8'. Fitso/lth<nuu M )'OUT T10m LosiOt' 
AsSOCIOied bu9!JY Ot' IJud<! NIM!T pid< up th< WIOng tool ogo/n/ 

Pro Brush Slotter S49.99 
£011/y slot"' cut rour btu<Ms ro ony shop< rou """' A muJI tool lor th< 
""""' rac<J: foJY to odjusr ond us.. AddotiOT!OI Jlock '""'"' r<qwred. 

Precision Ride Height Adjuster Reamer $39.99 
This precision reamer when run lhrough your rear rldt htighl odJUllen 
will make your boll btorings fine tip perf«tly. Leu frktion for more rop 
speed. Also reams our center of spur gtor for perfect bollbloring fil. 

Curved Lexan Body Scissors $9.99 

RC7380 Ball End Wrench, fits Associated s 13.99 

24 

Tired of wr«l<ing )'OUT fmgt< M!ty lvn< 1")11 hovo 10 thrfod boll CCJpJ 

M/0 )'OUT tum bucldn! This handy tool will hold til< boR CUp SO th< 
tumbuck.k con toJify tw tlvtodtd &nfo 11. 

RC7381 

RC7382 

RC7913 

Ball End Wrench, fits Losi, RPM ball ends $17.99 
Samt os above, but is duol ended to fit Team Losi and RPM boll ends. 

Precision 1/8" Hinge Pin Reamer • S16.99 
R~mer for hinge pins ond suspens;.oo arms of off-toOd cars. Rtoms ho"s 
tht corrtcr Sill JO pJru fit correctly and suspuuiott worts smooth and fr«. 
Watts grtot '"' on·rood st .. nng blocks ond dill bot/ hoi., 

Brush Hood Altgnment Tool $12.99 
Aligns th< rnotOt' INvsh hoods on modifl<d moron so they or."'~"' 
wl!och each otht< rills l«ps lh< l>nJshn w.oring "'MMy ond mok., 111< 
um.ng ,,. ..,.. ""each Sid< ollh< .-. 

RC7914 Valve 0' Malic $19.99 
Small portable pm vise and drill blts for drilling holes in off-rood shock 
pisroru co tailor your shocks 10 any track wrloct. The bigg6tht holt In 
rl>< f)lllon th< quod<" tto<~•ng the shod< wt71 be. 

TRINITY PRO WRENCHES 
All new designed Pro Wrenches for the serious RIC racer. This purple 
anodized aluminum wrenches have a bigger easier to use handle and 
feature a new longer full1ength drill blank tip. Super hard tips on 
these wrenches are precbion ground from hardened drill blanks. 
Almost impossible to strip. Super tight Fit in screws to keep from 
stripping screw heads. Highly recommended for use with aluminum 
screws. 
RC7363 

RC7364 

.050 Pinion Set Screw Wrench S 12.99 
Flu a/164 pitch RIC pmkm geofl ond slot cor spur gears ond rear wh«ls. 
1/16th Wrench S 1 2. 99 
fiu $/40 .screw.s ustd in Losi and Trinity 48 pitch pinion goors. Also firs 
4/40 /lor hlOd Kf<WS. 

RC736B 5/64, (2mm) Wrench For losi Cars • S12.99 
!U.s onontd SCrtWJ on Losi bugg~s rMIIJtlinglhe CTX ond th~ htads on 

RC7365 

RC7366 

RC7367 

l'l'lOil gas trtJCic Mg1nn. 
3/32 Wrench, fits 4/40 screws 
~ott tiw most common~ su" used in RIC an. 

Metric Pinion Wrench 
fits Tomyo ond K)'Olho _.k 

2.5 mm Motor Wrench, fits motor screws. 
Standard sut wrtnch for oil motor mocmting sc.rtwS. 

DRILL BLANK WRENCH TIPS 
Fit all drill blank wrenches 
RC6055 .050 Pinion Wrench nps (1 pc.) 
RC6005 .050 Wrench nps (6 pc.) 
RC7060 1 /16th Wrench Tip 
RC7064 5/64, (2mm) Wrench np 
RC7061 3/32 Wrench Tip 
RC7062 Metric Pinion Tip 
RC7063 Motor Screw Wrench np 

$12.99 

s 12.99 

s 12.99 

S6.99 
S39.99 

S6.99 
•$6.99 
$6.99 
$6.99 
S6.99 

• 



' 

TEAM KINWALD HARD ANODIZED BLUE 
ALUMINUM SCREW KITS 
These blue aluminum screw kits lighten and dress up you off-road 
car. Kits include all "non stress" area screws and do not include all 
the screws lor the car. just the ones that Brian and Greg reel can 
safely be changed. When using aluminum screws always use 
assembly lube on screws to prevent stripping or breaking olf screws 
ln chassis components. 
TK3060 XX-CR Blue Aluminum Screw Kit 
TK306 1 XXT-CR Blue Aluminum Screw Kit 
TK3062 XX-4 Blue Aluminum Screw Kit 
TK3065 Street Weapon Blue Screw Kit 

• $21 .99 
• $21.99 
• $18.99 
• S18.99 

HARD ANODIZED BLUE SCREWS AND NUTS 
TK3050 
TK3051 
TK3052 
TK3053 
TK3054 
TK3055 
TK3056 
TK3057 
TK3058 
TK3059 
TK3063 

4/40 x 1/4, Flat, 2 pc.s, (losi 621 3) 
2/56 x 3/8 Button, 12 pc.s, (losi 6225) 
4/ 40 x 3/8 Button, 12 pes, (losi 6229) 
4/ 40 x 3/8 Cap, 12 pes, (losi 6206) 
4/ 40 x 3/8 Flat, 12 pes, (Losi 621 0) 
4/ 40 x 1/ 2 Cap, 12 pes, (Losi 6204) 
4/40 x 1/ 2 Flat, 12 pes, (Losi 6220) 
4/40 X 1 Cap 6 pes, (Losi 6223) 
4/40 Mini Lock Nut, 12 pes, (Losi 6305) 
10/32 Wheel Nut, 2 pes, (Losi 6303) 
Team Kinwald Off-Road Blue Screw Box 

•$4.99 
• $5.99 
• $4.99 
• $4.99 
• $4.99 
• $5.99 
• $4.99 
• $2.99 
• $8.99 
• S1 .99 

• $27.99 
AJ.sottmenr of popuJot sized bltH! aluminum .scrtwSior o/1 off-rood COt kits. 
In p/o>ll< >!OR>gt box. 

TK3070 Assembly Lube • S2.49 
1M on~ ond <ra!l «<....., w1ltr1 en~. ltU «<<w< go in 
..,...,, II<Jp< - aluminum <CflW< from <tnpputg 

SET SCREWS 
RC01 11 
RC021 1 

4/40 Set Screws For Pinions, I 0 pc 
5/40 Screws For Losi/Trinity 48P Pinions, I 0 pc 

SERVO MOUNTS 

S2.25 
• S2.99 

TIRE TRACTION 
TK2003 Team Kinwald Buggy Grip'M 2 $7.99 

Suptr conditioning agent for all off-fOOd tirts. Spray on yoor tirts tM 
night bf(Of~ you roce to sohen and condition tM tubber. Righi btfort you 
roce you should sproy Bvggy Crip z on your tirtJ to gttthe ma~lmmn 
traction. 

TK2005 Replacement Spray Top for Buggy Grip S 1.59 

RC6073 

RC6074 
RC6680 

RC6683 

RC6677 

RC6016 

joe l johnson's Touring Car Tire Tamer • S8.99 
Two port lormulo tor cltonlrtg and increasing uoction of oil rtJbber tourmg 
cor rlrts. Also works on Off-rood ond copped tires. Port One deans and 
Parr Two mokes tires 110turofly sllci.y. 

Tire Tamer Cleaner Refill, 8 ounce • S1 4.99 
Zip Grip' M, universal traction S6.99 
lip Gdp Is our standard all around loom rir~ troctlon compound b~ndM 
tsptCially lOt th• new "Natvral' rubber compounds 1/kt pink, whitt. gold 
t>tc. lip Cop ~s troction and also conditioru tht rubbtr 10 'ts 
notCJrol stklcinns h enhcmced. Easily losrs 8 m;,'lutts. 
Z.ip Grip Free'M $6.99 
z., Gnp F<tt b a !IOdl<ln we dtvelop«< !ho! -*< OJ wtll os z., Gnp. 
1M dots 110( conta.n ""Y wmr_..,._ Thb is ltgollor rocn ..,.,. 
odorlm !ro<IIOO b mjV«ed, eJpedally m luropt. 
ProStik' .. , carpet tire traction S6.99 
EJtctiiMr Indoor rlrt !IOC!ioo. WO<k< b<Jt mth nondotd 1oom compound< 
hkt 9tttn. blut, OI'O"!J'. yo/low. 
Magic Bile Red Dot'"' outdoor fraction $6.99 
Super stkky compound for outdoor racing with on t)"PtS of loom rim. A 
must for slipptry track conditions. 

RC6684 Tire Tweak 2000"" $6.99 
Tir«> rwtOk '' a sohlt.on cksigMd co wren and condition on·rood loom 
tirt<. Apply ro torn tht night bdoa ro condition and sol!tn nd>lltt; U<t on 
top ol "'' troctiOtl wch a> Zip Grip ex l'otogon ro ktrp tht rroaion !rom 
dtytng our. lffi(KTJVn !IOCllon lormulo pHfotmonct. 1t1cmnn rroct""' 
cOtf'IPO(Jitd lift on t.rodc. VK msteod of .suntan lotiM. Ktri.s wtth stoottxloxlm;dd 
and txOl.lc robbtr loom lit-es. 

RC6053 Adjustable Purple Aluminum Mounts S I 0.99 RC6685 
Mochirttd ol1.1minvm servo mounu lot pon CON. Mouttts Stl'\'0 at ortg~ for 

David Spashett's Tangerine Tyre Tack 1M •S7.50 
NOtt-wintrrgrun bostd tyre troction lor foam and ttOturo/ rubbfr on·rood 
ryra Devtloptd by David Sposhert npedoltyfor 6 <tlll/11rh ond Stf\10 wver deorcmce. Come1 wirh mouming hardware. 

SERVO TAPE 
RC6000 
RC6001 
RC6007 

Narrow Servo Tape, 3/ 4' 
Wide Servo Tape, 1 1/2" 
Wing and Spoiler Tape, super thin 

TIE WRAPS 
0672 Fluorescent Tie Wraps, 8' 16 pc.s 
0677 Mini Fluorescent Tie Wraps, 4" 25 pes 

$3.29 
$3.79 
S2.99 

$2.49 
$2.59 

I/ I Oth CO!pf!l racing. Super high traction yel ir dots r'IOt cause prtmotute 
weor of lyrts. OtJigMd to lost 8 minvtes. 

Old y"" IG.ow .».u· r:H.? v~ n ~ JW ~ 
At The lJ.!> 1-ld.« ~ n Q.e./.Lnl \V ''" t.b 8th 
JW 9th n The 18 Y ... U.t.ry Of The !;.vent? 

y.., w..J.l hole t.. tal tt.. r....t 6 ...,.,.. .tn t..t.ls M>d od4 
them ..,. t.. ....,. ..IHU clonwtir>n of ths <V...t. ~'"" ...,, 
_ ......... ..IHU •!msl of?>·~~ !ill.... Orly ?> 
- ......... ,.,. ~ ......... olk t.. Wn -· it.... """ 11\IY .,. 
""' IJ.'...t. ~ bid! M>d T.,.,. IUtt. All t!ra hole 2 
~~..~~oer .... 

23 



• 

WINC BUTTONS 
RC601 1 Purple Aluminum Pro Wing Buttons 
TK3034 Team Kinwald Blue Pro Wing Buttons 
RC6012 Pro Buttons W/ Bent Wire for chassis mount 
RC6013 Pro Buttons W/ Bent Wire for body mount 
RC8027 Team Kinwald Low Profile Wing Mounting Kit 
'For dtscnpt.oru of 1M abovt pltoS# Iooft under the body<><<""")' >«t-. 

OFFICIAL TEAM SHIRTS 
RC9701 
RC9702 
RC9703 
RC9704 

RC9705 
RC9706 
RC9707 
RC9708 

Trinity Team '97 T Shirt, Large 
Trinity Team '97 T Shirt, X Large 
Trinity Team '97 T Shirt, XX Large 
Trinity Team '97 T Shirt, XXX Large 
Trinity T""" Shirts. 8lodc wrth logo an both sides. 

Trinity Losi Team '97 Dirt Shirt. Large 
Trinity Losi Team '97 Dirt Shirt, X Large 
Trinity Losi Team '97 Dirt Shirt, XX Large 
Trinity Losi Team '97 Shirt, XXX Large 
Official Teom Trinity/tosi 0 11-Rood Shirt 

S4.49 
$4.49 
S5.49 
S5.49 

• S5.49 

' ·S15.00 
'-S1 5.00 
' -$15.00 
·-s 15.oo 

· -$15.00 
· -$15.00 
· -$15.00 
· -$15.00 

RC9731 
RC9732 
RC9733 
RC9734 

Kinwald World Champion Shirt (L) • '$15.00 
Kinwald World Champion Shirt (XL) • '$15.00 
Kinwald World Champion Shirt (XXL) • 'S 15.00 
Kinwald World Champion Shirt (XXXL) • •S 15.00 
Speaal shofl to,.,.,.,.,.,.,,, 8non Kinwolds I 991 lfMAR World 
Chomptanship. Drfftrtnllrom litmted edilion -Ids shofl. 

TRINITY OFFICIAL TEAM HAT 
RC9126 Trinity Team Hat $25.00 

OFFICIAL TEAM TRINITY JACKETS 
Lightweight black jacket with Trinity logo on back and Team Kinwald 
and VIS logos on front. Completely embroidered! 
RC9129 X Large ' $69.99 

STICKERS 
RC9718 Brian Kinwald Off-Road Sticker Sheet •$4.99 

RC9719 

RC9015 
RC9016 
SS2239 

$Qme exocr yellOw ond blue trinity ond Lo5i klgos thor Brion uses on his 
bodi<>. Also cam<> with 0 1 VIS EX-TRA lagos and 3·0 tM k grill work. 
joel Johnson On-Road Sticker Sheet •$4.99 
/0<1~ stkJ< sht-tts ltotur<> or the lagos )'CIU nted lOT doing up )'0111' an-rood 
cor body. Thrt< dJI<rmt colored Trimly lagos plus SWitch l!lotk, 01, 
X-Slar, VIS EX·TRA and o;htr assorted lagos. 
Stock Car Sticker Sheet 
Touring Car Sticker Sheet, w/ numbers 
Street Spec Sticker Sheet 

$5.99 
$5.99 
$3.99 

HAULER AND TRANSMITTER BACS 
RC9031 

RC9033 

RC9032 

The Pouch, CD carrying case, purple 

~ - ~ 
,• .. • .. 

•'• 
•'• 
~:, ' . .. 1-.-: .. _ 

$15.99 

Trinity Team Transmitter Sag • $24.95 
N..., dts.gn fits all the lottst rodloi from Futobo, KO and AirtrOIIICS. Blo<k 
mth Ttrt1fry logo on ''· 

Trinity Logo Transmitter Bag $24.95 
8lodc with color logos. 

RC9075 Monster Cargo Bag S49.99 
U$t our M011.ster Cargo Bog ro corry o/1 your RIC tquipmeru ro rh~ rrock. 
~porote compottmem ro hold your rod;o ond rirn. ond o sp«1ol pocktt 
to hold tnxtian bottle> >a they do no; 1{)41 over. Block with lull color lagos 
II shcoJidor strop. 

RC9125 Monster Of Dirt Hauler Bag $45.00 
Hauler bog comes with J big box<> 10 starr )'OUr cor, rotbo and port>. 
Block wrth "'" color lagos. 

RC9030 Hauler Bag Boxes • S 10.99 
Reploctmenl inntr cordboord boxts for Tr~nity houlet bogs. J piKts. 

VIDEO 
RC9725 IFMAR Worlds Video VHS Format, one hour • ' S23.99 

25 



SB501 0 Switch Blade 1 O'M On-Road kit •S299.99 

The SB 1 0 has lived up to its expectations winning the ROAR On­
Road National t itle in the hands o f joel johnson, and the European 
Championship and the Brit ish National Championships in the hands 
of David Spashett. These prestigious wins along with other European 
titles has made the SB10 the on-road car of choice for all the best 
drivers throughout the world. 

The SBI 0 features a molded Radical Reactive Caster"' front 
suspension that not only offers a handling improvement over the 
older style utilized on the EV1 0, but is super easy to assemble and 
track tune. Caster, camber, and roll center are easy to adjust. You 
have your choice of 0 or 1 0 degrees of reactive caster to fine tune 
your car to any track condition. 

26 

I 9 9 7 R 0 A R Ht1ticmae Ckt1ttt~ io,~t 
J o,ee •• Ktt1g i.e J o.klt3 o.~t" 

19 9 7 'B~ti.t~k Ht1tio.1tt1e Ckt1ttt~io.1t 
I 9 9 7 E Wto.~ et11t Ckattt~ io.~t 

'OClttid. S~MkeU 
• TRC Tires 

• Light weight rear hubs and super true 
composite axle. 

• Precision ball bearings throughout. 

• zero Friction spur gear. 

• Motor weight centered. 

• carbon Fiber chassis components. 

• All light weight aluminum screws. 

• Trailing link rear suspension system. No ·y· 
bars to replace. better performance on bumpy 
tracks. 

•rhree shocks to let you fine tune side to side 
and front to rear dampening and spring rates. 

• Battery pack Is centralized for better weight 
distribution and higher bite on slippery tracks. 

• Easy to build and tune SB10 Reactive caster"" 
front suspension. 

The SB1 0 featurts our famous Tri-shock trailing link rear suspension, 
which has proven superior to other suspension systems for on-r9f.d 
racing. No "T" !bars to replace every couple of runs. The 3 shocwanow 
for fine tuning tof side to side and front to back dampening and spring 
rates. Tweaki1'g is easy to do with just a tum of the side shock spring 
adjustors. /. 

The batteries have been moved from the center front to rear mount­
ing, as on the EV1 0, to a more centralized saddle pack configuration. 
This change makes the car more consistent from track to track and 
increases rear end traction which nicely balances the better tum-in 
afforded bfthe new front suspension geometry. 



Switch Blade 10 on-Road Parts List 
All these parts are the direct replacement parts for your Switch 
Blade 10 on-road car kit. All hop-up parts are listed in the 
complete car parts listing on page 3B. 

Port N 

EV0027 
EV0030 
EV0032 
EV0033 
EV0034 
EV003S 
EV0036N 
EV0037 
EV0038 
EV0039 
EV0040 
EV0042 
EV0047 
EV0048 
EV0049 
EVOOS3 
EVOOS6 
EVOOS7 
EVOOS8 
EV0059 
EV0062 
EV0063 
EV0064 
EV006S 
EV0066 
EV0068 
EV0069 
EV0071 
EV0072 
EV0073 
EV0074 
EV007S 
EV0076 
EV0078 
EV0079 
EV0080 
EV0081 
EV0082 
EV008S 
EV0086 
EV0087 
EV0088 
EV0091 
EV0092 
EV0093 
EV01 10 
EV0133 
EV0139 
EV1001 
EV4011 
EV4018 
EV4022 
EV4030 
EV4030-1 
EV4030-5 
EV4030-8 

Item 

1.125' x 4-40 Turnbuckle 
Nylon Ball Cup 
Complete Micro Shock 
Aluminum Micro Shock Body 
Nylon Micro Shock Cylinder Nut 
Silicone 0-ring, Micro Shock 
Nylon Adjuster Nut, M icro Shock 
Inner Pressure Spring 
Aluminum Shock Shaft Cap 
M icro Shock Shaft 
Brass Micro Shock Shaft Washer 
Micro Shock Spring 11 lb. 
4-40 Ball Stud 
4-40 Mini Locknut 
8-32 x 7/8' Flat Head Screw 
Front Spacer Set 
1/4' x 3/8' Unflanged Bearing 
1/ 4' x 3/8' Flanged Bearing 
1/ 8' Steel Washers 
E Clips (0.125' ) 
Nylon Left Bulkhead 
Aluminum Right Bulkhead 
4-40 x 3/ 8' Steel Flat Head Screw 
4-40 x 3/ 8' Steel Cap Head Screw 
Graphite Pivot Ball Plate 
1/ 4' Aluminum Pivot Ball 
3/16' x .895 Aluminum Standoff 
2-56 Steel Button Head Screws 
Nylon Pivot Ball Socket Set 
1/8' Thick Aluminum Spacer 
4-40 x 1/ 2" Steel Flat Head Screw 
Nylon Ball Unk Socket 
Aluminum Control link Ball 
On-Road Aluminum Dill Hub 
On-Road Aluminum Left Hub 
Thrust Cone 
Belleville Washer 
Nylon Axle Shim Set 
2' Nylon Body Posts 
Nylon Body Post Collars 
4-40 x 1/ 8' Set Screws 
On-Road Alum. Steering Turnbuckles 
Ride Height Adjuster Set 
Dill Balls 
Dill Rings 
Silicone Diff Lube 
On-Road Solid Graphite Axle 
Micro Shock Rebuild Kit 
Antenna/ Shock Mount 
1/ 8' x 5/ 16' Flanged Bearings 
8 -32 Aluminum Nuts 
Large Volume Shock Rebuild Kit 
Large Volume Shock 
Large Volume Shock Shaft 
Large Volume Shock Nylon Adj. Nut 
Large Volume Shock Shaft End Cap 

Qty 

4 
4 
1 
1 
2 
4 
2 
4 
2 
2 
4 
2 
4 
8 
4 
2 
1 
2 
4 
12 
1 
1 
8 
8 
1 
2 
2 
8 
1 
2 
8 
4 
4 
1 
1 
1 
4 

1set 
4 
4 
8 
2 
1 
12 
2 
1 
1 
1 
1 
2 
4 
1 
1 
1 
2 
1 

Price 

$8.99 
S1.99 

s 17.99 
$7.99 
$3.49 
$0.99 
S3.49 
$2.99 
$8.99 
$9.99 
$1.49 
$2.00 
$3.99 
$2.99 
$2.29 
$3.59 
$7.50 

$14.00 
$0.99 
$1.49 
$1.99 

s 10.99 
$1.49 
$1.49 
$3.99 
S2.99 
$1.99 
$1.99 
$1.99 
'$0.99 
$1.49 
$2.49 
$3.99 

$14.99 
$9.99 
$1.99 
$1.99 
$2.69 
$3.99 
$1.49 
$1.29 
$5.99 
$2.69 
$2.99 
$1.69 
$2.50 

$22.00 
$6.99 
$1.29 

$14.00 
$1.49 
$3.59 

$25.99 
$7.99 
$2.99 
$4.99 

6-32 Nylon locknut 
Econo Body Clips 
4-40 x 1/ 8" Set Screw 
.022' Front Spring 
1/ 10 On-Road Front Suspension 
Lower Suspension Arms 
Upper Susp. Arms 
Upper/ lower Susp. Arm Ball 
Upper Arm M ounts (0 6t 1 0 degree) 
Upper Arm Eyelet 
Upper Susp. Arm Turnbuckle 
Upper Arm Hinge Pins 
E Clips (0.093") 
Offset Steering Blocks 
Stub Axle 
Front Kingpins 
Servo Mount w/ screws 

4 s 1.99 
6 $1.25 
1 S0.99 
2 $1.99 
1 $39.99 

1 pr S3.SO 
1 pr S3.00 
4 $6.00 
4 H . .SO 
2 $1.50 
2 $4.50 

1 pr S2.00 
12 $0.99 
1 pr $2.00 
1 pr S3.00 
2 $3.00 

1pr $2.00 
8 $0.99 
1 $9.99 

EV6012 
RC6100 
RE1 042 
RE1056 
SBSOOO 
S85020 
S85021 
SB5022 
SB5023 
SB5024 
SB.S025 
SB.S026 
SB5027 
SB.S028 
SB5029 
SB5030 
SB5033 
SB5034 
SB5035 
SB5038 
SB5039 
SB5040 
SB5085 
SB5087 
SB5100 
SB5300 
SB5301 
SB5302 
SB5303 
SB5304 
SG120 

4-40 x 1/ 4" Steel Flat Head Screws 
Graphite Front Suspension Brace 
Camber Gain Spacers 1set $1 .99 
1 . 1" Standoff 1 s 1.29 
4-40 x .425 Standoff (for Battery Plate) 
0.050' Alum. Rear Axle Spacer 

2 $1.99 
2 S1.59 

0.1 50' Alum. Rear Axle Spacer 2 s 1.59 
SB1 0 Ball Bearing Set 1 $58.99 
5810 On-Road Graphite Chassis 
SB1 0 Graphite Bottom Plate 
SB1 0 Graphite Top Plate 

1 $65.00 
1 $20.99 
1 S12.99 

SB1 0 Graphite Top Shock Plate 
SB10 Fiberg lass Battery Hold-Down 
Spur Gear (1 20 Tooth) 

1 $20.99 
1 $11.99 
1 B.99 

JOb.L JOJ.Jr,bON6 NOTb.E>OOK::.: 
my 10 best car building t ips 

1. M ake sure you have a good set of wrenches, sharp x-acto 
knife and a good set of files. 

2. Work on a big towel so if you drop a screw or washer it will 
not bounce off your work bench and on to the floor. 

3. Read the instructions completely through first. Make sure 
you understand them before opening any parts bags. 

4. Open the parts bags only as needed. Put the parts in an ash 
tray or coffee cup of they can not roll away or get lost. 

5. Prefit all parts to make sure they fit correctly. Remove any 
flashing with your knife and make sure all parts that are to 
rotate or slide do so freely. 

6. Polish any moving parts like pivot balls and kingpins for a 
smoother operation. This will be reflected In lower lap times. 

7. Tap all screw holes, or if lacking taps, prethread a steel screw 
in parts before using aluminum screws. Always use Trinity 
assembly lube on screws. 

8. Never overtighten any screw! 

9. Never force anything! 

1 0 . Take your time! 

27 



Switch Blade 10 

""""" - - ' ' ' -~~~-- £\'::' . """' ... ..,~~ 
- - w bbb .® 
cP~~ ~ (}'-:---- ~· -,, ' ' ' 

._ 
n ~~ 
-
""""~ 

.. .,., ·-.,...., 

' 
~--,, 

' ' " ' ' ' ' ' ""' ' ' 
' ' ' ' """ ' ' ' _, 

' --- -'-,......, 

'(1) 
,...., 

~·-· 
~~!/"""' .,...,. 

"~· •, 
~#'!!/ ---~ . """' t..~ 

- ~"""' ._,, / "" <~~ 
,_ ~ ~~"':., 

~)\& ,__/> 
""""' 

~. 
"~ 

~'­
~ ....,.. 

TRINITY PRODUCTS INC. (l() 
N 



• 

1997 Wi~ttett 'BeMt Cktu•t~ io.Jt 
F rtaJtk. 'P o.eittttuf.a 

1997 ROAR Ca~t~et Ouae Cltattt~io.~t 
Kilthy Ha~td. 

• TRC Foam Tires 

• light weight rear hubs and super true 
composite axle. 

• Precision ball bearings throughout. 

• zero Friction spur gear. 

• Motor weight centered. 

• carbon Fiber chassis components. 

• All light weight aluminum screws. 

• Choice of trailing li nk or "T" bar rear 
suspension makes the SB10ss the most 
tunable oval car ever. 

• Three shocks to let you fine tune side to side 
and front to rear dampening and spring rates. 

• Battery pack is ca n be moved side to side and 
foward to fine t une handling. 

• Easy to build and tune SB10 Reactive casterTM 
front suspension. 

SB5015 Switch Blade 1 Oss Super Speedway Kit S299.99 SB5016 Switch Blade lOss T Bar Super Speedway Kit • S285.00 

The Switch Blade 1 Oss like its on-road counterpart features the new 
Reactive Caster'M front suspension which allows for better turn-in at 
both high and low speeds. 7 wide battery slots allow you to move the 
battery pack front to rear and side to side. This allows you the ability 
to tune the left side weight bias for any track conditions you could 
possibly encounter. The famous Tri-shock trailing link rear suspension 
comes standard as does a "T" bar set-up. This allows even more 
tuning options and the ability to dial in your car on even the roughest 
track. With both types of rear suspension, you will be able to 
dominate at any track you go to with your SB1 Ossl 

New for 1998 is a "T" bar only version of the Switch Blade 1 Oss. This 
new version is lighter as it eliminates the 2 side shocks and springs 
and uses a dampner tube to control the side dampening. Besides the 
weight savings the lower cost will make it easier on your pocket· 
book. 

The Switch Blade 1 Oss was designed to use standard d imension "T" 
bars as used on the Associated 1 Olss and Hyperdrive cars making for 
a large variety of different "T" bars to choose from when tuning your 
car. 

•eors Shown 1n P1101os Moy Comoln Prt·ptOdudion And Alt~rk<t Pond 

29 



Switch Blade 10ss Speedway Parts List 
All these parts are the direct replacement p arts for your Switch 
Blad e 1 Oss Sp eedw ay kit. All hop-up parts are listed In the 
complete ca r parts listing on page 38. 

EV0027 
EV0030 
EV0032 
EV0033 
EV0034 
EV0035 
EV0036N 
EV0037 
EV0038 
EV0039 
EV0040 
EV0042 
EV0047 
EV0048 
EV0049 
EV0053 
EV0056 
EV0057 
EV0058 
EV0059 
EV0062 
EV0063 
EV0064 
EV0065 
EV0068 
EV0069 
EV0071 
EV0072 
EV0073 
EV0074 
EV0075 
EV0076 
EVOOSO 
EV0081 
EV0082 
EV0086 
EV0087 
EV0091 
EV0092 
EV0093 
EV0110 
EV0136 
EV0137 
EV0139 
EV1001 
EV4008 
EV4009 
EV4011 
EV4016 
EV401 7 
EV4018 
EV4021 
EV4022 
EV4030 
EV4030-1 
EV4030-5 

30 

1 .125' x 4·40 Turnbuckle' 
Nylon Ball Cup 
Complete Micro Shock• 
Aluminum Micro Shock Body" 
Nylon Micro Shock Cylinder Nut• 
Silicone 0-ring, Micro Shock• 
Nylon Adjuster Nut. Micro Shock• 
Inner Pressure Spring• 
Aluminum Shock Shaft Cap• 
M icro Shock Shaft' 
Brass Micro Shock Shaft Washer• 
Micro Shock Spring 11 lb. • 
4-40 Ball Stud 
4·40 Mini Locknut 
8-32 x 7 /8" Flat Head Screw 
front Spacer Set 
1/ 4" x 3/8' Unflanged Bearing 
1/4' x 3/8' Flanged Bearing 
1 /8' Steel Washers 
E Clips (0.125") 
Nylon left Bulkhead 
Aluminum Right Bulkhead 
4·40 x 3/8" Steel Flat Head Screw 
4-40 x 3/8" Steel Cap Head Screw 
1 /4" Aluminum Pivot Ball 
3/16' x .B95 Aluminum Standoff 
2-56 Steel Button Head Screws 
Nylon Pivot Ball Socket Set 
1/8' Thick Aluminum Spacer• 
4·40 x 1/2" Steel Flat Head Screw 
Nylon Ball Link Socket• 
Aluminum Control Unk Ball" 
Thrust Cone 
Belleville Washer 
Nylon Axle Shim Set 
Nylon Body Post Collars 
4-40 x 1/8" Set Screws 
Ride Height Adjuster Set 
Diff Balls 
Diff Rings 
Silicone Diff Lube 
E.xtension Ball Studs Short• 
Extension Ball Studs Long 
Micro Shock Rebuild Kit * 
Ant./Shock Mount 
SS Aluminum Diff Hub 
SS Aluminum Left Hub 
1/8' x 5/ 16' Flanged Bearings 
3' Nylon Body Posts 
5S Aluminum Steering Turnbuckles 
B-32 Aluminum Nuts 
SS Solid Graphite Axle 
Large Volume Shock Rebuild Kit 
large Volume Shock 
large Volume Shock Shaft 
large Voume Shock Nylon Adj. Nut 

Qty 

4 
4 
1 
1 
2 
4 
2 
4 
2 
2 
4 
2 
4 
8 
4 
2 
1 
2 
4 
12 
1 
1 
8 
8 
2 
2 
B 
1 
2 
8 
4 
4 
1 
4 

!set 
4 
8 
1 

12 
2 
1 
4 
4 
1 
1 
1 
1 
2 
4 
2 
4 
1 
1 
1 
1 
2 

Price 

$8.99 
$1.99 

S17.99 
$7.99 
$3.49 
$0.99 
S3.49 
$2.99 
$8.99 
$9.99 
$1.49 
$2.00 
$3.99 
$2.99 
$2.29 
$3.59 
$7.50 

s 14.00 
$0.99 
$1.49 
$1.99 

$10.99 
s 1.49 
$1 .49 
$2.99 
$1.99 
$1 .99 
$1.99 
$0.99 
$1.49 
$2.49 
$3.99 
S1.99 
$1.99 
$2.69 
S1.49 
$1.29 
$2.69 
$2.99 
$1.69 
$2.50 
$5.99 
$6.99 
$6.99 
$1.29 

S1 0.99 
$9.99 

$14.00 
$3.99 
$6.99 
s 1.49 

$22.99 
$3.59 

$25.99 
$7.99 
$2.99 

EV4030-8 
EV6012 
RC6100 
RE1 039 
RE1 042 
RE1056 
SB5001 
SB5020 
SB5021 
SB5022 
SB5023 
SB5024 
SB5025 
S85026 
585027 
SB5028 
SB5029 
585030 
S85033 
585034 
SB5036 
$850 38 
SB5039 
5851 01 
SB5200 
SB5201 
SB5202 
585203 
SB5204 
SB5205 
SB5206 
SB5220 
SG120 

Large Volume Shock Shaft End Cap 
6-32 Nylon Locknut 
Econo Body Clips 
Damper Tube ("T-bar Only" version) 
4-40 x 1/2" Set Screw 
0.022" Front Spring 
1 /1 0 SS Front Suspension 
Lower Suspension Arms 
Upper Suspension Arms 
Upper/lower Suspension Arm Ball 
Upper Arm Mounts (0 & 10 degree) 
Upper Arm Eyelet 
Upper Susp. Arm Turnbuckle 
Upper Arm Hinge Pins 
E Clips (0.093") 
Offset Steering Blocks 
Stub Axle 
Front Kingpins 
Servo Mount w / screws 
4-40 x 1/4" Steel Flat Head Screws 
Graphite Front Suspension Brace 
Camber Gain Spacers 
1 .1' Standoff 
581 OSS Ball Bearing Set 
SB 1 OSS Graphite Chassis 
SB 1 OSS Graphite Bottom Plate 
SB10SS Graphite Top Plate 
SB10SS Graphite Top Shock Plate 
SB 1 OSS fiberglass Pivot Ball Plate• 
SB 1 OSS fiberglass T-bar Spacer 
SB 1 OSS Graphite Nerf Wing 
SB10SS T-bar (0.074' Straight Cut) 
Spur Gear (120 Tooth) 

1 
4 
6 
1 
1 
2 
1 

1 pr 
1 pr 
4 
4 
2 
2 

1pr 
12 
1pr 
1 pr 
2 

1 pr 
B 
1 

1 set 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 
1 

• Denotes items not included in the "T-bar Only" version. 

DAVb. CAQPb.NTb.Q6 
NOTb.E:>O Ol<(: 
tuning your street spec stock motor 

S4.99 
$1 .99 
$1.25 
$9.99 
S0.99 
$1.99 

$39.99 
$3.50 
S3.00 
S6.00 
S3.50 
Sl.SO 
S4.50 
S2.00 
$0.99 
$2.00 
$3.00 
S3.00 
S2.00 
$0.99 
$7.50 
$1.99 
$1.29 

$58.99 
$75.00 
s 18.99 
s 14.99 
$15.99 
$3.99 
$2.29 
$4.99 
$7.99 
$3.99 

Tuning a spec motor i$ not very complicated. The rules have been est.>blilhed 
to fimit what )IOU can do to a spec motor, making it ea>ler to be cornptti~ 
with les> wotl< and w•thout having to buy several ~l types o1 brwhH .tnd 
springs. You mun u>e tM stock lpring• (part 14531)and the SUtfl Spec 
8tush (part tSS2229) 

Breaking in a Spec mot<>< is very important when ttying to get tM mo>t 
performance out of your motor. After installing the Spec brushes, and tweak 
the springs before installing them, increasing the tenSion 01"1 the bnnh~ this is 
legal and will be your only tuning method on your spec motor. Thi• will also 
help break in the brushe• quicker. 

Apply a lew drops or "Break in Drops" part # 4469 and run the motor at a 
low voltage with a cooling ron (4 to 5 volts, a 4-cell pack wol1<s good ror 
this.) Run the motor untlllhe brushes are completly seated. Once this Is done 
remove the brushes and use the Comm Pen (N4053) to clean the commuta· 
tor and to brush the lace or each brush and then spray the motor out with # 
4443 Buggy Blast motor >f)foy. (You will do this lor normal maintanance) 
Re-install the brushe• and put 2 to3 drops ol Fonnula '96 on each brush and 
nHl the motor again at • tow voltage for a few minutes. 

"Tweaking" the motor springs is the only method )IOU hove to •tune• )IOU< 
spec motor. Mo<e tension will increa>e the moton tOiq<Je which )IOU will 
need on >maller track>. On larger track$ )IOU will wantles> tension to increase 
RPM's. 

Now put the motor in )IOU< car and go have lunl 

J ; :---.,.,. ...,./ ,._ 



.. 

, , 
, , , 

t 

\ 
\ 

\ 

Cl) 
Cl) 
0 ,.. 
~ 
.!! 
IXl 
.c:: 
~ .... 
~ 

Cl) 

, , , , , , , , , , , , , , , , , , , , , , , 

- \ 

~ - \ 

~ 
Q 

; 
w 

~ 
0 

~ 

~ 
• 

~ ll 
0 

~ 

, , , , , , 

, 

, , , , 
, , \ 

-

31 



32 

589812 Switch Blade 12sj"' On-Road kit • $250.00 

The Switch Blade 12 has been engineered and developed over the 
past year by our all star design team of Mike Wood and Rich Hawkes 
based on the testing input of team drivers like David Spashett, Mike 
Blackstock and loellohnson. The 5812 is not a revision of the 
Revolver 22j, but an all new design incorporating just a few of the 
molded front end components from the past design. The SB12 was 
designed with the concept of producing a faster cornering 1/ 12th 
scale car, yet one that is user friendly, highly tunable, easy to drive 
and ecomomical. We have accomplished this goal and SB12's are 
now winning races all over the world in the hands of drivers who 
have never been able to win in 1 /12th scale before. 

The SB12 features a new rear pod design which repositions the 
motor for a lower center of gravity. The symmetrical "T" bar makes 
sure your car will react the same to the left as well as to the right. 
The central shock mounting has been changed for a better front to 
rear load transfer. The battery mounting has been moved back for 
more traction on asphalt tracks and for quicker cornering and the 
front end geometry has been redesigned to lower the roll center. 

The SB12 comes with standard finish aluminum parts. Free purple 
aluminum sc.rews are supplied with kit. 

• TRC Tires 

Cka1tt~ io.1t 
Ckaltt~ io.1t 
Ckaltt~ io.lt 
C kaltt~ io.lt 
c kaHt~ io.lt 

• Light weight rear hubs and super true 
composite axle. 

• Precision ball bearings throughout. 

• New rear pod design lowers motor, makes 
wires easier to solder on. 

• Carbon Fiber chassis components. 

• All light weight purple aluminum screws. 

• symmetrical ·r· bar design makes car corner 
the same turning left or right. 

• Battery pack moved back for better weight 
distribution on slippery tracks. 

• Easy to build and tune Reactive caster"' 
front suspension with revised geometry. 

·eors Shown lfJ PhoroJ MCJ1 Concwn .PrP,e!il£!!rion~And!!!!,;Ail~en!!!..,.!!!im!£:«t.!Parl"""'l_.l ______ .J 



Switch Blade 12sj on-Road Parts List 
All these parts are the d irect replacement parts for your Switch 
Blade 12sj car kit. All SB12 hop-up parts are listed in the com­
plete car parts l isting on page 38 and at the end of t his list. 

P~Ht. 

01052 
0 1053 
EV0030 
EV0032 
EV0033 
EV0034 
EV0035 
EV0036N 
EV0037 
EV0038 
EV0039 
EV0040 
EV0041 
EV0047P 
EV0056 
EV0057 
EV0058 
EV0059 
EV0064 
EV0071 
EV0072 
EV0074 
EV0080 
EV0081 
EV0085 
EV0086 
EV0087 
EV0091 
EV0092 
EV0093 
EV0110 
EV0143 
EV0151 
EV0154 
EVI 001 
EV4011 
EV4054 
EV6012 
RC4027 
RC6100 
RE1 003 
RE1 014L 
REI 015 
RE1 023 
RE1024 
REI 039 
RE1 041 
REI 042 
REI 044 
RE I 065 
RE1081 
SB5020L 
SB5021 
SB5022 
SB5023 
SB5024 
SB5025 

Oestrlptlon 

4-40 x 3/8" Cap Screws, Purple 
4-40 x 3/8" Flat Head Screw, Purple 
Nylon Ball Cup 
Complete Micro Shock 
Aluminum Micro Shock Body 
Nylon Micro Shock Cylinder Nutt 
Silicone 0-ring, M icro Shock 
Nylon Adjuster Nut, M icro Shock 
Inner Pressure Spring 
Aluminum Shock Shaft Cap 
Micro Shock Shaft 
Brass Micro Shock Shaft Washer 
Micro Shock Spring (5 lb.) 
4-40 Ball Stud 
1/4" x 3/8" Unflanged Bearing 
1/4" x 3/8" Flanged Bearing 
1/8" Steel Washers 
E Clips (0.125") 
4-40 x 3/8" Steel Flat Head Screw 
2-56 Steel Button Head Screws 
Nylon Pivot Ball Socket Set 
4-40 x 1/2" Steel Flat Head Screw 
Thrust Cone 
Belleville Washer 
2" Nylon Body Posts 
Nylon Body Post Collars 
4-40 x 1/8' Set Screws 
Ride Heigh t Adjuster Set 
Diff Balls 
Diff Rings 
Silicone Diff Lube 
4-40 Mini Locknut, Purple 
8-32 x 5/ 8" Flat Head Screw, Purple 
4-40 x 3/4" Cap Screw, Purple 
Ant./Shock Mount 
1/8" x 5/ 16' Flanged Bearings 
8·32 Alum. Nuts, Purple 
6 -32 Nylon Locknut 
Brass Motor Shims (0.01 0") 
Body Clips 
I .6" Steel Turnbuckles 
Aluminum Pivot Balls 
0.850" Standoff 
Alum. Diff Hub 
Alum. Left Side Hub 
Damper Tube 
2·56 Ball for Damper Tube 
4-40 x 1/2" Set Screw 
4-40 x 1/4" Flat Head Screws, Purple 
Front Kingpins 
0.020" Front Spring 
Lower Suspension Arms (milled down) 
Upper Suspension Arms 
Upper/Lower Suspension Arm Ball 
Upper Arm Mounts (0 & 10 degree) 
Upper Arm Eyelet 
Upper Susp. Arm Turnbuckle 

Qty 

12 
12 
4 
I 
1 
2 
4 
2 
4 
2 
2 
4 
2 
4 
1 
2 
4 

12 
8 
8 
I 
8 
1 
4 
4 
4 
8 
I 

12 
2 
1 
8 
12 
12 
1 
2 
8 
4 
10 
6 
2 
2 
2 
I 
I 
1 
I 
I 

12 
2 
2 

I pr 
2 
4 
4 
2 
2 

Price 

$4.99 
$4.99 
$1.99 

$17.99 
$7.99 
S3.49 
$0.99 
$3.49 
$2.99 
$8.99 
$9.99 
$1.49 
$2.00 
$4.99 
$7.50 

$14.00 
$0.99 
$1.49 
$1.49 
$1.99 
$1.99 
$1.49 
$1.99 
$1.99 
$3.99 
$1.49 
$1.29 
$2.69 
$2.99 
$1:69 
$2.50 
S3.50 
$4.99 
$4.99 
$1.29 

$14.00 
13.99 
$1.99 
$1.99 
$1.25 
$4.99 
$2.99 
$1.99 
$6.99 
$6.99 
$9.99 
$1 .99 
$0.99 
$4.99 
$2.99 
$1.99 
$3.99 
$3.00 
$6.00 
$3.50 
$1 .50 
$4.SO 

SB5026 
SB5027 
SB5028 
SB5029 
SB5033 
SB5034 
SB5039 
SB5085 
5B5087 
SB9800 
SB9801 
SB9802 
SB9803 
SB9804 
SB9805 
SB9806 
S89807 
SB9808 
SB9809 
SG095 

Upper Arm Hinge Pins 
E Clips (0.093' ) 
Offset Steering Blocks 
Stub Axle 
Servo Mounts 
4 -40 x 1/ 4" Steel Flat Head Screws 
1 .1 " Standoff 
0 .050" Alum. Rea r Axle Spacer 
0.150" Alum. Rear Axle Spacer 
SB12 Graphite Chassis 
SB12 Graphite Bottom Plate 
SB12 Graphite Top Plate 
Symmetrical T-bar (0.063") 
Symmetrical T-bar (0.074") 
T-bar Spacers 
SB12 Right Side Bulkhead/ Motor Plate 
SB12 Left Side Bulkhead 
Solid Composite Axle 
#8 Alum. Flat Washer (0.062" thick) 
Zero Friction Spur Gear (95T, 64P) 

SB12sj Optional Parts 

2 
12 
I pr 
2 
2 
8 
I 
2 
2 
1 
1 
1 
1 
1 
3 
1 
1 
1 
8 
1 

EV0042 M icro Shock Spring (11 lb.) 2 
EV0043 Micro Shock Spring (15 lb.) 2 
EV0033P Purple Alum. Micro Shock Body 1 
EV0038P Purple Alum. Shock Shaft Cap 2 
EV0080P Purple Alum. Thrust Cone 1 
EVOI 39 Micro Shock Rebuild Ki t 1 
EVOI 45 Complete M icro Shock, Purple 1 
EVOI50P 1.1" Purple Aluminum Standoff (rear pod) 1 
RE1 015P 0.850" Purple Aluminum Standoff 2 
REI 080 0.018" Front Spring 2 
RE1 082 0.022" Front Spring 2 
RE1 083 0.024" Front Spring 2 
REI 034 Purple Alum. Left Clamp Hub I 
RE1 035 Purple Alum. Dilf Side Hub 1 
SB5086 0.1 00" Alum. Rear Axle Spacer 2 
SB9804 Symmetrical T-bar (0.074") I 
SB9806P SBI 2 Right Side Bulkhead, Purple 1 
SB9807P SB12 Left Side Bulkhead, Purple 1 
S8981 0 SBI2 Weight-forward Graph. Chassis 1 
SGIOO Zero Friction Spur Gear (1 OOT, 64P) 1 

DAVID 6PA6Wb.TI6 
NOTb.E:>O ol(, 
my top f iVe Winning secrets 

1. Write everything down as soon ;u you do lt. Keo:~p a jouml'l of~~~ changes for 
f\llure references. It will come in handy aL the next r4«. 

2. Ml'ke only on-r change at a time. That's the only way to koow for sure wtlaL 
change did what to the Mndling of your chassis. 

$2.00 
$0.99 
$2.00 
$3.00 
$2.00 
$0.99 
$1.29 
$1 .59 
$1.59 

$55.99 
$11.99 
$10.99 

$6.00 
$6.00 
$3.50 

$15.99 
$13.50 
$19.99 
$2.00 
S3.99 

$2.00 
$2.00 
$8.99 
$9.99 
$1.99 
$6.99 

$19.99 
$1.99 
$1.99 
$1.99 
$1.99 
$1.99 

$14.99 
$15.99 

$1.59 
$6.00 

$17.49 
$15.00 
$55.99 

$3.99 

3. Make a <hec.k list of things to do and the order to do them between heats at a 
race. Taf)t" it to the: inside of your pit box or to your charger. That way you witl 
never forget to do .something 11nd you will always start charging and applying tire 
traction at the same time each round. 

4. Put tools and parts away as soon as yov are done with them so you \"All know 
wMre they a~ in a hurty. By keeping your pit area free of loose dlft bc1ils and small 
parts they are less likely to end up in your motor! 

5. Always arrive with you.r car bullt and ready to go as soon as you charge the pack 
and put tmc:lion 0(1 the tires. This wfll allow you to get as much practke as 
possible. Remember nothing beats pr:.ctke, pt:tctlcc, practkel 

:--:.,.._,...~"----'----~ ~·- .... -·-

33 



i I - -:: -

§ 
~ 
:0 
z 
~ 
"0 
:0 
0 
0 c 
(") 
~ 
(fJ 

z 
(") 

34 

/ 

( 

, , , 

\ 

I / 
\ . 

/ / 
\ / / 
v / 

I 

I 

\ 

/ 

/ 
/ , 

/ 
/ 

/ 

/ 

/ 

/ , 
' 

m 

~ 

i 
w 

.. 
8 w 

vi ~ .. 
..,~ j 

';ii 
€(~~ i 
~ 

lll 
I 

\ 
I ~ I 

I 

~ / 
/ 

/ 

/ 
/ 

/ 
/ 

/ 

, , 



552222 
552223 
552230 
SS2231 
552240 
SS2241 

Spec 10 Stock Car, with motor and battery S 199.99 
Spec 1 0 Stock Car, no motor or battery S 165.00 
Spec 10 Touring Car, with motor and battery S 199.99 
Spec 10 Touring Car, no motor or battery S 165.00 
Spec 10 Speedway Truck, with motor and battery S199.99 
Spec 10 Speedway Truck, no motor or battery S1 65.00 

Street Spec racing is the fastest growing form of racing in the US. The 
concept of everyone running the same car, tires, motor and battery 
and relying on driving and tuning skills instead of a big wallet is very 
appealing to most R/C racers. 

In Street Spec racing all aspects are tightly controlled so that 
equipment performance is as equal as possible. In Street Spec racing 
the d river with the most money has no advantage because their are 
no aftermarket trick parts like tires or batteries to g ive a speed 
advantage. In fact you can not even buy Street Spec batteries loose 
and match them up into packs. You have to buy assembled 6 cell 
sticks that are tamper proof. 

Street Spec racing is taking place at most good on-road and oval 
tracks through out the country, and the racing is supported by 
regional and national championship events. Check it out at your local 
track! 

• TRC Spec Tires 

• Spec Tires Are Available In only 2 Rear And 3 
Front Compounds so You Don 't Have To Buy A 
Lot Of Compounds To Be competitive. 

• street spec Motor, (21Turn @1 Awg Wire>. 

• Rear Axle Bali Bearings. 

• Spec Battery Packs Are Tamper Proof And Easy 
TO Tech. 

• 28 to 120 Only Gear Ratio Keeps Motors The 
same Speed, No Extra Gears To Buy. 

• limited Legal Tuning Options Makes Track 
Tuning Your Chassis Quick And Easy. 

• No lightweight Parts. carbon Fiber, Drilling Of 
Holes or Machining Of Parts Allowed. 

• Choice of Stock Car, Truck or Touring Bodies 

• No After Market Parts Allowed. 

35 



Street spec Parts List SS2017 4-40 Threaded Rod for Steering 2 S1.99 

All these parts are the direct replacement parts for your Street SS2018 '94 S.T. T-Bird Body (Spec legal) 1 s 15.99 

Spec car or truck kit. There are no hop up parts! SS2019 Touring Car Chassis 1 S19.99 
SS2020 5-40 x 3/8" Steel Cap Screw 4 S0.99 

Part II llcm Qty Price SS2021 Complete Bearing Set for Street Spec 1 $47.99 
SS2022 Battery 0-rings 2 $1 .49 

D1027 4-40 Dampener Rod 1 $1.99 SS2100 Spec Green Front Tires 2 $10.99 
D1030 1.25" Alum. Standoff w/ Hole 1 $1.99 SS2101 Spec Orange Front Tires 2 $10.99 
D1047 3/32" Set Collars 2 $1.69 SS2102 Spec Blue Rear Tires 2 $11.49 
EV0029 4-40 locknuts 4 $0.99 SS2224 Street Spec 6-cell Battery Pack 1 $23.99 
EV0030 Nylon Ball Cup 4 $1 .99 SS2227 Street Spec 4-cell Battery Pack 1 s 17.99 
EV0048 4-40 Mini Locknut 8 $2.99 SS2228 Street Spec Motor 1 S29.95 
EV0049 8-32 x 7/8" Flat Head Screw 4 S2.29 SS2229 Street Spec Motor Brushes 2 S2.99 
EV0050 8-32 Nylon locknut 4 s 1.49 SS2232 1/10 BMW Touring Body 1 s 15.99 
EV0053 Front Spacer Set 2 S3.59 SS2233 Spec Touring Green Rear Tires 2 s 11.49 
EV0054 Silicone 1/8" 0-ring 4 $1.29 SS2234 Spec Touring Blue Rear Tires 2 s 1 1.49 
EV0057 1/4" x 3/8" Flanged Bearing 2 s 14.00 SS223S Spec Touring Green Front Tires 2 s 10.99 
EVOOS8 1/8" Steel Washers 4 $0.99 SS2236 Spec Touring Blue Front Tires 2 $10.99 
EV0059 E Clips (0.125") 12 $1.49 SS2237 · Spec Touring Orange Front Tires 2 $10.99 
EV0062 Nylon Left Bulkhead 1 $1.99 SS2238 1/1 0 Opel Calibra Body 1 S1 5.99 
EV0063 Aluminum Right Bulkhead 1 $10.99 SS2239 Street Spec Sticker Sheet 1 S3.99 
EV0064 4-40 x 3/8" Steel Flat Head Screw 8 $1 .49 SS2242 C-Type Speedway Truck Body 1 $15.99 
EV0065 4-40 x 3/8' Steel Cap Head Screw 8 $1.49 
EV0069 3/16" x .895 Aluminum Standoff 2 S1.99 
EV0073 1/8" Thick Aluminum Spacer 2 $0.99 tvllK::.b. \V OOD6 NOTb.~OOK::.: 
EV0074 4-40 x 1/2" Steel Flat Head Screw 8 $1.49 
EV0081 Belleville Washer 4 $1.99 tuning your switch blade car 
EV0082 Nylon Axle Shim Set 1 set S2.69 
EV0086 Nylon Body Post Collars 4 $1.49 Below is a quick reference chart of general guidelines for 
EV0087 4-40 x 1/8" Set Screws 8 $1.29 tuning your Switch Blade car at the track. Remember, it is 
EV0090 Bent-Up Body Clips 6 S2.99 much easier to make one adjustment at a time to get a feel for 
EV0091 Ride Height Adjuster Set 1 S2.69 what effect it has on the track. It is also very helpful to keep 
EV0092 Dill Balls 12 $2.99 notes or setup sheets when you do find something that works 
EV0093 Dill Rings 2 $1 .69 well for you. You can also obtain technical help from Trinity 
EV0110 Silicone Diff Lube 1 $2.50 drivers and engineers a long with other racers from around the 
EV0130 Constant Rate Frt. Spring Blue, 61b 2 $2.00 world on our web site at www.teamtrinity.com. 
EV1001 Antenna/Shock Mount 1 $1 .29 
EV1002 10-32 Set Screws 2 $0.99 
EV4008 SS Aluminum Diff Hub 1 $10 .99 FOR MORE STEERING 
EV4010 Trailing Steering Blocks I pr $7.50 (and less rear traction) 
EV4016 3" Nylon Body Posts 4 $3.99 -use a softer front spring or less pre-load 
R7714 4" Nylon Body Posts 2 $4.00 - stiffen the center shock up 
REI 004 .020 Front Springs 2 $1 .99 - stiffen up the side movement of the rear pod 
RE101S 0.850" Standoff 2 $1.99 - lower the front roll center 
RE1054 4-40 x 1" Steel Flathead Screw 2 $0.99 - use less front dampening 
RE7750 .750" Aluminum Standoff 2 $1.69 - lower the front of the chassis 
SS1051 5-40 Steelloc.knuts 8 $1.49 - increase the amount of camber 
SS2000 Spec Blue Frt. Tires, as in kit 2 $10.99 - increase the rear track width 
SS2001 Spec Green Rear Tires, as in kit 2 $11.49 - d ecrease the amount of caster 
SS2002 Street Spec T-bar/Bottom Plate 1 $7.99 
SS2003 Street Spec Battery Plate 1 $7.99 
SS2004 Street Spec Front Axle Plate 1 $6.49 FOR LESS STEERING 
SS2005 Street Spec Chassis 1 $22.99 (and more rear traction) 
SS2006 Street Spec Pivot Plates 2 $4.99 - use a stiffer front spring or more pre-load 
SS2007 Street Spec Top Plate 1 $6.99 - soften the center shock up 
S$2008 1 /8" x S/16" Flanged Bushing 4 $1.99 - soften up the side movement of the rear pod 
SS2009 5-40 Flat Nuts 2 $0.99 - raise the front roll center 
SS2010 Street Spec Front Kingpings 2 S2.99 -use more front dampening 
SS2011 Dampener Washers 2 $1.99 - raise the front of the chassis 
S$2012 Silicone Tubing I Sl.69 - decrease the amount of camber 
SS2013 Nylon left Hub 1 $4.29 - decrease the rear track width 
SS2014 Thrust Bearing Set 1 S2.59 - increase the amount of caster 
SS2015 1/ 4" x 3/8" Bushing 2 $2.99 
SS2016 Steel Rear Axle 1 $7.99 ';':::::; J J ,_J -- .... 

36 



IH ...., 

• 

Street Spec 10 

E\'000"' ~.._ 
eC' -EV.OIS(Tfll 

R171.& (CII') 

, 

EVO<lOO 

--);'C·- Jn 

~~CS\~ 
d •v•••• 
..,_,., 

lV1001 

._ 

~ R 

·-:=-J ~ 

--
..,.,,, 

, 
, ---

0 

··-
~ , 

' ' ' ' ' 
. 

' ' ' ' 
~ 

' ' ' ' ' ' 

Q 
' 

' ' ' ' 

' ' 

' ' 

' ' 

' 

• 

' 

' ' 

' 

' ' 

• 

1$2015 

{'V.&OOI 

SSl01' 

' ' ' 

' ' 

' 

' 

' ' ' ,' '-,-

' ' ' 

10120 

' ' 
.... , , -

lVOOtt 

~2--®.~ 

~p,-
11:4"" 

'~ 

~~ 
~ ·-· 

TRINITY PRODUCTS INC. 

't 



This numerical listing contains all the Symbols for "Fits" column: SB5024 Upper Arm Eyelet O,R,I 2 S1.50 
parts for our car kits plus hop up 0 = SBIOSS Oval Car SB5025 Upper Susp. Arm Turnbuckle O,R,I 2 $4.50 
parts. The list is broken up into sub R = SB 10 On-Road Car SB5026 Upper Arm Hinge Pins O,R,I lpr $2.00 
assemblies and each part has a code 1 = 5B12sj 1/12 On-Road Car 5B5027 E Clips (0.093") O,R,I 12 S0.99 
for which cars il fits. S = Street Spec Car or Truck S8502S Offset Steering Blocks O,R,I lpr 52.00 

E = EVI 0 or EVI OSS Cars SB5029 Stub Axle O,R,I 1pr $3.00 
v = Revolver 1/ 12 On-Road Car 5BS030 1/ 10 Front Kingpins O,R 2 $3.00 
A= Associated-based Cars S85031 On-center Steering Slock O,R,I,A 1pr S2.50 

S85032 On-center Front Axle (3/1 6" dia.} O,R,J,A 2 $7.00 
Pan# Item Fits Qty Price SB5035 Graphite On-Road Front Susp. Brace R 1 $9.99 

SB5036 Graphite Speedway Front Susp. Srace 0 I $7.50 
Front suspension Parts SB5037 Graphite 1/12 Front Susp. Brace I 1 S7.99 
EV0022 EV1 0 On-center Steering Blocks E 2 $8.49 SBS038 Camber Gain Spacers O,R,I I set $1.99 
EV0023 1 /10 Front Kingpins O,R,E 2 $2.99 SB5077 SB Purple Alum. lower Susp. Arms O,R,I 1pr $31.99 
EV0024 EVI 0 Nylon Upper Ball Supports E,V 2 $4.50 SB5080 Alum. Frt. Upper Arm Mounts (0 deg.) O,R,I 2 S17.99 
EV0026P EV1 0 Purple Alum. Clevis E,V 2 $10.99 SBS081 Alum. Frt. Upper Arm Mounts (I 0 deg.) O,R,I 2 $17.99 
EV0027 1.12S" x 4·40 Turnbuckle O,R,E 4 $8.99 SB5306 EVI 0 to SBI 0 Front Susp. Conv. Plate E I $11.29 
EV0030 Nylon Ball Cup All 4 $1.99 SB9809 #8 Alum. Flat Washer (0.062' Lhk.} ALL 8 S2.00 
EV0031 EVI 0 Delrio Balls E,V 2 $1.99 SS2004 Street Spec Front Axle Plate s 1 $6.49 
EV0051 EV1 0 Front Nylon Kingpin Bushings E 2 $1.59 SS2010 Street Spec Front Kingpings s 2 $2.99 
EV0052 EVI 0 Nylon Clevis E,V 2 $1.99 SS2017 4-40 Threaded Rod for Steering s 2 $1.99 
EV0053 Front Ride Height Spacer Set O,R,),S,E 2 $3.59 
EV0067 EV I 0 Graphite Top Chassis Plate E 1 $24.99 Chassis components 
EV0094 EVI 0 Graphite Chassis E 1 $59.99 EV0067 EVI 0 Graphite Top Chassis Plate E 1 $24.99 
EV0088 On-Road Alum. Steering Turnbuckles R,E,A 2 $5.99 EV0069 3/ 16" x .S95 Aluminum Standoff O,R,S,E 2 $1.99 
EV0088P On-Road Purple Steering Turnbuckles R,E,A 2 $6.99 EV0069P 0.895" Purple Aluminum Standoff O,R,S,E 2 $4.99 
EV0099 Progressive Frt. Spring Orange, 4-61b Q,R,S,E,A 2 $2.00 EV0070 EVI 0 Nylon Rear Battery Cup E I S2.99 EVOIOO Progressive Frt. Spring Blue, 6-81b O,R,S,E,A 2 S2.00 EV0073 1/8" Thick Aluminum Spacer O,R,E 2 $0.99 
EVOI 01 Progressive Frt. Spring White, S·1 Olb 0,1\,S,E,A 2 $2.00 EV0073P 1/8' Thick Aluminum Spacer, Purple O,R,E 2 $1.59 
EV0102 Progressive Frt. Spring Red, 1 0-121b O,R,S,E,A 2 $2.00 EV0083 EVI 0 Nylon Front Battery Cup E I $1.99 
EV0103 Progressive Frt. Spring Green, 12·141b O,R,S,E,A 2 $2.00 EVOOS4 EVI 0 Nylon Front Battery Cup Ud E I $1.99 
EV0104 Progressive Frt. Spring Set, 2 ea. si~e O,R,S,E,A 1 ss.oo EV0085 2' Nylon Body Posts R,J,E,A 4 $3.99 
EV0125 Constant Rate Frt. Spring Purple, 14lb O,R, E,A 2 $2.00 EVOOS6 Nylon Body Post Collars All 4 $1.49 
EV0126 CMstant Rate Frt. Spring Slack, 16fb O,R,E,A 2 $2.00 EV0090 Bent-Up Body Clips ALL 6 $2.99 
EV0127 Constant Rate Frt. Spring Green, 121b O,R,E,A 2 $2.00 EV0094 EVI 0 Graphite Chassis E I $59.99 
EV0128 Constant Rate Frt. Spring Red, 1 Olb O,R,E,A 2 $2.00 EVOISOP 1.1" Purple Alum. Standoff O,R,J I $1.99 
EVOI29 Constant Rate Frt. Spring White, Sib O,R,E,A 2 $2.00 EV0200 EVI OF Fiberglass On-Road Chassis E 1 $29.99 
EVOI30 Constant Rate Frt. Spring Slue, 61b O,R,E,A 2 $2.00 EV0205 EVI OF Fiberglass Top Chassis Plate E 1 $11.99 
EV0131 Constant Rate Frt. Spring Orange, 41b O,R,E,A 2 S2.00 EVIOOI Antenna/Shock Mount All 1 $1.29 
EV0132 Constant Rate Frt. Spring Set, 2 ea. O,R,E,A 1 $11.25 EV4004 EVI OSS Graphite Top Chassis Plate E I $22.99 
EVOI44 EVIO, EVIOSS Front 0-ring Cup E 2 $1.99 EV4007 EVI OSS Graphite Nerf Wing E I $5.99 
EV0205 EV1 OF Fiberglass Front Axle Plate E I $9.99 EV4016 3' Nylon Body Posts O,S,E,A 4 53.99 
EV4003 EV1 OSS Graphite Front Axle Plate E 1 $19.99 EV4045 EVI OSS Lite Graphite Chassis E 1 $82.00 
EV4010 Trailing Steering Blocks S,E lpr $7.50 EV4047 EVI OSS Ute Graphite Nerf Wing E I $6.99 
EV4017 SS Atuminum Steering Turnbuckles O,E,A 2 $6.99 EV404S EVI OSS Lite Graphite Top Chassis Plate E 1 s 18.99 
EV4017P SS Purple Alum. Steering Turnbuckles O,E,A 2 $6.99 EV4049 EVI OSS Lite Graphite Chassis Upgrade E I $132.00 
EV401B 8-32 Aluminum Nuts O,R,f,E, V 4 $1.49 R7714 4" Nylon Body Posts s 2 $4.00 
EV4054 8-32 Alum. Nuts, Purple O,R,),E, V 8 S3.99 RC6053 Purple Alum. Adj. Servo Mounts All 2 $10.99 
EV4072 EV1 0 Delrin Front Bushing Conversion E 1 $4.99 RC6100 Econo Body Clips All 6 sus 
EV4073 EV1 OSS Lite Front Axle Plate E 1 $19.99 RC6111 )oellohnson Transponder Mount All I $3.75 
EV4076 EV1 0 Delrin Kingpin Bushings E 2 $1.99 REI 015 o.sso• Standoff J, v 2 $1.99 
REI 001 Revolver Front Kingpins v 2 $1 .99 RE1015P 0.850' Purple Alum. Standoff ),V 2 Sl.99 
REI 002 Revolver Steering Blocks v 2 $6.99 RE1017 Graphite Rear Chassis Brace for 12SS v 1 $9.50 
RE1003 1/12 Steering Turnbuckles (1.6") ),V,A 2 $4.99 RE1020 Revolver Graphite Speedway Chassis v 1 SS5.00 
REI 004 .020 Front Springs All 2 $1.99 RE1021 Revolver Graphite SS Nerf Wing v 1 S3.99 
REI030 Revolver Kingpin Bushing w/ Drill v 1 S3.99 RE1040 Revolver "Magic" 4-cell Graphite Chassis v 1 $49.99 
REI 031 Revolver Front Kingpin Bushings v 2 $1.99 RE1043 Revolver 6-cell Graphite Chassis v 1 $69.99 
RE1036 Revolver Graphite Lite Frt. Axle Plate v I $10.99 RE7750 .750' Aluminum Standoff S,V 2 $1.69 
RE1055 0.018" Front Spring, Black All 2 S1.99 RE7750P .750" Purple Alum. Standoff v 1 52.99 
REI 056 0.022" Front Spring, Nickel All 2 $1.99 SB5033 Nylon Servo Mount w/ screws O,R,I I pr $2.00 
REI 057 0.024" Front Spring, Gold ALL 2 $1.99 SBS039 1.1• Aluminum Standoff O,R,I 1 $1 .29 
RE10S8 Front Spring Set (2 ea.} All 1 $4.99 S85040 4-40 x .425 Standoff (for Battery Plate} R 2 S1.99 RE1065 1/12 Front Kingpins I,V 2 $2.99 SB5200 SBI OSS Graphite Chassis 0 I $75.00 
RE1080 0.018' Front Spring (short} ALL 2 $1.99 SB5203 SBI OSS Graphite Top Shock Plate 0 1 $1 S.99 
RE1081 0.020' Front Spring (short} All 2 S1.99 SB5206 SBI OSS Graphite Nerf Wing 0 1 $4.99 
RE1082 0.022' Front Spring (short} All 2 $1.99 SB5300 SBI 0 On-Road Graphite Chassis R I $65.00 
REI OB3 0.024' Front Spring (short) ALL 2 $1.99 SB5303 SBI 0 Graphite Top Shock Plate R I $20.99 
SB5000 1/ 1 0 SB On-Road Front Suspension R,A 1 $39.99 SB5304 SBI 0 Fiberglass Battery Hold-Down R I s 11.99 
SB5001 1/1 0 SB SS Front Su.spension O,E,A 1 $39.99 SB5307 Graphite Super Speedway Bumper O,A I $17.99 
SB5002 1/ 12 Switch Blade Frt. Suspension ),V,A 1 $39.99 SB9800 SBI2 Graphite Chassis I 1 SS5.99 
SB5003 Switch Blade Frt. Susp. for EVI 0 E 1 $45.00 SB9S10 SB I2 Weight-forward Graphite Chassis I I $55.99 
SB5020 Lower Suspension Arms O,R,J l pr $3.50 SS2003 Street Spec Battery Plate s I $7.99 
SB5020L Lower Susp. Arms (low roU~center) O,R,J 1 pr $3.99 SS2005 Street Spec Chassis s I $22.99 
SB5021 Upper Susp. Arms O,R,J I pr $3.00 SS201S '94 S.T. T-Bird Body (Spec legal} O,S,A 1 s 15.99 
SS5022 Upper/Lower Susp. Arm Ball O,R,J 4 $6.00 SS2019 Touring Car Chassis s I $19.99 
SB5023 Upper Arm Mounts (0 & 10 degree) O,R,J 4 $3.50 SS2022 Bauery 0-rings s 2 S1.49 

38 



S$2224 
$$2227 
SS2228 
SS2229 
SS2232 
S$2238 
$$2239 
SS2242 

Street Spec 6<ell Balle<y Pack 
Street Spec 4-cell Balle<y Pack 
Street Spec Motor 
Street Spec Motor Brushes 
1/10 BMW Touring Body 
1/ 10 Opel Calibra Touring Body 
Street Spec Sticker Sheet 
C·Type Speedway Truck Body (Spec) 

Rear suspension Parts 
01027 4·40 Dampener Rod 
01030 1.2$" Alum. Standoff w/ Hole 
01047 3/32" Set Collars 
01050 2·56 Ball Cups 
EV0060 EV1 0 Graphite Top Plate 
EV0061 EVI 0 Graphite Bouom Plate 
EV0062 Nylon left Sulkhead 
EV0063 Aluminum Right Bulkhead 
EV0066 Graphite Pivot Ball Plate 
EV0068 1/4" Aluminum Pivot Sail 
EV006BP 1/4" Aluminum Pivot Ball, Purple 
EV0071 2·56 Steel Buuon Head Screws 
EV0072 Nylon Pivot Sail Socket Set 
EV0075 Nylon Ball Link Socket 
EV0076 Aluminum Control Link Ball 
EV0076P Aluminum Control Link Ball, Purple 
EV0091 Ride Height Adjuster Set 
EV0108 More Clearance Pod Plates, Purple 
EV0123 Micro Shock Spring Set, 3 ea. 
EV0202 EV1 OF Fiberglass Pivot Plate 
EV0203 EV10F Fiberglass Top Pod Plate 
EV0204 EV10F Fiberglass Bollom Pod Plate 
EV4002 EVIOSS Graphite Bottom Plate 
EV4005 EVIOSS Graphite Top Plate 
EV4014 4-40 x .9" Steel Tumbockles 
EV4015 4-40 x 1.2" Steel Tumbockles 
EV40 19 EVI OSS Sway Sar Kit 
EV4020 EVI OSS Top Sway Sar Graphite Plate 
EV4024 EVl OSS Sway Sar Tuning Kit 
EV4025 EVI OSS Prebent Sway Bar Wire Set 
EV4046 EV1 OSS lite Graphite 8ottom Plate 
EV6004 EVI 0 LSD Conversion Top Plate 
EV6005 EV1 0 LSD Conversion Bottom Plate 
RE 1009 Revolver T-bar Spacer 
RE1014L Lightweight Alum. T-barPivot Balls 
RE1014P Revolver Purple T-bar Pivot Ball 
RE1016P Revolver 1.390" Purple Standoff 
RE1018 Damper Tube w/ 2·56 Ball End 
RE1026 Revolver "Orlando" T-bar 
RE 1 02B-63 .063" long T-bar for Revolver 
RE102B-74 .074" long T-bar for Revolver 
RE 1032 Revolver Purple lefl Side Bulkhead 
RE 1033 Revolver Purple Right Side Bulkhead 
REI 037 Revolver Graphite Bottom Plate 
RE103B Revolver Graphite Top Plate 
RE 1039 Damper Tube w/ 4-40 Sail End 
SB5201 SBlOSS Graphite Bottom Plate 
SB5202 SBI OSS Graphite Top Plate 
$85204 SBI 055 Fiberglass Pivot Sail Plate 
SB5205 SBIOSS Fiberglass T-bar Spacer 
SS5220 $BlOSS T-bar (0.074" Straight Cut} 
S85221 SBIOSS T-bar (0.074" 45 deg. Bias Cut) 
SBS230 SBIOSS Spring Steel Wide T-bar (firm} 
SB5231 SB 1 OSS Spring Steel Narrow T-bar (soft} 
SB5301 $B1 0 Graphite Bottom Plate 
SB5302 SBIO Graphite Top Plate 
SB9801 $812 Graphite Bottom Plate 
SS9802 $812 Graphite Top Plate 
SS9B03 1/ 12 Symmetrical F'glass T-bar(0.063"} 
SS9804 1/1 2 Symmetrical F'glass T-bar (0.074"} 
SB9805 Machined !'¥on T-bar Spacers 
SS9806 SB12 Right Side Bulkhead/Motor Plate 
SS9806P SS 12 Right Side Sulkhead, Purple 
SB9807 SB12 left Side Sulkhead 
SB9807P SB12 left Side Bulkhead, Purple 
S$2002 Street Spec T-bar/ Bouom Plate 

s 
s 

All 
All 
s 
s 

All 
o,s 

s 
$ 
s 

),V 
e 
E 

O,R,S,E 
O,R, $.E 

R,E 
O,R,E 
O,R,E 
All 

O,R,J,E 
O,R,E 
O,R,E 
O,R,E 
All 

O,R,E 
O,R,J,E.A 

E 
E 
E 
E 
E 
E 
E 
E 
E 
e 
E 
E 
E 
E 
v 

O,R,J,V,A 
v 
v 
v 
v 
v 
v 
v 
v 
v 
v 

),V 
0 
0 
0 

O,A 
O,A 
O,A 
O,A 
O,A 

R 
R 
J 
J 

),A 
),A 
),A 

J 
J 
J 
J 
s 

1 
1 
I 
2 
1 
1 
1 
1 

1 
1 
2 
4 
I 
I 
I 
I 
I 
2 
2 
8 
1 
4 
4 
4 
1 

lpr 
I 
I 
1 
I 
I 
I 
2 
2 
I 
I 
I 
I 
I 
I 
I 
1 
2 
2 
I 
1 
1 
I 
1 
1 
1 
I 
1 
1 
1 
I 
1 
I 
I 
1 
I 
I 
I 
I 
I 
I 
I 
I 
3 
1 
1 
1 
1 
I 

S23.99 
S17.99 
S29.95 

S2.99 
s 15.99 
SIS.99 

S3.99 
Sl S.99 

s 1.99 
S1.99 
S1.69 
S3.99 

Sl4.99 
S19.99 

S1.99 
SI0.99 

S3.99 
S2.99 
S3.99 
S1.99 
Sl.99 
S2.49 
B .99 
v .so 
S2.69 

S29.99 
S5.99 
S3.99 
S8.99 
S8.99 

S2S.OO 
S14.99 

S5.50 
SS.99 

S29.99 
s 14.25 
S12.99 

S2.99 
S23.99 
S16.59 
S24.99 

S2.99 
S2.99 
S2.99 
S2.99 

S10.99 
S6.99 
S6.00 
S6.00 

s 14.50 
Sl6.99 
S11.99 
S10.99 

S9.99 
Sl8.99 
S14.99 

S3.99 
S2.29 
S7.99 
S9.49 

S21.99 
S21 .99 
S20.99 
Sl2.99 
S11 .99 
SI0.99 
S6.00 
S6.00 
S3.50 

s 15.99 
s 17.49 
s 13.50 
s 15.00 

S7.99 

S$2006 
S$2007 
SSlOII 
$$2012 

Street Spec Pivot Plates 
Street Spec Top Plate 
Dampener Washers 
Silicone Tubing 

Shock Parts 
EV0030 Nylon Ball Cup 
EV0032 Complete Micro Shock 
EV0033 Aluminum Micro Shock Body 
EV0033P Purple Alum. Mitro Shock Body 
EV0034 Nylon Micro Shock Cylinder Nut 
EV003S Silicone 0-ring, Micro Shock 
EV0036N Nylon Adjuster Nut, Micro Shock 
EV0037 Inner Pressure Spring 
EV0038 Aluminum Shock Shaft Cap 
EV0038P Purple Alum. Shock Shaft Cap 
EV0039 Mi<ro Shock Shaft 
EV0040 Brass Micro Shock Shaft Washer 
EV0041 Micro Shock Spring 5 lb. 
EV0042 Micro Shock Spring I I lb. 
EV0043 Micro Shock Spring 15 lb. 
EV0044 Micro Shock Spring 23 lb. 
EV0054 Silicone 1/8" 0-rlng 
EV0139 Micro Shock Rebuild Kit 
EV014S Complete Micro Shock, Purple 
EV4022 Large Volume Shock Rebuild Kit 
EV4030 Large Volun'e Shock 
EV4030·1 Large Volume Shock Shaft 
EV4030-3P Large Volume Purple Shock Body 
EV4030·5 Large Vol. Shock Nylon Adj. Nut 
EV4030·8 Large Vol. Shock Shaft End Cap 
EV4030-8P Large Vol. Purple Shock Shalt End Cap 
EV4058 Complete Large Volume Shoe!~, Purple 
EV40S9 .040 Lg. Vol. Shock Spring, Black 
EV4060 .045 Lg. Vol. Shock Spring, Purple 
EV4061 .050 lg. Vol. Shock Spring, Yellow 
EV4062 .055 Lg. Vol. Shock Spring, Green 
EV4063 lg. Vol. Shock Spring Set ( 1 ea.} 
EV4071 Large Volume Shock Extension Kit 

s 
s 

S,A 
s 

All 
O,R,J,E,V,A 
O,R,J.E,V,A 
O,R,),E,V,A 
O,R,J,E,V,.A 
O,R,J,E,V,A 
O,R,),E,V,A 
O,R,),E,V,A 
O,R,), E,V,A 
O,R,), E,V,A 
O_,R_,j,E,V,A 
O,R,),E,V,A 
O,R,J,E,V.A 
O,R.,j,E,V,A 
O,R,j,E,V,A 
O,R,J.E,V,A 
O,R.,J,E, V,A 
O,R,J,E,V,A 
O,R,),E,V,A 

O,R 
O,R 
O,R 
O,R 
O,R 
O,R 
O,R 
O,R 
O,R 
O,R 
O,R 
O,R 
O,R 

E 

Differential & Rear Axle Parts 
EV0077 
EV0078 
EV0079 
EV0080 
EV0080P 
EV0081 
EV0082 
EV0092 
EV0093 
EVOilO 
EVOI20 
EVOI21 
EVOI22 
EV0133 
EV0138 
EV0141 
EV4008 
EV4009 
EV4012 
EV4021 
EV40SO 
EV40Sl 
EV4090 
EV4091 
EV4092 
EV4093 
EV6010 
EV6011 
MM2000 
RE1023 
R£1024 
RE1034 
RE1035 
RE1090 

On-Road Hollow Graphite Axle 
On-Road Aluminum Dill Hub 
On-Road Aluminum Left Hub 
Thrust Cone 
Purple Alum. Thrust Cone 
Belleville Washer 
Nylon Axle Shim Set 
Dill Balls 
Dill Rings 
Sili<one Dill Lube 
Left Side Purple Clamp Hub (.750•} 
SS Purple Alum. Dill Hub 
On-Road Purple Alum. Dill Hub 
On-Road Solid Graphite Axle 
Diff Pinning Kit 
Dill Rebuild Kit 
SS Aluminum Dill Hub 
SS Aluminum Left Hub 
SS Hollow Graphite Axle 
SS Solid Graphite Axle 
SS Lt. Wt. Alum. left Clamp Hub 
SS Lt. Wt. Alum. Hub Set 
Assoc. IOL Lt. Wt. On-Road Dill Hub 
Assoc. 1 OL On-Road Left Clamp Hub 
Assoc. I OLSO Lt. Wt. Speedway Diff Hub 
Assoc. IOLSO Lt. Wt. Left Clamp Hub 
EVl 0 LSD Solid Graphite Rear Axle 
EVI 0 LSD Alum. Diff Side Hub 
1/4" 1.0 . Thin Axle Shims 
1/1 2 Alum. O;H Hub 
1/1 2 Alum. left Side Hub 
I /1 2 Purple Alum. Left Clamp Hub 
1/ 12 Purple Alum. Dill Side Hub 
Assoc. 12lS Clamping left Hub 

R,E,A 
R,E,A 
RJ,A 

O,R,J,E,V,A 
O,R,J,E, V,A 

All 
ALL 
ALL 
ALL 
ALL 

R,E,A 
O,E.A 
R,E,A 
R.E.A 

O,R,J,E,V,A 
O,R,J, E,V,A 

O,S,E,A 
O,S,E,A 
O,J,E,A 
O,J,E,A 
O,E,A 
O,E,A 
R,E,A 
R,E,A 
O,E,A 
O,E,A 

E 
E 

O,R,J,E. V,A 
J,V,A 
J,V,A 
J,V,A 
J,V,A 
J,V,A 

2 S4.99 
1 S6.99 
2 S1 .99 
1 s 1.69 

4 S1.99 
1 S17.99 
I S7.99 
1 S8.99 
2 B .49 
4 S0.99 
2 S3.49 
4 S2.99 
2 S8.99 
2 S9.99 
2 S9.99 
4 s 1.49 
2 S2.00 
2 S2.00 
2 S2.00 
2 S2.00 
4 s 1.29 
1 S6.99 
I S19.99 
1 S3.59 
I $25.99 
1 S7.99 
I S9.99 
2 $2.99 
1 S4.99 
1 S5.99 
1 S24.99 
1 s 1.59 
1 s 1.59 
1 s 1.59 
I S 1.59 
1 S4.99 
1 Sl3.99 

1 S29.99 
I Sl4.99 
1 S9.99 
I S 1.99 
1 s 1.99 
4 S1.99 

l set S2.69 
12 S2.99 
2 s 1.69 
1 S2.50 
1 S25.99 
1 S23.99 
I S25.99 
1 S22.00 
1 S5.99 
1 S5.99 
I SI0.99 
I S9.99 
I S29.99 
I S22.99 
1 S29.99 
1 S49.99 
1 S25.99 
I S25.99 
1 S23.99 
1 S29.99 
1 S23.99 
1 s 13.99 
10 Sl.99 
1 S6.99 
1 S6.99 
1 Sl4.99 
1 S15.99 
1 S19.99 

39 



SBS085 0.050" Alum. Rear Axle Spacer O,R,f,E,V,A 2 S1.59 street Spec Racing Tires 
SB5086 0.1 00" Alum. Rear Axle Spacer O,R.I,E,V,A 2 Sl.59 SS2000 Spec Blue Front Tires, as in kit O,R,S,E,A 2 $10.99 
SB5087 0.150" Alum. Rear Axle Spacer O,R,),E,V,A 2 S1.59 S$2001 Spec Green Rear Tires, as in kit O,R,S,E,A 2 s 11.49 
SB980B 1/ 12, 1 /1 OSS Solid Composite Axle O,J,E,V,A 1 S19.99 SS2100 Spec Green Front Tires O,R,S,E,A 2 $10.99 
SG095 95 Tooth Zero Friction Spur Gear O,R,f,E,V,A 1 $3.99 SS2101 Spec Orange Front Tires O,R,S,E,A 2 $10.99 
SG100 100 Tooth Zero Friction Spur Gear O,R,I,E, V,A 1 S3.99 SS2102 Spec Blue Rear Tires O,R,S,E,A 2 $11 .49 
SG120 120 Tooth Zero Friction Spur Gear O,R,S,E,A 1 B .99 SS2233 Spec Touring Green Rear Tires O,R,S,E,A 2 s 11.49 
SG128 128 Tooth Zero Friction Spur Gear O,R,E,A 1 S3.99 552234 Spec Touring Blue Rear Tires O,R,S,E,A 2 $11.49 
SS2013 Nylon Left Hub s 1 S4.29 552235 Spec Touring Green Front Tires O,R,S,E,A 2 $10.99 
SS2014 Thrust Bearing Set s 1 $2.59 S$2236 Spec Touring Blue Front Tires O,R,S,E,A 2 S10.99 
SS2016 Steel Rear Axle O,E,S 1 S7.99 SS2237 Spec Touring Orange Front Tires O,R,S,E,A 2 $10.99 

screws & Hardware Switch Blade 10 Hop Up Parts 
01052 4·40 x 3/ 8' Cap Screws, Purple ALL 12 $4.99 EV0033P Purple Alum. Micro Shock Body 1 $8.99 
01053 4-40 x 3/8 ' Flat Head Screw, Purple ALL 12 $4.99 EV0038P Purple Alum. Shock Shaft Cap 2 $9.99 
01054 8-32 x 7/8" Flat Head Screw, Purple O,R,E 6 $2.99 EV0041 Micro Shock Spring 5 lb. 2 $2.00 
01055 4-40 x 1/4 " Cap Head Screw; Purple O,R,J,E,V,A 12 $4.99 EV0042 Micro Shock Spring 11 lb. 2 $2.00 
EV0028 4-40 Ball Studs, Long ALl 4 $5.99 EV0043 Micro Shock Spring 15 lb. 2 $2.00 
EV0028P 4-40 Purple Ball Studs, Long ALl 4 S5.99 EV0044 Micro Shock Spring 23 lb. 2 S2.00 
EV0029 4-40 Locknuts All 4 $0.99 EV0054 Silicone 1/8" 0-ring 4 $1.29 
EV0047 4-40 Ball Stud All 4 $3.99 EV0068P 1/4" Aluminum Pivot Ball, Purple 2 $3.99 
EV0047P 4-40 Ball Stud, Purple ALl 4 $4.99 EV0069P O.B95" Purple Aluminum Standoff 2 $4.99 
EV0047P25 4-40 Ball Stud, Purple · Bulk ALL 25 $24.99 EV0073P l /8" Thick Aluminum Spacer, Purple 2 $1.59 
EV0048 4-40 Mini locknut All 8 $2.99 EV0076P Aluminum Control Link Ball, Purple 4 $7.50 
EV0049 B-32 x 7/8" Flat Head Screw All 4 $2.29 EV0077 On-Road Hollow Graphite Axle 1 $29.99 
EV0050 8-32 Nylon Locknut S,E,V,A 4 $1.49 EVOOSOP Purple Alum. Thrust Cone 1 $1 .99 

EV0088P On-Road Purple Steering Turnbuckles 2 $6.99 EV0058 1/8" Steel Washers All 4 $0.99 
EV0099 Progressive Frt. Spring Orange, 4·61b 2 S2.00 EV00$9 E Clips (0.125") All 12 $1.49 
EVOlOO Progressive Frt. Spring Blue, 6·81b 2 $2.00 EV0064 4-40 x 3/8" Steel Flat Head Screw All 8 $1.49 
EV010 1 Progressive Frt. Spring White, 8·1 Olb 2 $2.00 

EV0065 4-40 x 3/8" Steel Cap Head Screw All 8 $1.49 EV0102 Progressive Frt. Spring Red, 1 0-121b 2 $2.00 
EV0074 4-40 x 1/2' Steel Flat Head Screw AlL 8 $ 1.49 EV0103 Progressive Frt. Spring Green, 12·141b 2 S2.00 EV0087 4·40 x 1/8" Set Screws ALL 8 $ 1.29 EV010 4 Progressive Frt. Spring Se~ 2 ea. size 1 $8.00 
EV0089 4-40 x l / 2" Steel Cap Head Screw All 5 $ 1.49 EV0108 More Clearance Pod Plates, Purple 1 pr $29.99 
EV0136P Extension Purple Ball Studs, Short O,R,E,A 4 $6.99 EV0120 Left Side Purple Clamp Hub (.750") 1 $25.99 
EV0137P Extension Purple Ball Studs, Long O,R,E,A 4 $7.99 EV0121 SS Purple Alum. Diff Hub 1 $23.99 
EV0142 EVl 0, EV1 OSS Purple Alum. Screw Kit E 1 $19.99 EV0 122 On-Road Purple Alum. Oiff Hub 1 $25.99 
EV0143 4-40 Mini locknut, Purple O,R,),E,V.A 8 $3.50 EV0123 Micro Shock Spring Set, 3 ea. 1 $5.99 
EV0150 2 -56xl /4 Purple Button Head Screws O,R,J,E,V,A 12 $5.99 EV0125 Constant Rate frt. Spring Purple, 141b 2 S2.00 
EV0151 8·32 x 5/8" Flat Head Screw, Purple O,R,J,V,A 12 $4.99 EV0 126 Constant Rate Frt. Spring Slack, 161b 2 S2.00 
EV0152 4-40 x 1/2" Purple Cap Screws O,R,I,E, V.A 12 $5.99 EV0 127 Constant Rate frt. Spring Green, 121b 2 S2.00 
EV0153 4·40 x 1/2" Flat Head Screw, Purple O,R,I,E, V,A 12 $4.99 EV0128 Constant Rate Frt. Spring Red, 1 Olb 2 S2.00 
EV0 154 4-40 x 3/4' Cap Screw, Purple I,V,A 12 $4.99 EV0129 Constant Rate Frt. Spring White, Sib 2 $2.00 
EV1002 1 0-32 Set Screws s 2 $0.99 EV0130 Constant Rate Frt. Spring Blue, 6lb 2 $2.00 
EV6012 6 ·32 Nylon locknut O,R,J,E, V 4 $1.99 EVOHI Constant Rate Frt. Spring Orange, 41b 2 $2.00 
RC4027 Brass Motor Shims (0.01 0") O,R,),E, V,A 10 S1.99 EV0132 Constant Rate Frt. Spring Set, 2 ea. 1 $11 .25 
RE1028-1 2-56 x 1/4' flat Head Screws v 10 S1.99 EV0145 Complete Micro Shock, Purple 1 $19.99 
RE104 1 2·56 Ball for Damper Tube I,V 1 $ 1.99 EVOISOP 1. 1• Purple Alum. Standoff 1 $1.99 
REI 042 4-40 x l / 2' Set Screw O,R,I, V 1 $0.99 EV4012 SS Hollow Graphite Axle 1 S29.99 
RE1044 4-40 x 1/4 ' Flat Head Screws, Purple O,R,J,E,V.A 12 $4.99 EV4017P SS Purple Alum. Steering Turnbuckles 2 $6.99 
RE1054 4·40 x 1" Steel flathead Screw s 2 $0.99 EV4030·3P large Volume Purple Shock Body 1 $9.99 

EV4030·8P large Vol. Purple Shock Shaft End Cap 1 $5.99 RE7742 4-40 x 3/4" Steel Cap Head Screw J,V,A 4 S1.99 
EV4050 SS Lt. WL Purple left Clamp Hub 1 $29.99 SB5034 4-40 x 1/4 " Steel Flat Head Screws O,R,J,E,V,A B $0.99 
EV4051 SS Lt. Wt. Purple Alum. Hub Set 1 S49.99 SB$041 4·40/ 5·40 Black Nylon lock Nut O,R,I,E,V,A 6 $1.59 
EV4054 8·32 Alum. Nuts, Purple 8 S3.99 S65075 SSl 0 On-Road Purple Screw Kit R 1 S19.99 EV4058 Complete large Volume Shock, Purple 1 $24.99 

SB5076 SBI OS$ Speedway Purple Screw Kit 0 1 $1 9.99 EV4059 .040 Lg. Vol. Shock Spring, Black I $1.59 
S85078 SB12sj Purple Screw Kit I 1 $19.99 EV4060 .045 Lg. Vol. Shock Spring, Purple 1 $1.59 
SS1051 5-40 Steel locknuts s 8 $1.49 EV4061 .050 Lg . Vol. Shock Spring, Yellow 1 $1 .59 
SS2009 5-40 Flat Nuts s 2 $0.99 EV4062 .055 Lg . Vol. Shock Spring, Green 1 $1.59 
SS2020 5-40 x 3/8" Steel Cap Screw s 4 $0.99 EV4063 Lg. Vol. Shock Spring Set (I ea.) 1 $4.99 

RC6053 Purple Alum. Adj. Servo Mounts 2 Sl0.99 
Ball Bearings & Bushings RC61 11 Joel lohnson Transponder Mount 1 S3.75 
EV0055 3!16' x 5/16' Flanged Bearing E 2 $12.00 REI 014L Lightweight Alum. T·bar Pivot Balls 2 $2.99 
EV0056 1/4" x 3/8" Unflanged Bearing ALl 1 $7.50 S85020L Lower Susp. Arms (low roll-center) lpr $3.99 
EV0057 1/4' x 3/8" Flanged Bearing ALL 2 $14.00 SB5031 On-center Steering Block lpr $2.50 

SB5032 On-center Front Axle {3/16" dia.) 2 $7.00 EV0140 EV1 0 On-Road Bearing Set E 1 $52.99 
SB5075 SSI 0 On-Road Purple Screw Kit 1 $19.99 EV4011 1/8" x 5/16" f langed Bearing All 2 $1 4 .00 
S65076 SBI OSS Speedway Purple Screw Kit 1 $19.99 EV4023 EV1 OS$ Bearing Set E 1 $52.99 S85077 SB Purple Alum. lower Susp. Arms lpr $31.99 REI070 Revolver Ball Bearing Set v 1 S52.99 S85080 Alum. Frt. Upper Arm Mounts (0 deg.) 2 s 17.99 

SB5100 SBlO Ball Bearing Set R 1 $58.99 585081 Alum. frt. Upper Arm Mounts (I 0 deg.) 2 $17.99 
SB5101 SBlOSS Ball Bearing Set 0 1 $58.99 SB5085 0.050" Alum. Rear Axle Spacer 2 Sl .59 
SB5102 SB12sj Ball Bearing Set I 1 $58.99 SB$086 0. 1 00" Alum. Rear Axle Spacer 2 Sl.$9 
S$2008 1/8" x 5/ 16" Flanged Bushing ALL 4 s 1.99 S65087 0.150" Alum. Rear Axle Spacer 2 S1.59 
S$2015 1/4" x 3/8" Bushing ALL 2 $2.99 SB5221 SBl OSS T·bar (0.074" 45 deg. Bias Cut) 1 $9.49 
SS2021 Complete Bearing Set for Street Spec s 1 S47.99 SB5230 SBl OSS Spring Steel Wide T-bar (firm) 1 $21.99 

SB5231 SBl OSS Spring Steel Narrow T-bar (soft) 1 $21.99 
SB5307 Graphite Super Speedway Bumper 1 $17.99 

40 



Pointbl::,.,k is the product line designed for racers by racers. Only 
Pointblank provides only the highest quality R/C racing products at 
the most affordable prices. Pointblank is available through your local 
RIC hobby shop and race track. 

STOCK MOTORS 

P-360 

P-370 

P-440 

P-395 

P-396 

Vampyre Stock Motor ' S40.00 
17T 1~ dtgree ROAR legal. Si1Wr compound RC•••• l>t1nM< ond h«>vy 
'""'""' Block T«h ~ moror spoog~ Block £pK Bo~ 
Vampyre Stock Motor, Reverse ' S40.00 
Somt os obovt' but reo.WSI! rotation. 

Vampyre Pro Dyno Tuned 2% Stock Motor ' $40.00 
Dyno rv~ and rweoked version of the Vompyre Stock motor. Only !he 
top 196 of rhe morors tested get the full dyno treatment. EJ<cellenr for 
twggy rocing, high torque. 

FlashPoint Stock, 27T, 24 degree ROAR legal ' S40.00 
ZlT z• df'9ree ROAR lf'9ol, S1/ver compotJnd RC•H• brosh<s and heavy 
ttnsion Block Tech foydown motor springs. Silvtr Epic 8o>td. 

FlashPoint Reverse Stock, 27T, 24 degree ' $40.00 
Some os obove but reverse rotothm. 

KINWALD POINTBLANK HAND WOUND 
MODIFIED MOTORS 
These Pointblank modified motors use the Epic Gray Team Kinwald 
motor set-ups with epoxy balanced hand wound armatures. 5.2v 
Wet magnets, ball bearings, adjustable timing. 
P-638 10 turn quad 
P-639 12 turn triple 
P-640 1 3 turn triple 
P-641 15 turn double 

' $85.00 
· s85.oo 
· s85.oo 
' S85.oo 

SPEC MODIFIED MOTORS 
P-191 Speed Spec Modified Motor •S75.00 

Mod1fitd <loss •spec• motor. 19 rvm modilitd motor wtth togged 
om1oturt lor tasy tech ldentiflcotlon. The perfect cion for drl ... m who 
wont mott speed then modifitd but do not wont to rr.m scock. A popular 
clau or King, On· Trox, Mushroom Bowl etc. 

P-192 Speed Spec Replacement Armature 19T '$49.99 

POINTBLANK PRO MODIFIED MOTORS 
Off-road modified motors. Epic black motor set-up. 5.2v Wet 
magnets, dual ball bearings, adjustable timing. 
P-441 10 Turn Triple Pro Modified 
P-442 11 Turn Triple Pro Modified 
P-443 12 Turn Double Pro Modified 
P-444 13 Turn Triple Pro Modified 
P-445 14 Tum Double Pro Modified 
P-446 15 Tum Triple Pro Modified 

IMPACT MODIFIED MOTORS 

'$95.00 
' S95.00 
'S95.00 
'S95.00 
' S95.00 
'S95.00 

The Impact modilled features a special machined motor can or iron 
that is thicker behind the magnets to help contain the magnetic 
field. These run great on super speedways. Impact modified motors 
are available with any of the winds used in the Dirtinator 2 and 3 
modified motors. When you ask your hobby shop to order one for 
you, be sure to specify the wind. Impact motor orders take 5 to 7 
days to process. 
P1000 Impact Super Modified (choice of wind) ·s 129.99 

RARE EARTH MAGNET EPOXY BALANCED 
HIGH PERFORMANCE DRAG MOTORS 
P-660 
P-551 
P-662 
P-663 

Rare Earth 8 Turn 
Rare Earth 9 Turn 
Rare Earth 10 Turn 
Rare Earth 11 Turn 

' $229.00 
' $229.00 
' $229.00 
'$229.00 

POINT BLANK MACHINE WOUND MODIFIED$ 
P-414 14 Turn Quad Machine Wound Modified •$41 .99 

POINT BLANK MOTOR ACCESSORIES 
P-649 
P-650 
P-651 
P-652 
P-205 

P-210 

Pointblank Kinwald Motor Setup, gray 
Pointblank Kinwald Endbell, gray style 
Pointblank Kinwald Motor Can, gray style 
Pointblank Kinwald Timing Ring w/ screws 
Motor Capacitors, 6 pes 

'$55.00 
'S25.99 
'$34.99 

' S2.49 
'$3.99 

PointBlank Motor Spray ' $5.99 
Ntw sptay thor& Juper Jltong lor ckoning alfl from your stock and 
modlfrtd mor~ but sole enough to use on most pl<nbc>. Greotlor 
deonitrg our old shod: oil ond deoning WI olf susper>lic>t> <"""""""''~ 
Supff big 10 ounct coni 

41 



BATTERIES 

P-536 6 Cell 1400 Power Pack Sport Pack ' S24.99 
P-537 6 Cell RC-2000 Power Pack Sport Pack • "$75.00 
P-538 6 Cell RC-1700 Power Pack Sport Pack • 'S49.99 
P-447 Matched & Assembled Sanyo RC-2000 -• '$85.99 

Marchtd by Tnmry and oswnbltd by Epic 1M rht mghtSI grade 
O>Jtmbltd Sonya RC·ZOOO pod<~ con buy Htgh copoc•lY. Tomiyo style 
conntcrors. 10 Amp diJchorg~, Stidctttd ctiiJ. 

P-820 High Voltage Sanyo RC-2000 Matched Pack -•'$94.99 
380·387 ltc., 1.1 S·I.I6V@ ZO amp1. Special VIS f)(. TRA procentd cells 
pidccd lor high voltage aurpur lor srock class racing. 

P-81 0 Same as above but 4 cells -• ' S72.99 
P-448 Matched & Assembled Sanyo RC-1700 •'$69.99 

Marched by Trin•ry and osstmbltd by Epic lor rh< hightllgrodt 
ommblcd Sonya RC-1 700 pod< you con buy High copocrry. Tomiyo 11)'1e 
conntetors. zo Amp dilChorgo, st/cktrtd ctlls. 

42 

Trinity Products Inc. assumes no responsibility for any typographic 
errors that may appear. 

Trinity Products Inc. assumes no liability for the use or misuse of any 
of the items listed in this guide. 

The Following Are Trademarks Of Trinity Products Inc. 
TrinitY. Magic Motor Sports, Speedworks. speedCems, Speed 

cems 2, Monster. Monster Horsepower. Team Klnwald, 
Pointblank. Slotworks, Midnight, Midnight 2. Mldnlte, Ex­
Tech, VIS EX· TRA. Brian Klnwald. ream Klnwald, Joel Magic 
Johnson, David spashett, Chris Bing, Matt Francis. Mark 

Francis, Kirby Hand, Switch Blade, Evolution. Revolver. Magic 
carpet Ride. Reactive caster. Epoxy Balanced. X Star. Cold 
Dust, Dlrtlnator. D2, D3, Topaz. Rubv. Sapphire. onyx, Dia­
mond, opal, Quartz, Platinum. T· Tech, Magic, Zip Pak. Amp 

Max, Thunder Spore. street Spec, EX-Spec. S·Spec. Jade, 
sport-Tech, Race-Tech. world Tech 

N6 AL tvjCOJQ.DY 6 NOTb.I:?OOI( 
charging Vis ex-tra packs 

CHARGING: 
SANYO: RC-2000 These cells withstand abuse well, but 
care is still advised for longest life. We suggest charging at 
4 to 5 amps. This is a good compromise between 
performance and life. Charging lower will yield longer cell 
and pack life. Charging at higher rates will reduce ov~all 
cell life but may sometimes improve pack voltage. We do 
not recommend charging RC-2000's at more than 8 
amps. 
SANYO: RC-1700 These cells withstand abuse much 
better than most other R/C type cells, but care is still 
advised for longest life. We suggest charging at 5 amps. 
This is a good compromise between performance and life. 
Charging lower will produce longer cell life. Charging at a 
higher rate will reduce cell life but may improve pack 
voltage. We do not recommend charging RC-1 700's at 
more than 10 amps. 
There are many good chargers on the market and a few 
that are not so good. We recommend a peak detection 
type charger for best performance. We do not recom­
mend timer type chargers because they do not provide a 
reliable point for charge termination. You may end up 
with an over or under charged pack with this type of 
charger. Competition Electronics, Novak and Tekin all 
make good reliable units. 
If you can afford it, buy a charger with a discharge 
function built into it. It makes life much easier. We use 
Competition Electronics Turbo Flex chargers here at the 
factory and many of our factory team drivers use their 
products as well. Be sure to use a stable power source to 
power your charger. A car battery may not be good 
enough. Check your charger's instructions. 

DISCHARGING: 
This depends on how you use your packs. If you regularly 
drive your car or truck until it has slowed significantly or 
stops, you may not need to do anything further. If you do 
not run your pack out or if you still have a lot of energy 
left in your pack after a qualifying or main run, you must 
extract the remaining power from the pack before you 
recharge it. Many devices will work for this purpose .. If 
your charger has a discharge function use that. We prefer 
a twenty to thirty amp discharge rate. Discharge the pack 
to 0.90 volts per cell at 20 to 25 amps and 0.85 volts per 
cell at 27 to 30 amps. After discharging the pack dis· 
charge each individual cell. You may use your pack 
discharger if you can adjust the cutoff voltage to a lower 
value. We set our Turbo Flex cutoff voltage to 0.10 volt 
when we are discharging individual cells. You may also use 
a discharge tray such as our RC-5900 or RC-5009 for this 
purpose. We recommend them highly. When you can get 
the voltage across each individual cell(while it is under a 
load) to under 0.5 volt the pack is pretty well discharged. 



SPORT-TECH MATCHED, UNASSEMBLED 
375-383 sec., 1.13-1.14V@Z0amp 
Charge Rate: 6 .0A Voltage Cutoff: .90V 
EXS204 4 Cell 20 Amp Sport-Tech $49.99 
EXS206 6 Cell 20 Amp-Sport-Tech $73.99 

.... , 
RACE·TECH MATCHEII,UNASSEMBLED 

~ 

sec., 1.13-:?-:14V@ ZO amp 
-305-315 sec., 1.10-1 .12V@ 25 amP. -Charge Rate: 5.0A Voltage Cutoff: .90V 

EXR204 4 Cell 25 Amp Race-Tech $56.99 
EXR206 6 Cell 25 Amp Race-Tech $89.99 

WORLD-TECH MATCHED, UNASSEMBLED 
395-405 sec., 1.134.14V@"ZO amp 
260-267 sec., 1 .08-1.09V 0 30 amp 
Cbarge Rate: 4.0A VOffii"g Cutoff: .85V ... 
EXW204 4 Cell 30 Amp Wor1d~b $65.99 - - ¢" ' = .. EXW206 6 Cell 30 Amp World-Tech S98.99 

SPORT TECH ASSEMBLED MATCHED STICKS 
EXS200A 6 Cell Slick Pack 20 Amp Sport-Tech $85.99 

VIS EX·TRA MATCHED, UNASSEMBLED 
sec., 1.1 5-171-'7 @ZOomp 

260-267 sec., 1.1 D-1.'1'2\r~30 amp 
Charge Rate: 6 .0A Voltage C~toft~85V .... 

,_ Vl52004 4 Cell 30 Amp VIS EX-lRA S81 .99 
VIS2006 6 Cell 30 Amp VIS EX-TRA S124.00 

VIS EX·TRA TEAM ASSEMBLED BATTERY PACKS 
VIS2008 6 Cell Side by Side, (Off-road B~ies/Oval) $139.99 
VIS2009 6 Cell Saddle; (Oif.'road, XX-4_LStreet Weapon) Sl 




	Trintiy-Catalog-97-98 1
	Trintiy-Catalog-97-98002
	Trintiy-Catalog-97-98041
	Trintiy-Catalog-97-98042
	Trintiy-Catalog-97-98037
	Trintiy-Catalog-97-98038
	Trintiy-Catalog-97-98033
	Trintiy-Catalog-97-98034
	Trintiy-Catalog-97-98029
	Trintiy-Catalog-97-98030
	Trintiy-Catalog-97-98025
	Trintiy-Catalog-97-98026
	Trintiy-Catalog-97-98021
	Trintiy-Catalog-97-98022
	Trintiy-Catalog-97-98017
	Trintiy-Catalog-97-98018
	Trintiy-Catalog-97-98013
	Trintiy-Catalog-97-98014
	Trintiy-Catalog-97-98009
	Trintiy-Catalog-97-98010
	Trintiy-Catalog-97-98005
	Trintiy-Catalog-97-98006
	Trintiy-Catalog-97-98008
	Trintiy-Catalog-97-98007
	Trintiy-Catalog-97-98011
	Trintiy-Catalog-97-98012
	Trintiy-Catalog-97-98015
	Trintiy-Catalog-97-98016
	Trintiy-Catalog-97-98019
	Trintiy-Catalog-97-98020
	Trintiy-Catalog-97-98023
	Trintiy-Catalog-97-98024
	Trintiy-Catalog-97-98027
	Trintiy-Catalog-97-98028
	Trintiy-Catalog-97-98031
	Trintiy-Catalog-97-98032
	Trintiy-Catalog-97-98035
	Trintiy-Catalog-97-98036
	Trintiy-Catalog-97-98039
	Trintiy-Catalog-97-98040
	Trintiy-Catalog-97-98044
	Trintiy-Catalog-97-98043
	Trintiy-Catalog-97-98003
	Trintiy-Catalog-97-98004

